%’\M

SSUNNYTOOLS PRECISION

MmEEBRLE

EXCELLENT CNC TOOL SUPPLIER
KENDERWERAMHIES

W FLINTIIR | 8835870 | $8704F | D& | FTJ



NEDERHEAHRES

DWW IFLINTIIE | $380%87] | 88704 | JD& | Z7]

J@E=SESEE www.ssunnytools.com X

Jiangsu Shuangyang Machinery Technology Co., Ltd. is a professional CNC tool manufacturer, mainly
serving the 3C industry wholesale and OEM business. The products include tool holder type
BT/ISO/CAT/DAT/HSK/SK/NT and discard type milling/turning holder, face mill cutter, high-speed drill,
etc. The main advantages of the tool holder are: balanced collet chuck type, balanced milling chuck
type, shrink fit holder, Hydraulic Tool Holders & Chucks, Tapping Holders, oil-feed tool holders, at the
same time can be customized according to your requirements, excellent quality and fast delivery.

Jiangsu Shuangyang Machinery Technology Co., Ltd. is a state-level high-tech enterprise and a CNC
tool manufacturer integrating science, industry and trade. Shuangyang Machinery Park is located in
Sihong County, Jiangsu Province. The park covers an area of more than 200 acres and the standard
factory building area is more than 50,000 square meters. The company has a complete production
process workshop, which integrates a full range of production process including forging, finishing,
heat treatment, dynamic balance, etc. Independent manufacturing assembly line production, the
company integrates the development, production and sales of CNC tools, and also concurrently
operates mold hardware cutting tools and cutting technology services.

Over the years, the company has invested a large amount of money, continuously updated various
production and inspection equipment, and at the same time established a strong R&D and innovation
team, with advanced design and production technology, first-class production and inspection
equipment, and strict production quality management system to ensure zero defects in products
;Standardized warehouse workshop, adequate inventory;To maximize the user friends to provide
quality shuangyang products.Shuangyang company has been adhering to the "jing Shang Xin Cheng"
business philosophy, with the vision of win-win cooperation, common development, carefully better
achieve perfect service.

IAE‘ ﬁl‘- fl\ Company Profile

IHBANMEHRBRABDR—REWIEERTDEEFT R, TERSFT3CTI
Rt RIS, F=RBETIHRZEBT/ISO/CAT/DAT/HSK/SK/NTREFNEIIFF. T
2., REHE  EBMBTINE  FEREERN. FEARDEN. KEFXX. BETD
2. A4E. RE. N HBSFSETEREERIN  BNTRELZEREH , mR
HFEZER,

IHXANHRBRABRERESH ALY , B—RER. T. BA—HFH
HEDAZE B, WENMELETIAHENHE  BXSMETFR00RE | fnE
BEKERSARFES | 20RETENEFELREER , ERE. BINI. B
B, $IFEFeRIBERERKEES  ATEHETDENMREA. £ HE—K,
RRFREEELS T 2B RIEIRARS.

RASFREERAKRERE  FEMSHEF RTINS , ANEISRARIAA
BUFETEIBA | LUBHRIRITREFRAR | —RIEFRREMEE  MENEFRESEER
&, RIEFROERE  WEXRICHEER  RENET | &XRENE KBFAR
REMEAINET . WARE—EFE "REER" NEEES, LEFER. HE
ERNESR , BUOBEFRIMEIZERS.




YAPO Eﬁ Table of Contents

A Tool Holder/ Indexable Insert Drills/Tungsten Carbide End Mills

A 7]/ i 85/55 5 5t 7]

BT-MC 5& /1 2 8 7] i

Milling Chucks

b

BT-FMA EEE T4 (EH# L )

Face Mill Holder BT-FMA (Inch Size)

A08

A01

BT-MTB =X #t 71 4%

Morse Taper Holder BT-MTB

BT-SK/GER &iE&t 7I4/

High Speed GER Collet Chuck BT-SK/GER

SK-C 3271 714%

Hi-Power Milling Chucks SK-C

A21

SK-SKA/M #t 774

Tool Holder SK-SKA/M

A24

HSK(A)-ER £t 7148

High Speed Tool Holders HSK(A)-GER

BT-C 52 hEEK TR

Milling Chucks Set

BT-SLA il Bl X &t 71 4

Side Lock Holder BT-SLA

A09

BT-APU =88 =X # 5z 58

Drill Chuck Holder BT-APU

A12

BT-SK/GSKF i# 14

High Speed GER Collet Chuck BT-SK/GSK

A17

SK-FMB/A Tt 714

Face Mill Holder SK-FMB/A

A21

BT-MFT $HZFXX 714

Screwed End Mill Holders BT-MFT

BT-GMCHi#5& 1 T14H

Hi-speed Milling Chucks

A02

BT-SSLABRIEIEI St T4

Side Lock Holder BT-SSL (Slim Type)

BT-GER =&t 714

High Speed GER Collet Chuck BT-GER

A13

ISO/NBT-SK #f 71##

Tool Holder ISO/NBT-SK

.
A18 ’

SK-ER#t 7148

Collet Chuck SK-ER

§

A22

HSK(A)/C Eféjzt32 HE TIHF

Milling Chucks HSK(A)/C

HSK(A)-SLA {8l El = 714

Side Lock Holder HSK(A)-SLA

HSK(A)/SLA 4i%

Side Lock Holder HSK(A)-SSL (Slim Type)

- n‘;l
"
A29 '

BT-ER #£ 714/

Collet Chuck BT-ER

BT-FMB @8 714% ( 2 & )

Face Mill Holder BT-FMB (Metric Size)
A"
AO4 A06

BT-OSLit % 71 4%

Oil-feed Holder BT-OSL

BT-MTA & X #5E 714R

Morse Taper Holder BT-MTA

~ . v
¥
A10 Al1
BT-UER Bt 7145 ISONBT-GER Bt /IiH

High Speed UER Collet Chuck BT-UER High Speed GER Collet Chuck ISO/NBT-GER

o z
LS, v (A7
Wy B,

Al14 A15

BT-SRC #4714 (15248 ) ST-SRC #4774 (AB4HEL )

Shrink Fit Holder BT-SRC (Standard Type) Shrink Fit Holder ST-SRC (Slim Type)

A19 A20

SK-SLA {8l & 714

Side Lock Holder SK-SLA

SK-APU Z8&=(i3ER

Drill Chuck Holder SK -APU

A23 A23

HSK(A)-ER #t 7145

Collet Chuck HSK(A)-ER

HSK(A?—FMB E#t T) 4

Face Mill Holder HSK(A)-FMB

A25

HSK(AYAPU—Bizt 338

Drill Chuck Holder HSK(A)-APU

HSK/SRC sk T4 ( 1RHER! )

Shrink Fit Holder HSK-SRC (Standard Type)

A Tool Holder/ Indexable Insert Drills
A T4/ E

HSK/SRC #445 717 ( 4RR=EY )
Type)

Shrink Fit Holder HSK-SRC (Slim

HSK/MTA R K& HEE {3

Morse Taper Holder HSK-MTA

SD#E 7 RIEHTA(3ER) BT-BSB90° #88#7L714F
Indexable Drill 3x Diameter Rough Boring Holder BT-BSB 90°
& .
O\

%
\
W
A35 : A37
BST #H4# 7115 TWN % 7] 882 7L 7]

Rough Boring Holder

Square Boring with Double Cutter TWN

A41 A41

NBH2084 5% 82 7L 48

Micro-Boring Tool Set NBH2084

NBH2084 15 % 58

Micro-Boring Head NBH2084

A43 Ad4 h

NT-MTA =z #558 T14%

Morse Taper Holder NT-MTA

&
A47

CAT-SM E#ETIHE

Shell Mill Holder CAT-SM

A49 A50 g

NT-SLA Al E X8t 714

Side Lock Holder NT-SLA

A46

CAT-EM MIE=7I4R

End Mill Holder CAT-EM

hrET i F
Pull Stud Wrench
A55 A55

HSK(A)-ER #t 7148

Tool Holders HSK-GSK

A32

BT-BSA45° #8714

Rough Boring Holder BT-BSA 45°

A38

EWN {8 1582 58

Micro-Boring Head EWN

'@ "
Ty

A42

NT-C 38 /1 71 4%

Milling Chucks NT-C

Ad4

NT-APU =g #7c58

Drill Chuck Holder NT-APU

A47

BT-TA Hlzt#&

Test Bar BT-TA

A52

SEH

Edge Finder

A56 =i

SD#EFFRIESEEA (25 R)

Indexable Drill 2x Diameter

N

A33 ~

BSB # 7 X #EFL 71

Square Boring Bar BSB

A39

NBJ 16fAE 7L R4t

Micro-Boring Tool

.
LI
4 -

A42

NT-ER #t71#%

Collet Chuck NT-ER

BT-TSA #ikE

Taper Sleeves

A47

ER &Mk

ER Collet

SD#EFF PRI (415 R)

Indexable Drill 4x Diameter

A

N\

N\,
B
Ry
\\
A34 ‘
BT-LBK§% T4/

Boring Tool Holder

i

A40

NBH #8£¥ J14%

Rough Boring Holder NBH

A43

NT-FMB BT T4 (A il i)

Face Mill Holder NT-FMB(Metric Sizes)

A45

CAT-ER 857J4%

Collet Chuck CAT-ER

A48

ER #2185

ER Nuts

LD-BT/DAT/CAT $K71FE

Tool Holder Locking Device BT/DAT/CAT/HSK

A56

E#ERE

Spindle Cleaner

A56



YAPO E% Table of Contents

B Indexable Milling Cutter Bar/ Face Mill Cutter

B &7t / T1&

MFT $538 35 5F T #F

Tungsten Boring Carbide Bars

BO1

TJUM S5k 71 4F
Drilling Milling Cutter Bar

P,
Fr Rt

o & “e;, X
¥

B0O3

AHUB B f— /5 % 2t 7] 48

Right Angle Shoulder Face Mill Cutter

%
BO5

KM-45° Tt 7148

Face Milling Cutter

BO8 Q

APC EREVHE S T2

Tubular Coarse-textured Gear Face Mill Cutter

B10 a

ASJ-4P iEE T

Drilling Milling Cutter Bar

EMRW [ & 37 8 71 #F
Rounded Milling Cutter Bar

~=

T2139 Bk AEHE TI#F

Indexable Ball Mose Micro-Milling Cutter Bar

B20

ATS Bl 8 T4

Indexable ATS T-Slot Milling Cutter Bar

B22 I

B16

EMRM-R [B] 7] 51 $ J1#F

Indexable Rounded Milling Cutter Bar

B02 e

T2139M B! 58t TI4F

indexable Ball Nose Milling Cutter Bar

'h\'}" af
N,
B3 ‘\?i}‘

BAP Eﬁagsﬁﬁﬂﬂ&

Right Angle Shoulder Face Mill Cutter

¥

B06

RAP-75° HE#t7142

Face Milling Cutter

B0O9 '

BAP B & /5 #t 74T

Right Angle Shoulder Milling Cutter Bar

ASR RIE 4 37 8t TTHF

Hi-Feedrate Milling Cutter Bar

B14

UEX ERERBHIIT

Indexable Right Angle Shoulder Milling Cutter Bar

TP EBIHTIHF
Shoulder Micro Milling Cutter Bar

B20

SPM E K 37 # 71 4F

Roughing Cut Corn Milling Cutter Bar

\\\Q
B22

TRSM-R B 7] 57 #t 71 #F

Indexable Rounded Milling cutter bar

s
B02 "h

AJX IRIE 4TI 4R

Hi-Feedrate Face Mill Cutter

B04 l

EMR [ S m#t 7] 42

Rounded Face Mill Cutter

B06 %

FM9O0° #7148
Face Milling Cutter

B09 !

AHU HERZER# T+

Right Angle Shoulder Milling Cutter Bar

TJU &8 T4

Drilling Milling Cutter Bar

B;\

R200 [B & 37 # 71 4#F

Rounded Milling Cutter Bar

B17 I

SD-45° R5MeEI R TIHF

SD-45 Degree Chamfer Milling Cutter Bar

B21 '

BAPM B fZE/E 7 714

Indexable Right Angle Shoulder Milling Cutter Bar

TN

B0O2 ~d

TXP RELA ST 48

Hi-Feedrate Face Mill Cutter

B0O4

EMRW/R200 [6 5 [t 71 42
Rounded Face Mill Face Mill Cutter

B07

R390 H 3 /5 H it 71 82

Right Angle Shoulder Face Mill Cutter
4""' -
e ,"tv

B09

T217.69 HFAZEBE#H 1T

Right Angle Shoulder Milling Cutter Bar

312\

EMR [E £ 37 8 714F

Rounded Milling Cutter Bar

B15 I

TRS [E & 3 # TT4F

Rounded Milling Cutter Bar

B18 I

45° #HRAER/T

45 Degree Chamfer Milling Cutter Bar

Bz\

AHUM B fZ2/8 37 8t 14T

Indexable Right Angle Shoulder Milling Cutter Bar
. =
=]
BO3

SKS R4 8 7] 42

Hi-Feedrate Face Mill Cutter

BO5

TRS E 2 mE# )4

Rounded Face Mill Face Mill Cutter

B08

TP EfREREMT 2

Right Angle Shoulder Face Mill Cutter

B10

AJX R 4R 3T 8T
Hi-Feedrate Milling Cutter Bar

B13
R390 HEfEFHEH T4

Right Angle Shoulder Micro-Milling Cutter Bar

B16

BCF/BCFL Bk 3z #t 71 4F
Indexable Ball Mose Milling Cutter Bar

B19 !

45° EALEIRTI
45 Degree Chamfer Milling Cutter Bar

External Turning Holder
C sB=E7

MCLNR/L MCBNR/L MCKNR/L MCFNR/L MCGNR/L

-

o

A

co1 Cco2 Co Co3

MCSNR/L MCMNN MCMNN-40 MDJNR/L MDPNN

.

Co3 co4 Co05 Co05

MDQNR/L MSBNR/L MSDNN MSKNR/L MSSNR/L
Cco6 co6 co7 co7 Cco8

MTBNR/L MTENN MTJINR/L MTFNR/L MTUNR/L
co8 cos C09 = Co C10 ’

MTGNR/L MTQNR/L MVJNRL MVQNR/L MVUNR/L

C11
MVVNN MWLNR/L WCKNR/L WCMNN WCLNR/L

|
'

C12 C13 C13

WCBNR/L WCMNN-40 WTJNR/L WTQNR/L WTENN

C15

C14 C14 C14



YAPO Eﬁ Table of Contents

External Turning Holder Internal Turning Holder
MCKNR/L MCWNR/L MCLNR/L MDQNR/L MDLNR/L
WWLNR/L SCACR/L SCFCR/L SCBCR/L SCKCR/L

Q
) |

-

c32 c32 c33 c33 c34 \
c16 c16 c17 c17
MDUNR/L MDWNR/L MDZNR/L MSKNR/L MSSNR/L
SCLCR/L SCMCN SCMCN-40 SDFCRI/L SDACR/L
' c34 c35 c35 c36 c36
c18 c18 c19 c19 C20
MTENR/L MTQNR/L MTJNR/L MTUNR/L MTWNR/L
SDJCR/L SDPCN SDQCRI/L SRACR/L SRDCN
‘ c37 a c37 c38 c38
C20 Cc21 c22 c23
MVQNR/L MVUNRIL MVWNR/L MVXNR/L MWLNR/L
SRGCR/L STACR/L STECR/L STFCR/L STGCR/L
’ C39 ! C39 E c40 C40 c40
c24 Co4 c25 c25 c26
SCK.RIL SCKCR/L-P SCL - R/L SCLCR/L-H SCLCR/L-P
STJCRIL STUCR/L STUCR/L SSBCRI/L SSDCN
C41 C41 C42 C43 C43
C26 co7 ca7 c28 c2s8
SCFCRI/L SCZCRI/L SCZCR/L-P SDLCR/L SDLCR/L-P
SSKCRI/L SSSCR/L SVJ - RIL svQ - R/L SVU - R/L
(c-s e I ‘.
C44 C44 C45 C45
C29 C29 C30 C30 C31
SDQCR/L SDQCR/L-P SDUCRI/L SDUCR/L-P SDWCRI/L
SVV-N
’ "’ ’ >
c46 | c47 C47 c48 c48

C31



YAPO E_ﬁ Table of Contents

Internal Turning Holder Threading Turning Holder/Grooving Holder
C maL=7 Cog=En/#7n
SDWCR/L-P SDZCR/L SDZCR/L-P SDXCRI/L SDXCR/L-P SER/L SER/L-G CER/L SIR/L SIR/L-P

A |
A

-

[ ]
C49 C49 C50 C50 C51 C65 C65 - C66 C66 c67
SSK - R/L SSKCR/L-P SSS - R/L SSSCR/L-P STF - RIL SIR/L-S CIR/L MTR/L MTR/L..-G QE - DR/L
C51 C52 c52 C53 : C54 C68 I C68 G C70 c71 l
STFCR/L-P STFPR/L STFPR/L-P STUCRI/L STUCR/L-P QzQ Q- DRIL QF-D- -RR- - QF-D- -RL- - QF-D- -LR- -
C55 C56 C56 "1 C57 C72 4 C72 C73 C74 C73 ’
STUPR/L STUPR/L-P STWCR/L STWCR/L.-P svaQ - RIL QlF oo ollLe © ©IF = D=L MGEHR/L MGEVRIL MGIVR/L
-
c57 c58 c59 c59 c76 I c77 Cr c79 C79 !
SVU - RIL aVZ - RIL SVW - RIL SVX - RIL SWLCRIL MGFHRR MGFHRL MGFHLR MGFHLL MGFVR/L
‘ ’ csi c82 l
Cc60 ce1 ce1 c62 cil
SNGR/L KTGR/L GT - R/L
SWUBRIL SCLCR/L-S SDUCR/L-S STFCRIL-S Llgia s Sl
g ! c83 c85 ’
o c63 Co4 c83 c84 c84
GT - R/L-L JB Jz HRE-HIA BEE-TRK
CNC Lather Reducer -Straight shank CNC Lather Reducer -Morse type
c86 , c89 cs €90 C90




BT-MC 32 h B 7188 masa03BT
Milling Chuck  BT-MC

M 3 d D L1 DRAW BAR FIG
A001-001 -MC20-80 20 53 80
BT30 M12X1.75P

A001-002 -MC25-90 25 58
A001-003 -MC20-90 20 53 90 !
A001-004 -MC25-90 25 58
A001-005 BT40 -MC32-105 105 M16X2.0P 1/1
A001-006 -MC32-135 32 73 135 |
A001-007 -MC32-150 150
A001-007-1 -MC20-95 20 53 95 I/1
A001-007-2 -MC25-95 25 58 95 1
A001-008 -MC32-110 110
A001-009 -MC32-135 135
A001-010 BT50 ~MC32-150 32 73 150 1/n
A001-011 -MC32-165 165 M24X3.0P
A001-012 -MC32-200 200
A001-013 -MC42-110 110
A001-014 -MC42-135 135

42 88 I
A001-015 —MC42-150 150
A001-016 -MC42-165 165

%38 F M IT M Wrench need to order
#JEFRERTITH Non-standard parts can be ordered

BT-C B hERTIWA

Milling Chuck Set BT-C

F i # # J & Standard Set package o
Seritzl il et LT pullstud  SEMETEEEEL E Collets R F Spanner Packing
A001-017 -C20-80 4,6,8,10,12,16 C20

BT30 BT30-45°
A001-018 -C25-80 4,6,8,10,12,16,20 c25 sEAR
A001-019 BT40 -C32-105 BT40-45° 6,8,10,12,16,20,25 Aluminum Box /
C32 Wooden Box
A001-020 -C32-110 6,8,10,12,16,20,25
BT50 BT50-45°
A001-021 -C42-110 6,8,10,12,16,20,25,32 C42

MEEGSIRFE. [T, §3Fk Standard Set package include collets spanner and pull stud.

\Zo
B Ao1



PO
B Aoz

YAPO n/’/'ﬁ Tool Holder

BT-GMC Si#E3E N T
Hi-speed Milling Chucks

% 5l iR &t
Multi-row
needle roller

B Thick wall

% SR ST R 1S B N S SRR
RMRET SEEETES,

Multi-row needle rollers can obtain more
uniform elastic deformation, thereby
ensuring high precision and clamping force

T REME

Closely fitting

i A ) B4R 0 £ R EE,
RaE T REFH &K R
XNREESE,

Applicable hook-type Wrench
plus full grinding guarantees a
good balance and economical

FERFINFRERPEEZENE, KKK Thetight fit of the shell and the body during clamping
IR TABEREIME, ENEAEYIEl, greatly enhances the rigidity of the body and is more
suitable for heavy cutting.

fE A& [ L BN IR T,

RIERBH SRS,

The use of a two-phase stop
wrench makes operation
imple and safe.

gggég};gizo AETAEH, Optional fgll-grinding housing.can be used fo
heavy cutting and good dynamic balance.

gggf%ﬁi?ﬁﬁ’ 1w The unique narrow slot and seal design make the

tool holder beneficial to the center water outlet.

XXX
XX
K

d
D

XXX
2
XXX,
X
X%
9% %%

.,‘
X

RS
%%

o
RLRK

d0%
%

X
02
o
o?

q

J B

J &

d o

- R

oS —
SO s
R TRKS

2%
X

X

s
X

KX

N 11
Se%EI nffber %‘_f d D L1 DRAW BAR FIG
A001-031 GMC12-80 12 40 80
A001-032 BT30 GMC16-80 16 45 80 iz
A001-033 GMC20-80 20 50 80
A001-034 GMC25-80 25 55 80
A001-035 GMC12-90 12 40 90
A001-036 GMC16-90 16 45 90
A001-037 BT40 GMC20-90 20 50 90 M16
A001-038 GMC25-90 25 55 90
A001-039 GMC32-105 32 72.5 105
A001-040 GMC32-150 32 72.5 150 "
A001-041 GMC32-110 32 72.5 110 !
A001-042 GMC32-150 32 72.5 150
A001-043 GMC32-200 32 72.5 200
A001-044 GMC32-250 32 72.5 250
A001-045 BT50 GMC32-300 32 72.5 300 M24
A001-046 GMC42-110 42 82 110
A001-047 GMC42-150 42 82 150
A001-048 GMC42-200 42 82 200
A001-049 GMC42-250 42 82 250
A001-050 GMC42-300 42 82 300




YAPO n/’/'ﬁ Tool Holder

BT-ER #t7]1# wmasa03BT BT-ER $%7]1# mas403BT

Collet Chuck BT-ER Collet Chuck BT-ER
7
7 d3
d3 =
[ 1r 5
I 1r - (\l[
W Ek e
\ A
\ .
7
11
.
L
L
#wO9R B 5 11 d1 e 5 5 [E]d 2 18 A2 e ds
Serial number Cat.No Clamping range Applied nut
WOSR B 5 11 di e Ed2 i 418 ds A002-036 -ER16M-70 70
Serial b Cat.N: i i
erial number at.No Clamping range Applied nut A002-037 _ER16M-100 100
22 0.5—10 ER16M 22
A002-001 —ER11A-60 60 A002-038 -ER16M-150 150
19 0.5—0.7 ER11A 19
A002-002 -ER11A-100 100 A002-038-1 —ER16M-200 200
A002-003 —ER16A-60 60 A002-039 -ER20M-70 70
A002-004 -ER16A-100 100 28 0.5-10 ER16A 28 A002-040 -ER20M-100 100
28 1-13 ER20M 28
A002-005 -ER16A-150 150 A002-041 -ER20M-150 150
A002-006 —ER20A-60 60 A002-041-1 -ER20M-200 200
A002-007 -ER20A-100 100 34 1-13 ER20A 34 A002-042 BT40 -ER25UM-70 70
A002-008 —ER20A-150 150 A002-043 -ER25UM-100 100 42 2-16 ER25UM 42
A002-009 -ER11M-60 60 A002-044 -ER25UM-150 150
16 0.5-0.7 ER11M 16
A002-010 —~ER11M-100 100 A002-045 -ER32UM-70 70
A002-011 -ER16M-60 60 A002-046 -ER32UM-100 100 50 3-22.2 ER32UM 50
A002-012 BT30 -ER16M-100 100 22 0.5-10 ER16M 22 A002-047 -ER32UM-150 150
A002-013 —ER16M-150 150 A002-048 ~-ER40UM-70 70
A002-014 ~ER20M-60 60 A002-049 -ER40UM-100 100 63 4-26 ER40UM 60
A002-015 -ER20M-100 100 28 1-13 ER20M 28 A002-050 -ER40UM-150 150
A002-016 ~ER20M-150 150 A002-051 -ER16A-100 100
A002-017 —-ER25UM-60 60 A002-052 -ER16A-150 150 28 0.5—10 ER16A 28
A002-018 ~ER25UM-100 100 42 2-16 ER25UM 42 A002-052-1 -ER16A-200 200
A002-019 —~ER25UM-150 150 A002-053 -ER20A-100 100 2
A002-020 -ER32UM-60 60 A002-054 ~-ER20A-150 150
34 1-13 ER20A
A002-021 _ER32UM-100 100 50 3-22.2 ER32UM 42 A002-055 -ER20A-200 200 #HE34-40
A002-022 ~ER32UM-150 150 A002-055-1 ~ER20A-250 250 Taper Shank
A002-023 —~ER40UM-70 70 63 4-26 ER40UM 45 A002-056 -ER25UM-100 100
42
A002-024 —ER11A-70 70 A002-057 -ER25UM-150 150
A002-025 —~ER11A-100 100 19 0.5-7.0 ER11A 19 A002-058 ~ER25UM-200 200 42 2-16 ER25UM
42-55
A002-026 —ER11A-150 150 A002-059 BT50 -ER25UM-250 250 %ﬁ,smk
5
A002-027 -ER16A-70 70 A002-060 -ER25UM-300 300
A002-028 —-ER16A-100 100 A002-061 -ER32UM-100 100
28 0.5-10 ER16A 28 50
A002-029 -ER16A-150 150 A002-062 -ER32UM-150 150
A002-029-1 —~ER16A-200 200 A002-063 -ER32UM-200 200 50 3-22.2 ER32UM
A002-030 —-ER20A-70 70 A002-064 -ER32UM-250 250 %Eéﬁso—eo
BT40 aper Shank
A002-031 —~ER20A-100 100 A002-065 -ER32UM-300 300
34 1-13 ER20A 34
A002-032 —ER20A-150 150 A002-066 -ER40UM-100 100
A002-032-1 ~ER20A-200 200 A002-067 -ER40UM-150 150
A002-033 —ER11M-70 70 A002-068 -ER40UM-200 200 63 4-26 ER40UM 63
A002-034 -ER11M-100 100 16 0.5-7 ER11M 16 A002-069 —-ER40UM-250 250
A002-035 —ER11M-150 150 A002-070 -ER40UM-300 300
%4 F 1T M Wrench need to order XEWEMEIWF  Standard fitting contains spanner
#JEFRMATITH Non-standard parts can be ordered #dEFREFIITH Non-standard parts can be ordered
PO PO

A04 A05



PO
A06

YAPO n/’/'ﬁ Tool Holder

BT-FMB W&t ( 2 Hl#he )
Face Mill Holder BT-FMB (Metric Size)

MAS 403 BT

BT-FMB W&t ( 2 Hl# e )
Face Mill Holder BT-FMB (Metric Size)

MAS 403 BT

B Lkt K1
;| —l ‘ d1 7
n 7/ AR
ey
B e
Kz I
11 12 11 12 K2
! !
L L 4-M16 20F
(4-M12175P)
Fig T Fig I
Serial number Cat.No I L2 D d1 K1 K2 Flg
A003-001 —FMB16-45 45
18 38 16 4.8 8
A003-002 —-FMB16-60 60
A003-003 —-FMB22-45 45
BT30 18 48 22 4.8 10
A003-004 —FMB22-60 60
A003-005 —-FMB27-45 45
20 60 27 5.8 12
A003-006 —FMB27-60 60
A003-007 —-FMB16-45 45
A003-008 —FMB16-60 60
A003-009 —FMB16-100 100 38 16 8
A003-010 —FMB16-150 150
A003-011 —FMB16-200 200
A003-012 -FMB22-45 45
A003-013 —-FMB22-60 60
18 4.8
A003-014 -FMB22-90 90
A003-015 —FMB22-100 100
A003-016 BT40 ~FMB22-150 150 48 22 10
A003-017 —FMB22-200 200
A003-018 ~FMB22-250 250
A003-019 —FMB22-300 300 :
A003-020 -FMB27-45 45
A003-021 —FMB27-60 60
20 60 27 5.8 12
A003-022 —~FMB27-100 100
A003-023 —FMB27-150 150
A003-024 -FMB32-60 60 22 78 32 6.8 14
A003-025 —-FMB40-60 60 25 89 40 8.3 16
A003-026 —FMB16-45 45
A003-027 —FMB16-60 60
A003-028 —-FMB16-75 75
A003-029 —FMB16-100 100
®38 22 8
A003-030 —FMB16-150 150
A003-031 —-FMB16-200 200
A003-032 BT50 —FMB16-250 250 18 4.8
A003-033 ~FMB16-300 300
A003-034 —FMB22-45 45
AHE D48
A003-035 ~FMB22-60 60 Slim Shank
A003-036 _FMB22-75 75 7 $60-P62 22 10
Thick Shank
A003-037 -FMB22-100 100 AR P48-b62
A003-038 _FMB22-150 150 Taper shank

Bkt K1
7Y R /
o %/ IR
2
- °{ 0 ﬁ A
K2 W
11 12 il 12 K2
I !
L L 4-M16 20F
(4-M12175P)
Fig T Fig I
WO LU )
Serial number Cat.No 11 L2 D d1 K1 K2 Fi g
A003-039 -FMB22-200 200 A 48
Slim Shank
A003-040 -FMB22-250 250 i $60-d62
A003-041 —~FMB22-300 300 Thick Shank
HEHH D48-p62
A003-042 -FMB22-350 350 Taper Shank
A003-043 -FMB22-400 400 18 22 4.8 10
A003-044 -FMB22-450 450 #4H b 60-d 62
500 Thick Shank
A003-045 -FMB22-500 AT DA 62
A003-046 -FMB22-550 550 Taper Shank
A003-047 -FMB22-600 600
A003-048 -FMB27-60 60
A003-049 -FMB27-100 100
A003-050 -FMB27-150 150
A003-051 —FMB27-200 200 60
I
A003-052 -FMB27-250 250 20 27 5.8 12
A003-053 —-FMB27-300 300
A003-054 -FMB27-350 350
A003-055 BT50 —-FMB27-400 400 E 4560
Straight Shank
A003-056 —-FMB27-450 450 S AEE0-78
A003-057 -FMB27-500 500 Taper Shank
A003-058 -FMB32-60 60
A003-059 -FMB32-100 100
A003-060 -FMB32-150 150
22 78 32 6.8 14
A003-061 -FMB32-200 200
A003-062 -FMB32-250 250
A003-063 -FMB32-300 300
A003-064 -FMB40-60 60
A003-065 -FMB40-100 100
A003-066 -FMB40-150 150
25 89 40 8.3 16
A003-067 -FMB40-60 60
A003-068 -FMB40-100 100
A003-069 -FMB40-150 150
A003-070 -FMB60-75 75 |
A003-071 -FMB60-100 100
30 128.57 60 10 25.4
A003-072 -FMB60-150 150
A003-073 -FMB60-200 200
#AEFRMATITHl  Non-standard parts can be ordered

PO
A07



YAPO n/’/'ﬁ Tool Holder

BT-SLA fIE X871 mass03BT

. . Side Lock Holder BT-SLA
BT-FMA ME#H7IM ( ZEFIFHE ) masaossT ide Lock Holder

Face Mill Holder BT-FMA (Inch Size)

A
D K1 K1
1) 1" 4
i 7/
ey
] Y
K2 1 pra -
= A g
| 1 12 | I 12 Q»/ Serial number Cat.No d d2 I 12 13 T
L _
- (:—l\')lﬂ112612$§P) A004-001 _SLA6-60 6 25 12 10 M6X1.0P
Fig 1 Fig Il A004-002 -SLA8-60 8 28 14 12 M8X1.25P
A004-003 —SLA10-60 10 35 60 15 14 M10X1.5P
A004-004 —SLA12-60 12 42 20 16 M12X1.75P
e e Sl 11 L2 D d1 K+ K2 Fig A004-005 -SLA16-75 16 48 75 22 18 M12X1.75P
A004-006 BT40 —SLA20-75 20 52 25 20
A0S0 BT30 SRMACS S £ A004-007 —-SLA25-90 25 65 30 22
A003-075 —FMA25.4-60 60 A004-008 —-SLA32-90 32 72 90 30 22 M16X2.0P
2003076 SRMASSH=4S 25 A004-009 —SLA40-100 40 90 35 25
N _ _ 20 48 25.4 4.52 9.525
A003-077 FMA25.4-60 60 A004-010 _SLA42-100 42 90 100 35 25
A003-078 ~-FMA25.4-100 100
A004-011 —SLA6-90 6 25 12 10 M6X1.0P
A003-079 -FMA25.4-150 150
BT40 A 4200 A004-012 ~SLA8-90 8 28 14 12 M8X1.25P
A003-080 - 4- 200
A004-013 —SLA10-90 10 35 90 15 14 M10X1.5P
A003-081 -FMA31.75-60 60
2003082 EyypE—— ppos 22 78 31.75 6.7 12.70 A004—014 _SLA12_90 2 e % s
- A004-015 —-SLA16-90
A003-083 -FMA38.1-60 60 25 89 38.1 8.87 15.875 48
A004-016 —SLA16-150 150 M12X1.75P
A003-084 -FMA25.4-60 60 16 09 18
A004-017 -SLA16-200
A003-085 ~FMA25.4-100 100 1 $#4H28-48 200
e TR = T A004-018 -SLA16-250 Taper Shank 250
. Slim Shank
003087 VA5 4-200 200 A004-019 —SLA20-90 o 90
20 | #EPIS-62) 254 4.52 9.525 A004-020 —SLA20-150
A003-088 -FMA25.4-250 250 Thick Shank 20 150 25 20
$HE 60 A004-021 —SLA20-200
A003-089 -FMA25.4-300 300 Taper Shank #4%§32-50 200
A003-089-1 _FMA25.4-350 350 A004-022 -SLA20-250 Taper Shank 250
A003-089-2 ~FMA25.4-400 400 A004-023 ~SLA25-105 60 105
A003-090 BT50 ~FMA31.75-60 60 A004-024 ~SLA25-150 150
A003-091 —-FMA31.75-100 100 22 78 31.75 6.7 12.70 A004-025 —-SLA25-200 200
A003-092 ~-FMA31.75-150 150 A004-026 —SLA25-250 25 250
A003-093 -FMA38.1-60 60 25 89 38.1 8.87 15.875 A004-027 -SLA25-300 #4%540-60 300
Taper Shank
A003-094 -FMA50.8-60 60 36 98 50.8 19.05 A004-028 -SLA25-350 ' 350
— — 3 _ 7 A004-029 -SLA25-400 400
A003-095 FMA47.625-75 5 BT50 30 v M16X2.0P
A003-096 -FMA47.625-100 100 9.75 A004-030 -SLA32-105 105
30 128.57 47.625 25.4 | 63
A003-097 -FMA47.625-150 150 A004-031 —SLA32-150 150
A003-098 ~FMA47.625-200 200 A004-032 —-SLA32-200 200
*AE4RHEAITH  Non-standard parts can be ordered A004-033 —SLA32-250 32 250
A004-034 —SLA32-300 $#17%48-63 300
Taper Shank
A004-035 -SLA32-350 350
A004-036 —SLA32-400 400
A004-037 -SLA40-105 105
40
A004-038 —SLA40-150 150
78/90
A004-039 —SLA42-105 105
42
A004-040 -SLA42-150 150 35 25
A004-041 —SLA50-120 120
50
A004-042 ~SLA50-150 90/98 150 M20X2.0P
A004-043 —SLA50.8-120 50.8 120
PO % dEFREFTITH  Non-standard parts can be ordered PO

A08 A09



YAPO n/’/'ﬁ Tool Holder

BT-SSL #A#AIE X & 71K BT-MTA EK#EETIH mas 403BT

Side Lock Holder BT-SSL (Slim Type) Morse Taper Holder BT-MTA

/M %’T ol ©
A
i %
L -
B - J Fig I
- coolant groove p
W SR B SR ﬁé{ —
Serial number Cat.No @d D1 b2 L L1 L2 L3 L4 G ff % o| @
A004-044 -SSL 3-135 3 10 27.3 6 M3P0.5
6
A004-045 -SSL 4-135 4 11 28.2 7 M4P0.5 P
135 100 -— T .
A004-046 -SSL 6-135 6 13 30.0 12 13 — L
BT40
A004-047 -SSL 8-135 8 15 31.8 13.5 18
M6P0.75 Fig 1I
A004-048 -8SL10-150 10 17 36.3 20 19
150 115 15
A004-049 -SSL12-150 12 22 411 16 16 M8P0.75
S 3 & d2 di I f FAER Fig
A004-050 -SSL 6-150 30.7 150 104 Serial number Cat.No Applied Drill Bit
6 13 12 13
A004-051 200 895 200 154 A016-051 -MTA1-45 12.065 25 45 2.0-14.0
A004-052 -SSL 8-150 . s 32.5 150 104 155 1 - M6POL7S AO17-052 BT30 _MTA2-60 17.780 32 60 14.1-23.0 1
A004-053 -200 41.3 200 154 A018-053 _MTA3-80 23.825 40 80 23.1-32.0
A004-054 -8SL10-150 0 - 34.4 150 104 2 A019-054 _MTA1-45 12 065 o5 45 b0
A004-055 5750 -200 43.1 200 154 5 I GER R : . : : T
A004-056 -8SL12-150 " . 39.2 150 104 1 o P A021-056 MTAD_25 5 |
A004-057 -200 47.9 200 154 17.780 32 14.1-23.0
A022-057 -MTA2-120 120 I
BT40
1 ZEEERL ST, ENNHES EEE L0, A023-058 -MTA3-75 75 I
23.825 40 23.1-32.0
A024-059 -MTA3-135 135 I
A025-060 -MTA4-95 95 I
BT_OSL :m Eﬁ ﬁ 31.267 50 32.0-50.0
b J] A026-061 -MTA4-165 165 it
Oil-feed Holder BT-OSL A027-062 —MTA1-45 45 I
A028-063 -MTA1-120 12.065 25 120 2.0-14.0 it
A029-064 -MTA1-180 180 I
MAS,BT
A030-065 -MTA2-45 45 I
A031-066 -MTA2-135 17.780 32 135 14.1-23.0 I
A032-067 -MTA2-180 180 I
A033-068 -MTA3-45 45 I
BT50
A034-069 -MTA3-150 23.825 40 135 23.1-32.0 I
A035-070 ~-MTA3-180 180 I
A036-071 -MTA4-90 90 1
31.267 50 32.0-20.0
" A037-072 ~-MTA4-180 180 I
A038-073 -MTA5-105 1439 65 105 i
. 50.0-75.0
WO B 5 s 6B ® 12 & T A039-074 -MTA5-210 65 210 I
Serial number Cat.No
% JEFREATITH  Non-standard parts can be ordered
A004-058 BT40xOSL32-165 65 49.5 60
20
A004-059 BT50x0SL32-165 . 58 60 15 M16X2.0P
A004-060 BT50x0SL40-170 56 62 25
\ZIPO VA4

B A0 X A7



YAPO n/’/'ﬁ Tool Holder

BT-MTB KK 71# mas403BT BT-GER =&t 7]

Morse Taper Holder BT_MTB H|gh Speed GER C0||et Chuck BT‘GER
Morse slope 7 TETEIRRG Morse slope
% A EMT kARMETRN % ] p
/
o
Built-in screw <—>L " A
_ & o B g " di K#EEd2 AR da
F|g I Serial number Cat.No Clamping Range Applied nut
wooE B g : A016-051 -GER11-60 60
N d1 (6 L G DRAW BAR Fi 19 0.5-0.7 GER11 19
Serial number Cat.No g A016-052 _GER11-100 100
A006-001 -MTB1-45 12.065 25 45 M6 Mi2X1.75P 1 A016-053 -GER16-60 60
BT30 .
A006-002 -MTB2-60 17.780 32 60 M10 i A016-054 -GER16-100 100 28 0.5-10 GER16 28
A006-003 -MTB1-45 12.065 25 45 M6 A016-055 -GER16-150 150
A006-004 -MTB2-45 17.780 32 60 M10 1 A016-056 -GER20-60 60
BT40 M16X2.0P 34
A006-005 -MTB3-75 23.825 40 75 M12 A016-057 BT30 -GER20-100 100 34 1-13 GER20
A006-006 -MTB4-90 31.267 48 90 M16 ! A016-058 -GER20-150 150
A006-007 —-MTB1-45 45 A016-059 -GER25-60 60
A006-008 -MTB1-120 12.065 25 120 Mé A016-060 -GER25-100 100 42 2-16 GER25 42
A006-009 —-MTB1-180 180 A016-061 -GER25-150 150
A006-010 -MTB2-45 45 A016-062 -GER32-60 60
A006-011 -MTB2-135 17.780 32 135 M10 A016-063 -GER32-100 100 50 3-22.2 GER32 42
A006-012 -MTB2-180 180 A016-064 -GER32-150 150
I
A006-013 BT50 -MTB3-45 45 M24X3.0P A016-065 —~GER16-70 70
A006-014 -MTB3-75 75 A016-066 -GER16-100 100 28 0.5-10 GER16 28
23.825 40 M12
A006-015 —MTB3-150 150 A016-067 -GER16-150 150
A006-016 -MTB3-180 180 A016-068 -GER20-70 70
A006-017 -MTB4-75 75 A016-069 -GER20-100 100 34 1-18 GER20 34
31.267 50 M16
A006-018 —-MTB4-180 180 A016-070 BT40 -GER20-150 150
A006-019 —-MTB5-120 44.390 70 120 A016-071 -GER25-70 70
. M20 e
A006-020 -MTB5-210 210 A016-072 -GER25-100 100 42 2-16 GER25 42
iF: BT40-MTB4/BT50-MTB5H $TIEARAEER EM, MEAMITH A016-073 -GER25-150 150
- _ BT40-MTB4/BT50-MTBS5 the puller bolt is not standard fitting,must purchase alone A016-074 _GER32-70 =
BT-APU EEEIQ&E?ZEE Drill Chuck Holder BT-APU A016-075 _GER32-100 100 50 3-22.2 GER32 50
MAS 403 BT D A016-076 -GER32-150 150
r A016-077 -GER16-100 100
w& J % A016-078 ~GER16-150 150 22 0.5-10 GER16 22
| 3 A016-079 -GER16-200 200
% A016-080 -GER20-100 100
34
A016-081 -GER20-150 150
- 1 34 1-13 GER20
A016-082 -GER20-200 200
L #1m34-40
A016-083 -GER20-250 250
mﬁg. A016-084 -GER25-100 100
R B8R b E 42
Serial number Cat.No 1 ds Clamping range DRAW BAR A016-085 BT50 -GER25-150 150
A016-086 -GER25-200 200 42 2-16 GER25
A007-001 -APU8-80 80 37 0.5-8
BT30 M12X1.75P A016-087 -GER25-250 250 H#E42-55
A007-002 -APU13-110 110
50 1-13 A016-088 -GER25-300 300
A007-003 -APU13-110 110
BT40 M16X2.0P A016-089 -GER32-100 100
A007-004 -APU16-120 57 3-16 50
120 A016-090 -GER32-150 150
A007-005 -APU13-120
50 1-13 A016-091 -GER32-200 200 50 3-22.2 GER32
A007-006 -APU13-180 180
BT50 M24X3.0P A016-092 —~GER32-250 250 #AA50-60
A007-007 -APU16-130 130
57 3-16 A016-093 -GER32-300 300
A007-008 -APU16-190 190
%3 F MIT M Wrench need to order
HIFASFHE  Wrench need to order xIEAREFTITHl Non-standard parts can be ordered
PO PO

BS A2 BE A13



YAPO n/’/'ﬁ Tool Holder

BT-UER =%k 7] i ISO/NBT-GER ik 7]
High Speed Collet Chuck BT-UER b High Speed Collet Chuck ISO/NBT-GER

w9 B 5 11 d1 F #5358 Ed2 & F 21 d3 w9 LU 1 L d1 FeFrdEEld2 18 FA 42 1 d3
Serial number Cat.No Clamping Range Applied nut Serial number Cat.No Clamping range Applied nut
A016-035 —~UER11-60 60 A016-021 -GER16-60 60
D16 0.5-0.7 UER11 b 16 28 0.5-10 ER16M 28
A016-036 -UER11-100 100 A016-022 —-GER16-100 100
A016-037 -UER16-60 60 A016-023 -GER20-60 60
34 1-13 ER20M 34
A016-038 —~UER16-100 100 P22 0.5-10 UER16 P22 A016-024 NBT30 —GER20-100 100 131.8
BT30
A016-039 —~UER16-150 150 A016-025 -GER25-60 60
42 2-16 GER25M 42
A016-040 ~UER20-60 60 A016-026 -GER25-100 100
A016-041 -UER20-100 100 P28 1-13 UER20 P28 A016-027 -GER32-60 60 50 3-22.2 GER32M 42
A016-042 —UER20-150 150 A016-028 —ER16M-60 60 22 0.5-10 ER16M 22
A016-043 -UER16-70 70 A016-029 —-ER20M-60 60
1020/ 34 1-13 ER20M 34
A016-044 _UER16-100 100 22 0.5-10 UER16 22 A016-030 -ER20M-100 100
A016-045 -UER16-150 150 A016-031 1S025/ -GER16-60 60 22 0.5-10 ER16M 22
A016-046 8740 -UER16-200 200 A016-032 15030 -GER20-60 60 34 1-13 ER20M 34
A016-047 —~UER20-70 70 A016-033 -UER16-60 60 22 0.5-10 ER16M 22
A016-048 —~UER20-100 100 28 1-13 UER20 28 A016-034 -UER20-60 60 34 1-13 ER20M 34
A016-049 -UER20-150 150 ¥IRF/ARIME  Wrench need to order
7016-050 UER XGSKIZHEH) F#G2.5 20000RPM;FIIZE)F #G2.5 30000RPM/G2.5 40000RPM.
- —UER20-200 200 GSK Standard balance is G2.5 20000RPM ; selectable: G2.5 30000RPM/G2.5 40000RPM

%3 F M 1T MW Wrench need to order
#JEFRMEATITH Non-standard parts can be ordered

\ZIPO VA4
A14 & A15



YAPO nlliﬁ Tool Holder

— o Blow hole
ISO/NBT-SK &iEst7I# BT-SRC #7140 ( 45 ) SR gaa e min Cuting insert
High Speed Collet Chuck ISO/NBT-SK Shrink Fit Holder BT-SRC (Standard Type) Vlﬂ -
[ I I = ot 5
. i efﬂ 8
BT No. A :.,\U A
%

Max. Cutting insert Clamping Length
RRTNEM/ANEH
HSH - =
Blow hole &/NTIE |Min Cutting insert
ZHHRE_ |Clamping Length

=N

' oAols
t © ©
BT No. &\
- o L1
5 LU 11 L d1 e [Ed2 18 FA 4208 d3 L
Serial number Cat.No Clamping range Applied nut
A016-001 _SK6A-35 19.5 0.7-6.0 SK6-A 20.5
o, o B = =
A016-002 _SK10A-35 27.5 1.75-10 SK10-A 29 WOk LT d D D 1 L L EIDIAKGR BANABAR EE (ko) g
1S020 85.3 Serial number Cat.No Min Cutting Length  Max. Cutting Length Weight (kg)
A016-003 _GSK6-35 19.5 0.7-6.0 GSK6-A 20.5
016000 GSKi038 P PR CSKI0oA " A008-037 _SRC4-75%| 4 10 14.6 44 16 99 0.45 I
35
A016-005 _SK6A-35 19.5 0.7-6.0 SK6-A 20.5 A008-038 ~SRC6-75 6 4 9.0 06 _ 0.47 |
A016-006 _SK10A-35 27.5 1.75-10 SK10-A 29 ATOE-GES T30 =SCE=7E g e 230 75 . o 55
18025 957 A008-040 SRC10-75 10 22 27.0 32 62 0.56
A016-007 _GSK6-35 19.5 0.7-6.0 GSK6-A 20.5 - - : :
016008 oSKi038 . PR_— SSKIooA . A008-041 _SRC12-75 12 24 29.0 36 72 0.58 I
2016000 ToKOAB0 P 0760 SKoA 208 A008-042 _SRC16-75 16 28 33.0 48 38 80 0.62
016010 CoK10A60 P PR_—— SK10A P A008-043 _SRC4-90%| 4 10 15.5 52 16 125 1.05 1
AoT6-011 oo CoK1OM60 200 27516 Ko o A008-044 _SRC6-90 6 14 20.0 ’5 1.07
60 131.8
A016-012 _GSK6-60 19.5 0.7-6.0 GSK6 20.5 ATEB-01 =SRCE=60 S e B0 % _ 1, 12 .
AoT6013 GsKi060 P 7510 55K10 e A008-046 _SRC10-90 10 22 28.0 57 32 1.18
AoTo-012 eSK1660 200 27516 Gorie o A008-047 BT40 ~SRC12-90 12 24 30.0 36 1.20
AOT601 Tor06-60 e 0760 K08 205 A008-048 _SRC16-90 B ’s 34.0 e w0 1.25
A016-016 _SK10-60 27.5 1.75-10 SK10 29 ATEB5=-00 =168 L2l e e 1. G2 I
016017 NBT30 Cor16.60 60 131.8 200 P K16 1o A008-050 _SRC20- 90 0 u 40.0 90 57 v2 o0 1.35
A016-018 _GSK06-60 19.5 0.7-6.0 GSK06 20.5 ATE5-055] =168 LB e e 2 U3
2016019 “asKi060 P 17510 G5K10 s A008-052 _SRC4-105 ] . 205 105 61 3.7
A008-053 _165 26.0 165 116 3.9
26
#IRF/AERTHE  Wrench need to order A008-054 -SRC 8-105 . 18 24.5 105 61 3.8
KGSKIZHES) F#G2.5 20000RPM;F[EE) F#G2.5 30000RPM/G2.5 40000RPM. A008-055 165 30.0 165 116 4.0
A008-056 _SRC10-105 28.5 105 61 3.8
10 22 32
A008-057 _165 34.0 165 116 4.2
BT50 — I
A008-058 _SRC12-105 305 105 61 3.9
12 24 36
A008-059 _165 36.0 165 116 4.2
A008-060 _SRC16-105 34.5 105 61 3.9
16 28 38
A008-061 _165 40.0 165 116 4.3
A008-062 _SRC20-105 405 105 61 4.0
20 34 42
A008-063 _165 46.0 165 116 4.6

1HEERMBEAZEUANMBEESE TR,
HIERMFEEAMCSAZENSUANEEAE TR,
2HNKRIL, AHLAE,
Please use hard alloy cutting tools with handle
diameter tolerance H6

PO PO
B A3 & A19



ZPO
B A16

YAPO n/’/'ﬁ Tool Holder

BT-SK & #ESt J1# mas 403 8T
High Speed Collet Chuck BT-SK

BT- GSK SiESH JIW mas 403 BT
High Speed Collet Chuck BT-GSK

WO B 5 RFrEE 18 20
Serial number Cat.No d1 d2 Clamping range Applied nut DRAW BAR
A008-001 -SK6-60
19.5 20.5 0.7-6.0 SK6
A008-002 -SK6-90
BT30 M12X1.75P
A008-003 -SK10-60
27.5 29 1.75-10.0 SK10
A008-004 -SK10-90
A008-005 -SK6-60
19.5 20.5 0.7-6.0 SK6
A008-006 -SK6-90
A008-007 -SK10-60
27.5 29 1.75-10.0 SK10
A008-008 -SK10-90
BT40 M16X2.0P
A008-009 -SK16-60
40 41.9 2.75-16.0 SK16
A008-010 -SK16-90
A008-011 -SK20-60
48 51.3 4-20 SK20
A008-012 -SK20-90
A008-013 -SK10-105
A008-014 -SK10-135 27.5 29 1.75-10.0 SK10
A008-015 -SK10-165
A008-016 -SK16-105
A008-017 -SK16-135
40 41.9 2.75-16.0 SK16
A008-018 -SK16-165 M24X3.0P
A008-019 BT50 -SK16-200
A008-020 -SK20-105
A008-021 -SK20-135 48 51.3 4-20 SK20
A008-022 -SK20-165
A008-023 -SK25-105
A008-024 -SK25-135 55 57.2 8-25.4 SK25
A008-025 -SK25-165

-
L
W OSE B 5 T35 [ 18 e
Serial number Cat.No di d2 Clamping range Applied nut DRAW BAR
A008-026 —-GSK6-60
19.5 20.5 0.7-6.0 GSK6
A008-027 -GSK6-90
A008-028 -GSK10-60
BT30 27.5 29 1.75-10.0 GSK10 M12X1.75P
A008-029 -GSK10-90
A008-030 -GSK16-60
40 41.9 2.75-16.0 GSK16
A008-031 -GSK16-90
A008-032 -G SK6-60
19.5 20.5 0.7-6.0 GSK6
A008-033 -GSK6-90
A008-034 -GSK10-60
27.5 29 1.75-10.0 GSK10 M16X2.0P
A008-035 -GSK10-90
BT40
A008-036 -GSK16-60
40 41.9 2.75-16.0 GSK16
A008-038 -GSK16-90
A008-039 -G SK20-60
48 51.3 4-20 SK20
A008-040 -GSK20-90
A008-041 —-GSK10-105
A008-042 BT50 -GSK10-135 27.5 29 1.75-10.0 GSK10 M24X3.0P
A008-043 —-GSK10-165
A008-044 -GSK16-105
A008-045 -GSK16-135
40 41.9 2.75-16.0 GSK16
A008-046 -GSK16-165
A008-047 -GSK16-200
A008-048 -GSK20-105
A008-049 -GSK20-135
BT50 48 51.3 4-20 SK20 M24X3.0P
A008-050 -GSK20-165
A008-051 -GSK20-200
A008-052 -GSK25-105
A008-053 -GSK25-135
55 57.2 8-25.4 SK25
A008-054 -GSK25-165
A008-055 -GSK25-200

MIRFERETH  Wrench need to order

\Zo
B A17



YAPO n/’/'ﬁ Tool Holder

ST-SRC &7 (B ) SR E min Cutting insert SK-ER S ABISETIM Hi-rower Milling Chucks SK-C

. . . +EE -
Shrink Fit Holder ST-SRC (Slim Type) f Clamping Length DIN 69871
3 T 17 T =7 O
a
Qi ” | ):k_—_— © f ©
o
L1 A
L
H max. Cutting insert Clamping Length
BATEBANEH
£/NTIE | Emin Cutting insert
H3FRE_ | Clamping Length
=4 [ m— Y
| =R
&
SR B 5
L é» Serial number Cat.No d D L1 DRAW BAR
A009-001 SK40 —MC32-105 105 M16X2.0P
F/NTIR Emin Cutting insert 32 73
%#HFRE Clamping Length A009-002 _MC32-110
SK50
A009-003 —MC42-110 42 88 110
M24X3.0P
- A009-004 —~MC32-110 32 73
oi rr Tt 3 SK60
© - A009-005 —MC42-110 42 88 M30X3.5P
(3]
L1 HIWFAFFTHE  Wrench need to order
L
SK-FMB/A FE#t7I# Face Mill Holder SK-FMB/A
% % T g R Ly BIIERERBATEEAEEE (ko) g DIN 69871
Serial number Cat.No MinCuttinginLength - Max. Cutting Length ~ Weight (kg)
A008-064 —-SRC 4SS -1203% 4 7 51 16 - 0.10 1
ST12 12 120
A008-065 -SRC6SS - 120 6 9 32 26 52 0. 10 it
A008-066 —SRC 4SS-150-K403% 4 7 20 150 40 16 e 0. 25
1
A008-067 -SRC 6SS-150-K60 150 60 0.25
A008-068 -200 110 0. 30 I
200
A008-069 -200-K 60 6 9 20 60 26 - 0. 30 i1
A008-070 -250 110 0. 35 I
250
A008-071 -250-K 60 60 0. 40 i
A008-072 -SRC 8SS -150 150 0.25
A008-073 ST20 -200 8 11 20 200 90 26 - 0. 30 I
! y g
A008-074 250 250 0.40 B ] 3 & I I2 D d1 K1 Kz DRAW BAR
A008-075 -SRC 10SS-150 150 0.25
A010-001 = = 18 48 22 4.8 10
A008-076 -200 10 13 20 200 71 32 60 0. 35 (Al B
A010-002 - - 22 60 27 5.8 12 M16X2.0P
A008-077 -250 250 0. 40 SK40 FMB27-60 60
I A010-003 = - 20 78 32 6.8 14
A008-078 _SRC 1255-150 150 0.25 FMB32-60
A010-004 - - 18 48 22 4.8 10
A008-079 -200 12 15 20 200 52 36 70 0.35 FMB22-45
A010-005 -FMB27-45 45 20 60 27 5.8 12
A008-080 -250 250 0. 45 SK50 M24X3.0P
— A010-006 -FMB32-45 22 78 32 6.8 14
1R EABEAENGUANEESENE,
HAE MR EAMSAZNSU BTSSR, A010-007 -FMB40-50 50 25 89 40 8.3 16
2 B, DR
B, ARG, . A010-008 ~FMA25.4-45 45
Thereis a cold hole inside, cold in the center SK40 M16X2.0P
= - - 100
A010-009 FMA25.4-100 20 48 25.4 459 9.52
A010-0010 -FMA25.4-60 60
SK50 M24X3.0P
A010-0011 -FMA25.4-100 100
ZPO VA8

A20 A21



YAPO n/’/'ﬁ Tool Holder

SK-ER $t7J# collet Chuck SK-ER SK-SKA/M BB TIM side Lock Holder SK-SLA

DIN 69871 DIN 69871
DIN 6499 DIN 1835B

d2|
d3

L
5% B 5
Serialnur:ber Cat.No dl 2 L i 2 8 u
WO 5 Fe st Eld2 18 F 42108
Serial number Cat.No d1 Clamping range ds Applied nut DRAW BAR A012-001 -SLA16-63 16 48 24 M14X2.0P
63 -
A012-002 - -
A011-001 -ER16A-70 K40 SLA20-63 20 52 25 63.55
= _ _ 24 :
A011-002 ~ER16A-100 28 0.5-10 28 ER16A A012-003 SLfeox100 25 60 100 24 M16X2.0P
A012-004 - .
POTIE - SLA32-100 32 63 25 25
A012-005 - B
A011-004 _ER20A-70 SLA16-63 16 48 63 24 _ M14X2.0P
A012-006 - -
A011-005 —ER20A-100 34 1-13 34 ER20A SLA20-63 20 52 25
A012-007 = = 25 80 24
A011-006 ~ER20A-150 SK50 SEA25,80 60 2 97.5
A012-008 - - 25 M16X2.0P
A011-007 —ER16M-70 SLA32-100 32 63
A012-009 . . 40
A011-008 ~ER16M-100 22 0.5-10 22 ER16M SILAVI-10Y 90 100 30 32
A012-010 B . 42
A011-009 -ER16M-150 SLA42-100
SK40 M16X2.0P
A011-010 —~ER20M-70
A011-011 -ER20M-100 28 1-13 28 ER20M
A011-012 —~ER20M-150
=% A
_— = .
A011-013 —ER25UM-70 SK-APU =3 88 Drill Chuck Holder SK-APU
A011-014 -ER25UM-100 42 2-16 42 ER25UM DIN 69871
A011-015 —ER25UM-150
A011-016 -ER32UM-70 D
A011-017 -ER32UM-100 50 3-22.2 50 ER32UM N
A011-018 —ER32UM-150 /{M
A011-019 -ER16A-100 ’\
28 0.5-10 28 ER16A 5
A011-020 —~ER16A-120 ’/
A011-021 —-ER20A-100
34 1-13 34 ER20A g
A011-022 —ER20A-150 11
A011-023 —ER25UM-100
SK50 M24X3.0P L
A011-024 —-ER25UM-150 42 2-16 42 ER25UM
A011-025 -ER25UM-200 & W - R
= g -
A011-026 -ER32UM-100 Serial number Cat.No L L1 L2 D d1 d2 Clamping range
A011-027 -ER32UM-150 50 3-22.2 50 ER32UM
A013-001 SK40 -APU13-100 180 63.55
A011-028 —ER32UM-200 100 75 50 13 1-13
A013-002 -APU13-100 213.75
4 SK50 97.50
*IWFAESE  The spanner must purchase alone A013-003 _APU16-110 21875 110 80 57 16 1-16
#IRFESEE Wrenchneed to order
#dEFZAETH Non-standard parts can be ordered
\ZIPO ZPO

A22 A23



YAPO n/’/'ﬁ Tool Holder

HSK(A)/ER 8t71H# Collet Chuck HSK(A)-ER HSK(A)/ER $t7J# High Speed Tool Holders HSK(A)-GER

DIN 69893 DIN 69893
D
. DIN69893-A i ds
~ N
D rrr ﬂ
DIN69893-A d3 T
_ | ON| —
ol © A
F LU
Serial number Cat.No L I 12 D d1 d2 ds T
O B
Serial number Cat.No S i Iz v el e R U A019-036 -GER16-80 105 80 54
_ _ _ 28 16 28
A019-001 _ER16A-80 105 80 54 A019-037 GER16-100 125 100 74 M10X1.5P
A019-002 _ER16A-100 125 100 74 28 16 28 M10X1.5P A019-038 =CERIE=120 148 g2y %
A019-003 -ER16A-120 145 120 94 A019-039 -GER20-80 105 80 54
A019-004 _ER20A-80 105 30 54 A019-040 -GER20-100 125 100 74 34 20 34 M12X1.75P
A019-005 —ER20A-100 125 100 74 34 20 34 M12X1.75P A019-041 HSKB0A ~GER20-120 145 120 94
A019-006 HSKB0A —ER20A-120 145 120 94 A019-042 -GER25-80 105 80 54 50
50
AV _ER25-80 105 20 o4 A019-043 -GER25-100 125 100 74 42 25 42 M16X2.0P
A019-008 -ER25-100 125 100 74 42 25 42 M16X2.0P A019-044 -GER25-135 160 135 109
A019-009 -ER25-135 160 135 109 A019-045 -GER32-80 125 80 74
A019-010 -ER32-80 125 80 74 A019-046 -GER32-135 160 135 109 50 32 50 M16X2.0P
A019-011 -ER32-135 160 135 109 50 32 50 M16X2.0P A019-047 -GER32-160 185 160 134
A019-012 _ER32-160 185 160 134 019 0545 mGERIE100 52 100 74 o8 16 28 M10X1.5P
A019-013 ERIEA00 - . -4 roxt e A019-049 -GER16-150 182 150 124
28 16 28 :
A019-014 —ER16A-150 182 150 124 A019-050 HSK63A -GER20-100 132 100 74 63 . 2 4 M12X1 75P
A019-015 WEno0a2T00 - 100 o N T A019-051 -GER20-150 182 150 124
34 20 .
A019-016 _ER20A-150 182 150 124 A019-052 -GER25-100 132 100 74 42 25 42 M16X2.0P
T g . - 20 A019-077 —-GER16-100 150 100 71 o8 16 o8 M10X1 5P
42 25 42 .
A019-018 HsKean _ER25-150 182 150 124 A019-078 —GER16-160 210 160 131
63
A019-019 -ER32-100 132 100 74 M16X2.0P A019-079 mGER20,100 150 100 n 34 20 34 M12X1.75P
A019-020 ~ER32-150 182 150 124 50 32 50 A019-080 HSK100A ~GER20-160 210 160 131 100
IO g p— - — A019-081 -GER25-100 150 100 71 > - s
A019-022 —-ER40-100 132 100 74 20192052 ~GER25-160 210 160 161 M16X2.0P
A019-023 —ER40-150 182 150 124 63 40 60 M20X2.0P A019-083 ~GERS2-100 150 100 A 50 32 50
A019-024 -ER40-200 232 200 174 A019-084 -GER32-160 210 160 131
ROI92025 =EHIERA=100 50 100 n 28 16 28 M10X1.5P #IRF/ARIHEE  The spanner must purchase alone
A019-026 —-ER16A-160 210 160 131
A019-027 —ER20A-100 150 100 71
34 20 34 M12X1.75P
A019-028 —ER20A-160 210 160 131
A019-029 -ER25-100 150 100 71
42 25 42
A019-030 HSK100A -ER25-160 210 160 161 100
M16X2.0P
A019-031 -ER32-100 150 100 71
50 32 50
A019-032 -ER32-160 210 160 131
A019-033 -ER40-120 170 120 91
A019-034 —ER40-175 225 175 146 63 40 60 M20X2.0P
A019-035 —-ER40-200 250 200 171

#*RF/ERTHE  The spanner must purchase alone




YAPO]]/I/ﬁ Tool Holder

SK-SKA/M 8E7J# Tool Holder SK-SK A/M
DING9871 A HSK(A)/C EHERXBAHEITIFF Milling Chucks HSK(A)/C

s 2
‘y’".},///// ''''''' |
L
L T 1, A
g -‘ o[
Ll L L D B AR 0R e B di d2 d3 |.
Serial number Cat.No Applied nut Clamping range
A014-001 -SK10A-60 128.4 29
SK10-A 1.75-10.0 27.5 29 ; »
A014-002 . - . 40
Ska0 SK10A-90 158.4 63.55 \ a
A014-003 -SK16M-60 128.4
SK16-M 2.75-16.0 40 41.9 41.9
A014-004 -SK16M-90 158.4
A014-005 -SK10A-105 206.75 29
A014-006 -SK10A-135 236.75 SK10-A 1.75-10.0 27.5 29 g T
32 Seﬁlnufber %a(.f L I 12 D d1 d2
A014-007 —-SK10A-165 266.75
97.5
A014-008 Sk50 -SK16M-105 206.75 A017-001 _MLC20-120 140 20 53
41.9 HSK50A 70 50
A014-009 -SK16M-135 236.75 A017-002 -MLC32-120 120 32 73
SK16-M 2.75-16.0 40 41.9 162
A014-010 -SK16M-165 266.75 50 A017-003 —-MLC20-120 20 53
HSK63A 75 63
A014-011 -SK16M-200 296.75 52 A017-004 —MLC32-120 182 150 32 73
%R F/BRTEE  The spanner must purchase alone #IWF/ARIE The spanner must purchase alone

#JEFEATRT# Non-standard parts can be ordered

I HSK(A)/FMB W&t 71#F Face Mill Holder HSK(A)-FMB

/.
g [ -
‘ T‘” d3 K1
LL. & DIN69893-1 ﬁ
L1 & Y .
3 SN N F

BT-MFT ﬁHH:iUHﬁ Screwed End Mill Holders BT-MFT %

I ¢

5K U L L1 L2 d1 T
Serial number Cat.No
A015-001 ~MFT16-M8-60 160.4 95 60 |

15 M8 | 11 <12
A015-002 -MFT16-M8-110 210.4 145 110

| L 13

A015-003 -MFT20-M10-60 160.4 95 60

19 M10
A015-004 -MFT20-M10-110 210.4 145 110 ﬁﬁ e g » " s s ds K Ko
A015-005 -MFT25-M12-60 160.4 95 60 SR iz CEiD

24 M12
A015-006 BT40 -MFT25-M12-110 220.4 155 120 A018-001 HSKE0A _FMB22-60 60 18 14 26 48 4.8 10
401155007 MIAIC0MIE50 1504 &2 0 28 A018-002 -FMB27-60 20 16 31.5 60 5.8 12
A015-008 —-MFT30-M16-100 200.4 135 100 A018-003 _FMB22-100 100
A015-009 —-MFT30-M16-140 240.4 175 140 M16 A018-004 _FMB22-150 150 18 14 26 48 48 10
A015-010 ~MFT35-M16-60 160.4 95 60 33 G - YRR 200
A015-011 -MFT35-M16-120 220.4 155 120 A018-006 _FMB27-100 20
A015-012 ~MFT16-M8-60 206.8 105 60 15 8 A018-007 ~FMB32-100 100 20 205 26 60 5.8 12
A015-013 ~MFT16-M8-120 266.8 165 120 A018-008 _FMB40-100 25 315 78 6.8 14
A015-014 -MFT20-M10-60 206.8 105 60 19 M10 A018-009 _FMB22-100 100
A015-015 -MFT20-M10-120 266.8 165 120 A018-010 -FMB22-150 150 18 14 26 48 4.8 10
A015-016 -MFT25-M12-60 206.8 105 60 AO18-011 _FMB22-200 200

BTS0 MFT25-M12-120 2 M2 HSK100A
ATIS-017 - —Mie- 2568 LCS L20 A018-012 -FMB27-100 20 1 41 60 5.8 12
A015-018 -MFT30-M16-60 206.8 105 60 o8 A018-013 _FMB32-100 100 22 48 78 6.8 14
A015-019 -MFT30-M16-120 266.8 165 120 Mi6 A018-014 ~FMB40-100 25 20.5 68 89 8.3 16
A015-020 -MFT35-M16-60 206.8 105 60 33 #iRFIAFTHE The spanner must purchase alone
A015-021 -MFT35-M16-120 266.8 165 120 #JEFEART# Non-standard parts can be ordered
PO PO

A24 A25



YAPO n/’/'ﬁ Tool Holder

HSK(A)/SLA IR 7I#F side Lock Holder HSK(A)-SLA

HSK(A)/SLA #A#8 side Lock Holder HSK(A)-SSL (Sli

DIN 69893

o,

Manual fixing hole

FHEEL

m Type)
L

L1

G(ERBEL) special screws

% & coolant groove

———————————— | T o
,,,,,,,,,,,, 2 6¢
io
| LTI
- Inner cooling pipe ( Sold separately )
R LU
Serial number Cat.No ¢d @D L L1 H G
A020-024 -SSL 3-135 3 10 M3
A020-025 -SSL 4-135 4 11 M4
135 99 -
A020-026 -SSL 6-135 6 13
A020-027 -SSL 8-135 8 15 M6
HSK63A
A020-028 -SSL10-150 10 17 48
A020-029 -SSL12-150 12 22 150 114 60
M8
A020-030 -SSL16-150 16 26 70
A020-031 6-150 13 150 110
A020-032 -200 6 200 160
A020-033 -SSL 8-150 8 15 150 110 M6
A020-034 -200 200 160 .
A020-035 -SSL10-150 150 110
10 17
A020-036 -200 200 160
A020-037 HSK100A -SSL12-150 150 110
12 22
A020-038 -200 200 160
A020-039 -SSL16-150 150 110
16 26 65 M8
A020-040 -200 200 160
A020-041 -SSL16-150 150 110
20 30 80
A020-042 -200 200 160

DIN 1835
D T 14 13
DIN69893-A >
~e A iz
| N
- o
O
1:10
12
11
L
w9 B
Serial number Cat.No L I 12 13 D d2 T
A020-001 -SLA6-65 18 25 M6X1.0P
A020-002 —SLAB-65 90 65 39 28 M8X1.25P
A020-003 -SLA10-65 20 35 M10X1.5P
A020-004 ~SLA12-80 42
HSK50A 50 M12X1.75P
A020-005 -SLA14-80 44
A020-006 ~SLA16-80 105 54 48
80 M14X2.0P
A020-007 -SLA18-80 50
A020-008 -SLA20-80 09 52 M16X2.0P
.5
A020-009 ~SLA12-100 42
M12X1.75P
A020-010 —-SLA14-100 44
A020-011 -SLA16-100 132 100 74 48
M14X2.0P
A020-012 HSK63A -SLA18-100 63 50
A020-013 -SLA20-100 52 M16X2.0P
A020-014 -SLA25-110 65 M18X2.0P
142 110 84 24
A020-015 —-SLA32-110 72 M20X2.0P
A020-016 ~SLA12-100 42
M12X1.75P
A020-017 —-SLA14-100 44
A020-018 —-SLA16-100 150 100 71 22.5 48
M14X2.0P
A020-019 HSK100A ~SLA18-100 1 -
00
A020-020 -SLA20-100 52 M16X2.0P
A020-021 -SLA25-120 65 M18X2.0P
24
A020-022 ~SLA32-120 170 120 91 72
M20X2.0P
A020-023 -SLA40-120 30 -
% JEfZATRTH Non-standard parts can be ordered

#3JERZT T4 Non-standard parts can be ordered

HSK(A)/APU Zf&8RE5E Dprill Chuck Holder HSK(A)-APU

DIN 69893
D
e DIN69893-1
I/"'-. F Ry
:. - o ,7,1;
1:10 |
: 11 12mm
I
L
SR B O3
Serial number Cat.No L 11 12 D d1 d2
A021-001 HSK50A -APU13-110 147 50 5
84 55
A021-002 HSK63A -APU13-110 154 63 50 10
A021-003 HSK100A -APU13-120 182 91 75 100 13

#3RF/ARTEE The spanner must purchase alone



PO
A30

YAPO n/’/'ﬁ Tool Holder

HSK/SRC 4R 7JW(FEAEBRY) Shrink Fit Holder HSK-SRC (Standard Type)

Inner cooling pipe ( Sold separately )

HNLE (HM) o ) o
#/NJ1E Min Cutting insert
KiFRE Clamping Length

il

HSK No.

Inner cooling pipe

Sold tel
%;;%s(e;;; )ey) A TIEHEANEH Max. Cutting insert Clamping Length

/78| Min Cutting insert
JEFFRE | Clamping Length
i~

5293

)
L1
>
W R O d D D1 L L1 BNVIERER RATAAAR EE (ko)
Serial number Cat.No Emin Cutting Length  H Max CuttingLength  Weight (kg)
A021-004 -SRC 4- 90 4 10 14.7 45 16 68 0.85
A021-005 -SRC 6- 90 6 14 19.0 — 0.87
26
A021-006 -SRC 8- 90 8 18 23.0 52 0.91
90
A021-007 -SRC 10-90 10 22 27.0 50 32 62 0.96
A021-008 HSK63A —-SRC 12-90 12 24 29.0 36 0.98
65
A021-009 -SRC 16-90 33.0 1.02
16 28 38
A021-010 -165 40.5 165 118 80 1.73
A021-011 -SRC 20-90 39.5 90 52 65 1.11
20 34 42
A021-012 -165 46.5 165 121 100 1.85
A021-013 -SRC6- 105 20.0 105 57 2.47
6 14
A021-014 -165 2615) 165 117 2.67
26
A021-015 -SRC8- 105 24.0 105 57 2.52
18 -
A021-016 -165 8 30.5 165 117 2.79
A021-017 -SRC10-105 28.0 105 57 2.58
10 22 32
A021-018 -165 34.5 165 117 2.93
HSK100A
A021-019 -SRC12-105 30.0 105 57 2.61
12 24 36
A021-020 -165 36.5 165 117 72 2.99
A021-021 —-SRC16-105 34.0 105 57 2.66
16 28 38
A021-022 _165 40.5 165 117 80 3.11
A021-023 -SRC20-105 40.0 105 57 72 2.77
20 34 42
A021-024 -165 46.5 165 117 100 3.35

1 ERABEAENUANELTS LA,
HIEEHNBEEAREAENSUANEESETR,
2HMRTL, THLRE,
Please use hard alloy cutting tools with
handle diameter tolerance H6
There is a cold hole inside, cold in the
center

HSK(E)/SRC #4& 7I (4R R E!) Shrink Fit Holder HSK(E)-SRC (Slim Type)

HAE (SH) RATIEFENEH Max. Cutting insert Clamping Length

Inner cooling pipe

( Sold separately ) ',

£

&
g e FEL!
&

L1

¥ HSK No.f

- A

L

| -—

% % B % ; 5 o1 . L BIIEKEE BXTEEAR B (ko)
Serial number Cat.No Emin Cutting Length HMax.CuttingLength  Weight (kg)
A021-025 -SRC 4S-60% 60
4 7 10.0 60 16 44 0.22
A021-026 -SRC 4S-90 90
A021-027 -SRC 6S-75
6 10 15.0 75 0.24
A021-028 -SRC 6S-100
26 52
A021-029 -SRC 8S-75
HSK40E 8 13 18.0 100 0.26
A021-030 -SRC 8S-100 49
A021-031 -SRC10S-75
10 16 21.0 75 32 0.29
A021-032 -SRC10S-100 62
A021-033 -SRC12S-75
12 19 24.0 100 36 0.31
A021-034 -SRC12S-100
A021-035 -SRC 6S-75
6 10 14.5 75 0.45
A021-036 -SRC 6S-100
26 52
A021-037 -SRC 8S-75
8 13 17.5 100 0.46
A021-038 -SRC 8S-100
HSK50E 43
A021-039 -SRC10S-75
10 16 20.5 75 32 0.48
A021-040 -SRC10S-100 60
A021-041 -SRC12S-75
12 19 23.5 100 36 0.51
A021-042 -SRC12S-100

1 ERAMEAENUIAMEESETE,

a8 HF A EARERAENSUANEEAEE IR,
HSK(A)/MTA EBEREHEED - |
DIN 69893 Morse Taper Holder HSK-MTA f;le:faenr:engard alloy cutting tools with handle diameter

DIN69893-A D Thereisa colq:bole inside, cold in the center

e

12
11
L
o g
G o L I I2 I3 di d2 K1
Serial number Cat.No
A022-001 -MTA1-100 125 100 74 56 25} 12.065 5.5
A022-002 HSK50A -MTA2-120 145 120 94 67 32 17.780 6.5
A022-003 -MTA3-140 165 140 114 84 40 23.825 8
A022-004 -MTA1-100 132 100 74 56 25 12.065 5.5
A022-005 -MTA2-120 152 120 94 67 32 17.780 6.5
HSK63A
A022-006 -MTA3-140 172 140 114 84 40 23.825 8
A022-007 -MTA4-160 192 160 134 107 48 31.267 12
A022-008 -MTA1-110 160 110 81 56 25 12.065 5.5
A022-009 -MTA2-120 170 120 91 67 32 17.780 6.5
A022-010 HSK100A -MTA3-150 200 150 121 84 40 23.825 8
A022-011 -MTA4-170 220 170 141 107 48 31.267 12
A022-012 -MTA5-200 250 200 171 133 63 44.399 16

PO
A31



YAPO]]IIiﬁ Tool Holder

HSK-GSK & 71# T1ool Holders HSK-GSK SD ﬁ#ﬂﬂﬁﬁggﬁ ( Z{EE ) Indexable Drill 2x Diameter

DIN 69893
~. L
., 5 ~

\ ]
s

| —

i ‘ 11
L
‘r‘ ’ ?;'ecificalitgn D L L1 L2 L3 d Iﬂe{i SC’:/LW Wf;r"Ch
h A 25-SD16-32L 16 | 114 | 58 | 37 | 32 25
A 25-SD17-34L 17 | 116 | 60 | 39 | 34 | 25
A 25-SD18-36L 18 | 119 | 63 | 41 36 25 WC_0302 M2.5-6.3-3.35-60 T8
& m oo . R Se 14 B " us 4s A 25-SD19-38L 19 | 122 | 65 | 43 | 38 25
Serial number Cat.No Al Clamping range A 25-SD20-40L 20 | 125 | 69 46 40 25
EEGDT HSKAOE eSS0 % GSK10 175100 P 29 29 A 25-SD21-42L 21 | 127 | 71 47 | a2 25
== oo = asKe 0760 19.5 20.5 25 2 Zzizzzzii:t zz ::2;: Zz : j: zz WC_0402 M2.5-6.3-3.35-60 T8
A023-003 -GSK6-90 115 32 - . . .
| o o L e T w [ [ o | o | e
A023-005 ~GSK10-90 115
A023-006 ~GSK16-90 115 GSK16 2.75-16.0 40 41.9 41.9 (EE-EIDpS-EHL 20 || das || @< || &7 || &2 || &
EEGIT, G = 205 A 32-SD27-54L 27 | 146 | 86 | 59 | 54 | 32
7023-008 T GSK6-90 122 GSK6 0.7-6.0 105 505 e A 32-SD28-56L 28 | 149 | 89 | 61 56 32 WC_0503 M3-8.0-4.4-60 To
EEGIE S Gm == A 32-SD29-58L 29 | 151 | of 63 | 58 32
2023-010 —GSK10-60 92 29 A 32-SD30-60L 30 | 155 | 95 | 66 | 60 32
S ] oo | e | e | pwmne  Iolelalel=ls
A023-012 HSK63A -GSK10-120 152 40
R R = A 32-SD33-66L 33 | 163 | 103 | 73 | 66 32
7023014 “GSKi6-60 92 A 32-SD34-68L 34 | 165 | 105 | 74 | 68 32
e e e askie 275160 40 41.9 41.9 222:222211 2: 1:3 123 :: :Z Zz WC_06T3 M3.5-8.0-5.3-60 T15
A023-016 -GSK16-120 152 - -5-8.0-5.
R =50 = A 32-SD37-74L 37 | 173 | 113 | 80 | 74 | 32
7023018 “GSKi0_105 pe s A 32-SD38-76L 38 | 176 | 116 | 82 | 76 32
RS e G GSK10 1.75-10.0 075 59 A 32-SD39-78L 39 | 178 | 118 | 84 | 78 32
A023-020 —GSK10-165 215 32 A 40-SD40-80L 20 | 191 | 121 | 86 | 80 | 40
R HSK100A oI == A 40-SD41-82L 41 | 194 | 124 | 88 | 82 | 40
e R R N T T
A023-023 -GSK16-215 215 50
7023004 TGSKio_245 215 = A 40-SD44-88L 44 | 201 | 131 | 94 | 88 | 40
%R F/ERTH  The spanner must purchase alone A 40-SD45-90L 45 208 | 138 % 90 40
A 40-SD46-92L 46 | 206 | 136 | 98 | 92 | 40 WC_0804 M4-10-5.7-60 Ti5
A 40-SD47-94L 47 | 208 | 138 | 100 | 94 | 40
A 40-SD48-96L 48 | 211 | 141 | 102 | 96 | 40
A 40-SD49-98L 49 | 214 | 143 | 104 | 98 | 40
A 40-SD50-100L 50 | 212 | 142 | 108 | 100 | 40
PO PO

A32 A33



Indexable Insert Drills

SD ﬁ#ﬁﬁﬁﬁgﬁﬁ ( 4{%5 ) Indexable Drill 4x Diameter SD ﬁ#ﬁﬂﬁﬁgﬁﬁ ( 3{%5 ) Indexable Drill 3x Diameter

/ { N
‘ -y y ' N
! Y - ¢ * N
—o—| - - S
- S B =——{
T_ j é
é
Specification D L L1 L2 L3 d Iﬂe):l; SC'\TI*I?W Wf:-nch
z%ecmcmﬁ D L L1 Lo L3 d Iﬂg{i Scl:/(law Wr;rmh A 25-SD14-42L 14 115 65 45 42 25
A 25-SD15-45L 15 118 68 47 45 25
A25-SD14-56L 14 129 79 59 56 25 A 25-SD16-48L 16 130 74 58] 48 25
A25-SD15-60L 15 133 83 62 60 25 A 25-SD17-51L 17 133 77 56 51 25 WC_0302

A25-SD16-64L 16 146 90 69 64 25 A 25-SD18-54L 18 137 81 59 54 25
A25-SD17-68L 17 150 94 73 68 25 WC_0302 M2.5-6.3-3.35-60 T8 A 25-SD19-57L 19 140 84 62 57 25

M2.5-6.3-3.35-60 T8
A25-SD18-72L 18 155 99 77 72 25 A 25-SD20-60L 20 145 89 66 60 25
A25-SD19-76L 19 159 103 81 76 25 A 25-SD21-63L 21 148 92 68 63 25
A25-SD20-80L 20 165 109 86 80 25 A 32-SD22-66L 22 151 95 71 66 32

A25-SD21-84L 21 169 113 89 84 25 A 32-SD23-69L 23 155 99 74 69 32 WC_0402

A32-SD22-88L 22 173 117 93 88 32 A 32-SD24-72L 24 159 103 78 72 32
A 32-SD23-92L 23 178 122 97 92 32 WC_0402 M2.5-6.3-3.35-60 T8 A 32-SD25-75L 25 163 107 81 75 32
A32-SD24-96L 24 183 127 102 96 32 A 32-SD26-78L 26 170 110 83 78 32
A32-SD25-100L 25 188 132 106 100 32 A 32-SD27-81L 27 173 113 86 81 32

A32-SD26-104L 26 196 136 109 104 32 A 32-SD28-84L 28 177 117 89 84 32 WC_0503 M3-8.0-4.4-60 T9
A32-SD27-108L 27 200 140 113 108 32 A 32-SD29-87L 29 180 120 92 87 32
A32-SD28-112L 28 205 145 117 112 32 WC_0503 M3-8.0-4.4-60 T9 A 32-SD30-96L 30 185 125 96 90 32
A32-SD29-116L 29 209 149 121 116 32 A 32-SD31-93L 31 189 129 99 93 32
A32-SD30-120L 30 215 155 126 120 32 A 32-SD32-96L 32 192 132 102 96 32
A32-SD31-124L 31 220 160 130 124 32 A 32-SD33-99L 33 196 136 105 99 32
A32-SD32-128L 32 224 164 134 128 32 A 32-SD34-102L 34 199 139 108 102 32
A32-SD33-132L 33 229 169 138 132 32 A 32-SD35-105L 35 203 143 111 105 32

A32-SD34-136L 34 233 173 142 136 32 WC_06T3 M3.5-8.0-5.3-60 T15 A 32-SD36-108L 36 203 143 111 108 32 WC_06T3 M3.5-8.0-5.3-60 T15
A32-SD35-140L 35 238 178 146 140 32 A 32-SD37-111L 37 210 150 117 111 32
A32-SD39-156L 39 256 196 162 156 32 A 32-SD38-114L 38 214 154 120 114 32
A40-SD41-164 41 276 208 170 164 40 A 32-SD39-117L 39 217 157 123 117 32
A40-SD44-176L 44 289 219 182 176 40 A 40-SD40-120L 40 231 161 126 120 40
A40-SD47-188L 47 302 231 194 188 40 A 40-SD41-123L 41 235 165 129 123 40
A40-SD49-196L 49 311 241 202 196 40 WC_0804 M4-10-5.7-60 T15 A 40-SD42-126L 42 238 168 132 126 40
A40-SD54-216L 54 316 261 222 216 40 A 40-SD43-129L 43 241 171 135 129 40
A 40-SD59-236L 59 344 281 242 236 40 A 40-SD44-132L 44 245 175 138 132 40
A 40-SD45-135L 45 248 178 141 135 40
A 40-SD46-138L 46 252 182 144 138 40

WC_0804 M4-10-5.7-60 T15
A 40-SD47-141L 47 255 185 147 141 40
A 40-SD48-144L 48 259 189 150 144 40
A 40-SD49-147L 49 262 192 153 147 40
A 40-SD50-150L 50 262 192 158 150 40
A 40-SD51-153L 51 262 192 162 153 40
VAL VAL

A34 A35



YAPO n/’/'ﬁ Tool Holder

BSB 13EX1EFL 7 Square Boring Bar BSB

BT-BSA 45° *ﬂﬁ?l.)]ﬂ: Rough Boring Holder BT-BSA 45° ( )
MAS 403 BT

450 | ‘

‘ L ‘ MEETL

2O A
11 45° %
MAS BT i 12
I
® d2 \_ Boring hole Inner Dia. )
N - r
G ;T :
< ‘ w9 B 5 D L AE BRI R HEET wF
e N Serial number Cat.No Angle Applied Insert Screw Spanner
h A024-066 BSB-308 8 55
13 CCMT0602 M2.5-6.0-3.5-60 T9
A024-067 BSB-310 10 65
A024-068 BSB-313 13 80
30° CCMT09T3 M4-10-5.7-60 T15
A024-069 BSB-316 16 120
A024-070 BSB-319 19 140
CCMT1204 M5-11-7.5-60 T20
oo A% _ d1E s ds 5 s w T A024-071 BSB-325 25 150
Serial number Cat.No ?-'J‘Dj-’.["ﬁf" BAMTIL A024-072 BSB-408 8 55
in. Drillea hole Max.Drilled hale COMTO0602 M2.5-6.0-3.5-60 To
A024-001 -BSA25-120 29 38 20 20 93 35 . A024-073 BSB-410 10 65
M6 = = 13 80
A024-002 -BSA30-150 30 42 24 26 123 40 A024-074 BSB-413 45° CCMT09T3 M4-10-5.7-60 T15
A024-003 -BSA38-165 38 52 30 33 138 50 10 A024-075 BSB-416 16 120
= = 19 140
A024-004 -BSA42-165 42 56 34 37 138 M8 AOR=OE SE=CY CCMT1204 M5-11-7.5-60 T20
A024-005 BT40 ~BSA50-165 50 65 40 44 138 65 13 A024-077 BSB-425 25 150
A024-006 -BSA62-180 62 920 50 56 153 80 16 0232078 BSB-908 8 55 CCMT0602 M2.5-6.0-3.5-60 T9
A024-007 ~BSA72-180 72 110 60 153 95 i, M10 A024-079 BSB-910 10 65
A024-008 —BSA90-180 90 125 75 153 110 2025000 SE-0E I& 50 90° COMT09TS M4-10-5.7-60 s
A024-009 -BSA25-135 25 38 20 22 97 35 8 " A024-081 BSB-916 16 120
6 _ _
A024-010 -BSA30-165 30 42 24 26 127 40 0232052 ESBaYID 19 140 CCMT1204 M5—11-7.5-60 T20
A024-011 _BSA38-180 38 52 30 33 142 50 0 e A024-083 BSB-925 25 150
A024-012 -BSA42-210 42 56 34 37 172 60
A024-013 -BSA50-180 142 o5 13 a3 *E g m ) EEEE———
44 H
A024-014 -BSA50-240 50 65 40 202 B Sq uare Bori ng Bar
= -BSA62-195 157
02801 BT50 62 90 50 56 5 80 16 M10 T
A024-016 —BSA62-270 232 Dt U (( . - =
A024-017 -BSA72-195 157 7 90° L f
72 110 60 66 95 -
_ -BSA72-2 247
A024-018 S 85 10 T N 777 | //
A024-019 -BSA90-210 172 "o [
90 125 75 80 110 _
A024-020 -BSA90-300 262 . REEA .
Boring hole Inner Dia,
A024-021 -BSA105-195 — 157 — M12
105 160 90
A024-022 -BSA105-285 94 247 130 25
A024-023 -BSA130-255 130 190 110 — 217 120 #ROSR B g D L RE BRI o44) wF
Serial number Cat.No Angle Applied Insert Screw Spanner
#JEFZATRT#] Non-standard parts can be ordered
A024-084 BSB-908L 8 55
CCMT0602 M2.5-6.0-3.5-60 T9
A024-085 BSB-910L 10 65
A024-086 BSB-913L 13 80
90° CCMT09T3 M4-10-5.7-60 T15
A024-087 BSB-916L 16 120
A024-088 BSB-919L 19 140 CCMT1204 M5-11-7.5-60 T20
A024-089 BSB-925L 25 150 CCMT1204 M5-11-7.5-60 T20
458 @ EFTBSA. BSBIEETIHF. ABHIEHET], @ BSBE&EIHIMI
PO PO

A38 A39



Indexable Insert Drills yAPO ]7/’/'

BT BSB 90° #H##¥. 71 Rrough Boring Holder BT-BSB 90°

MAS 403 BT 1
12 15
MAS BI
ﬁecificatﬁ D L L1 L2 L3 d ﬁei Sc’:'llew Wr:-nch
A40-SD52-156L 52 | 262 | 192 | 165 | 156 | 40
A 40-SD53-159L 53 262 | 192 | 168 | 159 40 - A
A40-SD54-162L 54 | 262 | 192 | 170 | 162 | 40
A 40-SD55-165L 55 | 262 | 192 | 175 | 165 | 40
A 40-SD56-168L 56 | 275 | 205 | 180 | 168 | 40 WC_0804 M4-10-5.7-60 15 E T _ el a2 3 2 13 w T EB(ko)
A40-SD57-171L 57 | 275 | 205 | 185 | 171 | 40 Serialnumber CatNo e e iote. e o e Weight 49
A 40-SD58-174L 58 | 280 | 205 | 185 | 174 | 40 A024-024 -BSB25 - 120 93
A 40-SD59-177L 59 285 215 187 177 40 A024-025 -BSB25 - 165 29 52 20 22 137 35 8 M6 1.2
A 40-SD60-180L 60 | 285 | 215 | 190 | 180 | 40 A024-026 -BSB25 - 200 173
A024-027 _BSB38 - 150 123
A024-028 _BSB38 - 200 38 70 30 33 173 55 10 M8 1.7
A024-029 -BSB38 - 250 223
. —_— . . A024-030 -BSB50 - 165 138
SD }ﬁ#iﬁﬁﬁﬁﬁﬂﬁ ( 3{%5 ) Indexable Drill 3x Diameter op4051 55550 200 5 © 40 w pr 20 i 1o vs
A024-032 BT40 —-BSB50 - 250 223
A024-033 -BSB62 - 180 153
A024-034 _BSB62 - 250 62 115 50 56 223 80 16 M10 36
A024-035 ~BSB62 - 300 273
5 L A024-036 _BSB90 - 180 153
L ‘ A024-037 _BSB90 - 250 90 150 75 — 223 115 19 Mi2 5.9
i L3 ‘/_‘ A024-038 —_BSB90 - 300 273
r = + A024-039 -BSB25-135 97
o - GZD jﬁ A024-040 _BSB25- 165 25 52 20 22 127 35 8 M6 4.3
L A024-041 -BSB25 - 200 162
A024-042 -BSB38 - 180 142
A024-043 ~BSB38 - 250 38 70 30 32 212 55 10 m8 4.9
A024-044 _BSB38 - 300 262
A024-045 -BSB50 - 180 142
i%ecilicatﬁ D L Lt L2 L3 d ﬂe{i S Weanch A024-046 _BSB50 - 250 212
A25-SD14.5-42L 145 115 | 65 | 45 | 42 | 25 A024-047 -BSB50 - 300 50 % 2 w 262 70 13 55
A25-SD15.5-45L 155 | 118 | 68 | 47 | 45 | 25 A024-048 ~BSB50 - 350 312
A25-SD16.5-48L 16.5 | 130 | 74 | 53 | 48 | 25 A024-049 _BSB50 - 400 362 o
A25-SD17.5-51L 175 | 133 [ 77 | 56 | 51 | 25 WC_0302 M2.5-6.3-3.35-60 T8 ARE=O) -BSB50 - 500 A
A25-SD18.5-54L 18.5 | 137 | 81 59 | 54 | 25 A024-051 -BSB62 - 200 162
A25-SD19.5-57L 19.5 | 140 | 84 | 62 | 57 | 25 RO =R BT50 -BSB62 - 300 62 15 50 56 262 80 16 6.4
A25-SD20.5-60L 205 | 145 | 89 | 66 | 60 | 25 A024-053 -BSB62 - 400 362
A25-SD21.5-63L 215 | 148 | 92 | 68 | 63 | 25 A024-054 -BSB62-500 162
A32-SD22.5-66L 225 | 151 | 95 | 71 | 66 | 32 A024-055 -BSB90 - 200 162
A32-5D23.5-69L 235 | 155 | 99 | 74 | 69 | 32 WC_0402 M2.5-6.3-3.35-60 T8 TR =0R -BSB90 - 220 e
A32-SD24.5-72L 245 | 159 | 103 | 78 | 72 | 32 A024-057 -BSB90 - 300 % 150 75 - 262 115 20 W12 07
A32-SD25.5-75L 255 | 163 | 107 | 81 | 75 | 32 AR -BSB90 - 400 362
A024-059 ~BSB90 - 500 462
A024-060 _BSB90 - 550 512
A024-061 _BSB105 - 200 162
A024-062 ~BSB105 - 300 262
A024-063 ~BSB105 - 400 105 190 90 90 362 — 25 M16 1.4
A024-064 _BSB105 - 500 462
A024-065 ~BSB105 - 600 562
PO PO

A36 LEY



YAPO n/’/'ﬁ Tool Holder

EWN &A% #58 Micro-Boring Head EWN

MAS 403 BT
F8Bock Boring -
. i T S " Ly 9‘
< | _Y
| |
E L L e E
t + 3 s 157 .
Ld - : ‘.‘I"f'l
h- L A bl L2 a A
&
w IE 8 Borin ¥ i " % B
oy seEes km T Boing 8 Backboring minghEL 7K REEE B8
Model size CKNo. Insert holder ] I;‘EQEELI)C L dm BackEring)%e o L1 L2 A Minentryboringforbackingboring Insert torque (kg) & 5 m o 5
ENH1-1 20-26 = " Serial number Cat.No L ¢
EWN 20-36CKB1 k1 ENH1-2 2531 [325) 19 30-31 10.5 Sl 13-8“&%35/2 007
ENF13 30-36 30-36 ack boring dia./2) A026-001 NBH- BT50 - 100L 100
ENH2-1 25-33 -
- A026-002 NBH - BT50 -165L 165
EWN2547CKB2 | CK2 ENH22 2w |355| 3640 s |2arfazs | RIEEEE | 0| 05Nm | 012
ENH23 39-47 39-47 g da. A026-003 NBH — BT50 - 200L 200
ENH3-1 32-42 >
" A026-004 NBH - BT50 - 250 250
EWN 3260083 | CK3 B3z | aisi | 40| 451 L e I I 021
ENH33 50-60 50-60 ' A026-005 NBH - BT50 - 300 300
ENHA-1 41-54 - - A026-006 NBH - BT50 - 400 400
BWNAITACKBA | K4 ENH4-2 506 | 47 | 4 563 14 R 15N.m | 040
ENH4-3 61-74 61-74 ' A026-007 NBH — NT50 - 100L 100 $35 $84
ENESSS L1l P20 5el A026-008 NBH - NT50 - 150L 150
EWNS395CK85 | ks N2 | 6582 | 57 59-52 19 [34] 255 | 2o5+(REDE 25N.m | 110 - SRkl
49 . ack boring dia./2)
ENH53 78-95 78-95 A026-009 NBH — NT50 - 200 200
A 08 100 20 32.5+(REBE A026-010 NBH - NT50 - 250 250
i - - 2| 32 S5+ (RIE - - -
EWN 68-150CKB6 ENH6-2 94-126_| 71 94126 2 | 325 Boringdiay2) | TC1T| 6N.m | 174
K6 ENH6-3 118-150 118-150 A026-011 NBH — NT50 — 300 300
e 7 D2 63 — 45.5+ (RESEE A026-012 NBH - NT50 - 400 400
EWN 100-203CKB6 ENH6-2 126-179_| 71 126-179 22 45.20 455 | | Boring dia./2) 10N.m | 246 - -
ENHE-3 150-203 150203 A026-013 NBH - NT50 - 500 500

NBJ 16 fi:A#5 & FL B4 Micro-Boring Tool _
MAS 403 BT NBH2084 #5585 Micro-Boring Head NBH2084

(/ - . MAS 403 BT
~ - L
- o
d | =DM | L
©
/ § S — !
;¢
<& ™
ﬁ] ‘
bit - WIPNN BT
- L \
WK B R sETLEE HERE HETE B2E | DM |
Serial number Cat.No Boring Range Tuning precision Stroke Weight(KG) | T
©
© D
A027-027 SBJ 16 | ¢6-¢s1 | eootss |  eom | 12 | em:[:g‘_
% B 7L GEE 5 P L EATAE #2467 wE  ER
Serial number Cat.No Boring Range Applicable inserts Clamp screw screw Weight ( kg) F il inff #rLEE 1T i ?ﬁ LERZ HE TR L D
Serial number Cat.No Tuning precision Vi & == (=)
A027-028 SBJ-1606-24 6~9 24 73 WBGTO0601. . L M2X4 0.014
A026-000 | NBH2084 | #8-3280 28mm o.otmm | #20 [ nBH 80 84
A027-029 SBJ-1608-32 8~11 32 80 T6 0.077
TPGHO0601. . L M2X5
A027-030 SBJ-1610-40 10~13 40 87 0.082 4 B g D D1 L L1 7L EE EWAT R 12T RF =2
A027-031 SBJ-1612-53 12-15 53 98 0.095 Serial number Cat.No Boring Range  Applicable inserts Clamp screw screw  Weight ( kg)
TPGH0902. . L M2.5X6 T8
A027-032 SBJ-1614-60 14~17 68 110 0.101 A026-014 SBJ-2008-32 8 76 8~11 0.09
TBGT060102L | M2-5.0-2.7-6
A027-033 SBJ-1616-68 16~21 83 125 0.143 A026-015 SBJ-2010-40 10 84 10~13 T6 0.10
30
A027-034 SBJ-1620-83 20~26 90 128 0.203 A026-016 SBJ-2012-53 12 96 12~17 0.11
TPGT090204L |M2.5-6.0-3.5-6
A027-035 SBJ-1625-90 25~31 90 128 0.275 A026-017 SBJ-2016-68 16 107 34 16~21 0.15
20
A027-036 SBJ-1630-90 30~36 90 128 | TPGH1103..L M3.0X7 T8 0.275 A026-018 SBJ-2020-83 20 120 20~26 0.20
T8
A027-038 SBJ-1635-90 35~41 90 128 0.280 A026-019 SBJ-2025-96 25 134 25~135 0.30
TPGT110304L |M3-8.0-4.0-43
A027-039 SBJ-1640-90 40~46 90 128 0.286 A026-020 SBJ-2030-115 30 150 30~140 0.50
A027-040 SBJ-1645-90 45~51 90 128 0.211 A026-021 SBJ-L20-20 20 97 280 0.25
PO PO

A42 A43



YAPO n/’/'ﬁ Tool Holder

NBH2084 #F#=E.48 Micro-Boring Tool Set NBH2084

MAS 403 BT

w9 B IR sErLEEE B SEEARIGE $% T 58
Serial number Cat.No Boring Range Spinde handle models Head NO Boring Bar Weight(KG)
A026-022 BT40-NBH2084-8P 8~280 BT40-NBH-50 SBJ-20.. 9.5
A026-023 BT50-NBH2084-8P 8~280 BT50-NBH-55 SBJ-20.. 12.0
A026-024 NT40-NBH2084-8P 8~280 NT40-NBH-50 SBJ-20.. 9.3
A026-025 NT50-NBH2084-8P 8~280 NT50-NBH-55 NBH2084 SBJ-20.. 10.8
A026-026 SK40-NBH2084-8P 8~280 SK40-NBH-50 SBJ-20.. 9.5
A026-027 SK50-NBH2084-8P 8~280 SK50-NBH-55 SBJ-20.. 12.0
A026-028 R8-NBH2084-8P 8~280 R8-NBH-50 SBJ-20.. 10.0

NT-C 3@ A J7I# Milling Chucks NT-C

NT-ER E7IW ollet Chuck NT-ER
DIN 2080

4 o R o L1 L d1 DRAW BAR

Serial number Cat.No INCH METRIC
A029-001 -ER32UM-60 128.4 50

NT30 1/2"12UMC M12X1.75
A029-002 -ER40UM-60 60 138.4 63
A029-003 -ER32UM-60 153.4 50

NT40 5/8"-11UNC M16X2.0
A029-004 -ER40UM-60 163.4 63

DIN 2080
= = DRAW BAR
i B d1 d L1 L2
Serial number Cat.No INCH
A028-001 -C20-65 20 65
NT30 55 60 1/2"12UMC M12X1.75
A028-002 -C25-80 25 80
A028-003 -C32-90 90
A028-004 NT40 -C32-135 135 5/8"-11UNC M16X2.0
A028-005 -C32-150 32 73 150 70
A028-006 -C32-90 90
A028-007 NT50 -C32-150 150 1"-8UNC M24X3.0
A028-008 -C42-110 90
42 90 110
A028-009 NT60 -C42-110 120 11/4"-7UNC M30X3.5

3R F/ERTEE  The spanner must purchase alone

#IWF/BRTHE  The spanner must purchase alone

NT-FMB W& 71 ( 2Bl ) Face Mill Holder NT-FMB (Metric Sizes)
DIN 2080

-

%
Y ’ k2
11 ‘ 12
B E—— B
L
o g DRAWBOLT

Seﬁlnuﬁer gcgat.l\f ¢ [t 2 2 S Kz INCH METRIC
A030-001 -FMB22-30 22 18 48 4.8 10

A030-002 NT40 -FMB27-30 27 80 20 60 5.8 12 /8" 11UNG M16X2.0
A030-003 -FMB32-45 32 45 22 78 6.8 14

A030-004 -FMB40-50 40 50 25 89 8.3 16

A030-005 -FMB22-35 22 35 18 48 4.8 10

A030-006 -FMB27-35 27 20 60 5.8 12

A030-007 -FMB32-30 32 22 78 6.8 14

A030-008 -FMB40-30 40 30 89 8.3 16

A030-009 NT50 -FMB60-30 1"-8UNC M24X3.0
A030-010 -FMB60-75 75

A030-011 -FMB60-100 60 100 2 128.57 10 25.4

A030-012 -FMB60-150 150

A030-013 -FMB60-200 200




YAPO n/’/'ﬁ Tool Holder

BT-LBK§& 71 #% Boring Tool Holder BST #H#EN#H Rough Boring Holder

o

N

o, u o,
Seﬁl n fher gCzat Ns’oﬁ e d 2
1 ul .
5 B o a b ¥ .
Serianumber Gato A025-038 BST - BT40 - 100L 100
A034-001 BT30-LBK1-80 11 19 80 M4 025039 BST _BT40 _150L 150
A034-002 BT30-LBK2-80 14 24 30 M5
A034-003 BT30-LBK3-80 18 31 80 M6 A025-040 BST - BT40 - 200L 200
A034-004 BT30-LBK4-70 22 39 70 M8
A034-005 BT30-LBK5-60 28 50 60 M10 A025-041 BST - BT50 - 100L 100
A034-006 BT30-LBK6-60 36 62 60 M12 A025-042 BST - BT50 — 150L 150
A034-007 BT40-LBK1-55 11 19 55 M4 200
A034-008 BT40-LBK1-75 11 19 75 M4 A025-043 BST - BT50 - 200L
A034-009 BT40-LBK1-115 11 19 115 M4 A025-044 BST - BT50 - 250L 250
A034-010 BT40-LBK2-55 14 24 55 M5
A034-011 BT40-LBK2-85 14 24 85 M5 A025-045 BST - BT50 - 300L 300
A034-012 BT40-LBK2-115 14 24 115 M5 A025-046 BST - BT50 — 350L 350
A034-013 BT40-LBK2-145 14 24 145 M5
A034-014 BT40-LBK2-175 14 24 175 M5 A025-047 BST - BT50 - 400L 400 50 95
A034-015 BT40-LBK3-95 18 31 95 M6 P e &0
A034-016 BT40-LBK3-125 18 31 125 M6
A034-017 BT40-LBK3-155 18 31 155 M6 A025-049 BST - NT50 - 80L 80
A034-018 BT40-LBK3-175 18 31 175 M6 P ST — (T — L -
A034-019 BT40-LBK3-200 18 31 200 M6
A034-020 BT40-LBK4-85 22 39 85 M8 A025-051 BST - NT50 - 150L 150
A034-021 BT40-LBK4-135 22 39 130 M8
A034-022 BT40-LBK4-175 22 39 175 M8 @0255002 [EST = R0 =200k 200
A034-023 BT40-LBK4-200 22 39 200 M8 A025-053 BST - NT50 - 250L 250
A034-024 BT40-LBK5-75 28 50 75 M10
A034-025 BT40-LBK5-125 28 50 125 M10 A025-054 BST - NT50 - 300L 200
A034-026 BT40-LBK5-175 28 50 175 M10 A025-055 BST - NT50 — 400L 400
A034-027 BT40-LBK5-200 28 50 200 M10
A034-028 BT40-LBK6-55 36 62 55 M12 A025-056 BST - NT50 - 450L 500
A034-029 BT40-LBK6-115 36 62 115 M12
A034-030 BT40-LBK6-165 36 62 165 M12 y . .
A034-031 BT40-LBK6-200 36 62 200 M12 TWN % 7)#88£ FL. 7] square Boring with Double Cutter TWN
A034-032 BT50-LBK1-75 11 19 75 M4
A034-033 BT50-LBK1-115 11 19 115 M4 MAS 403 BT ~
A034-034 BT50-LBK1-145 11 19 145 M4
A034-035 BT50-LBK2-110 14 24 110 M5
A034-036 BT50-LBK2-140 14 24 140 M5
A034-037 BT50-LBK2-175 14 24 175 M5
A034-038 BT50-LBK2-205 14 24 205 M5
A034-039 BT50-LBK3-125 18 31 125 M6
A034-040 BT50-LBK3-155 18 31 155 M6
A034-041 BT50-LBK3-180 18 31 180 M6
A034-042 BT50-LBK3-210 18 31 210 M6
A034-043 BT50-LBK3-240 18 31 240 M6
- - p - BAL =
A034-044 BT50-LBK4-115 22 39 115 M8 SHTERIE T &E P B AR 71K e L g%%%%& HELEAS (EF) [ 4146 g2z v%s;;l;t
A034-045 BT50-LBK4-145 22 39 145 M8 Model size Processing range CK No. Insert holder L] Bolt ) Gasket Tightening torque(n.M) Sr::iw';’ (kg)
A034-046 BT50-LBK4-175 22 39 175 M8 — e —
2035204/ BIi50=IBKA=20%) 22 29 205 M8 TWN20-31CKB1 7531 Ck1 Twas3ia | 325 | Tw20ss TW208S 4 12000577
A034-048 BT50-LBK4-240 22 39 240 M8 — ETETEETY a
A034-049 BT50-LBK4-290 22 39 290 M8 TWN25-40CKB2 32-40 cK2 TW3240A 35.5 | TW25SS TW25BS 7 9000 0.2
A034-050 BT50-LBK5-105 28 50 105 M10 s TWasaoa s
A034-051 BT50-LBK5-140 28 50 140 M10 TWN32-51CKB3 yrs cK3 TWATSIA 40 TW32sS TW32BS 12 7000 5
A034-052 BT50-LBK5-180 28 50 180 M10 e TWaTs4A o3
A034-053 BT50-LBK5-210 28 50 210 M10 TWN41-65CKB4 3 6o cKa TWS366A 47 TW41SS TW41BS 20 5500 076
A034-054 BT50-LBK5-240 28 50 240 M10 o0 S0 E
A034-055 BT50-LBK5-270 28 50 270 M10 TWN53-86CKB5 =56 K5 TW5086A 57 TW53SS TW53BS 35 4000 —=
A034-056 BT50-LBK5-300 28 50 300 M10
68-90 TW6890A 1.7
A034-057 BT50-LBK6-85 36 62 85 M12 TWN68-110CKB6 38110 CK6 TW88110A 71 TW68SS TW68BS 35 3000 >3
A034-058 BT50-LBK6-125 36 62 125 M12 98 =126 TWOBIZ6A 5
A034-059 BT50-LBK6-170 36 62 170 M12 TWN98-153CKB6 125153 CK6 Twi2s153a | /! 40 2000 —*¢
A034-060 BT50-LBK6-230 36 62 230 M12 98 - 126 TW98126A 38
A034-061 BT50-LBK6-290 36 62 290 M12 TWN98-153CKB7 125153 cK7 Twiz2s153a | &7 40 2000 ——=7
TW98SS TW98BS
A034-062 BT50-LBK6-350 36 62 350 M12 TWN148-203CKBG 148-176 . Twi4s176A | 20 1500 —32
A034-063 BT50-LBK6-400 36 62 400 M12 ) 175-203 TW175203A 6.0
A034-064 BT50-LBK6-450 36 62 450 M12 TWN148-203CKB7 148-176 K7 TW148176A | 1 10 1500 |—622
A034-065 BT50-LBK6-500 36 62 500 M12 175-203 TW175203A

PO D
B A40



YAPO nlliﬁ Tool Holder

NT-FMA MBS 7I# ( ZHIEHE ) Face Mill Holder NT-FMA (Inch Sizes) NT-MTA RKKHEIEIIM Morse Taper Holder NT-MTA
DIN 2080 DIN 2080

7/,

D DIN 228
k1
Iy / *l rd
EEl . g 3
R 1L
> A1T]
A
I I
e k2
2, ® 35 1 RISk Sk 1 a1 d2 I
Serial number Cat.No Applied Drill Bit
L
A032-001 —MTA1-30 2.0-14.0 %0 25 2.0-14.0
A032-002 —~MTA2-30 14.1-23.0 32 14.1-23.0
NT40 5/8"-11UNC M16X2.0
g | g 032-003 —MTA3-45 .1-82. 5 .1-32.
d I I D K1 Ko DRAWBOLT A 23.1-32.0 4 40 23.1-32.0
Serial number Cat.No INCH METRIC A032-004 _MTA4-90 32.0-50.0 90 50 32.0-50.0
A030-014 NT40 ~-FMA25.4-20 25.4 20 20 48 4.52 9.52 5/8"-11UNC | M16X2.0 A032-005 _MTA1-30 2.0-14.0 30 25 2.0-14.0
A030-015 -FMA47.625-24 24 A032-006 _MTA2-45 14.1-23.0 32 14.1-23.0
45
A030-016 -FMA47.625-75 75 A032-007 NT50 —~MTA3-45 23.1-32.0 40 23.1-32.0 1"-8UNC M24X3.0
A030-017 NT50 —-FMA47.625-100 | 47.625 100 30 128.57 10 25.4 1"-8UNC | M24X3.0 A032-008 _MTA4-75 32.0-50.0 75 50 32.0-50.0
A030-018 —FMA47.625-150 150 A032-009 —-MTA5-83 50.0-75.0 83 65 50.0-75.0
A030-019 —FMA47.625-200 200
NT-APU ZREEHEE b
SEi=X 28 Drill Chuck Holder NT-APU
DIN 2080
NT-SLA iﬂlllil:tﬁiﬂtﬁ Side Lock Holder NT-SLA s
DIN 2080 o
55 i. a
B 13 I , — T LB | —
|
| | | o
°| © F B g L D kHEE DRAWBOLT
T Serial number Cat.No Clamping Range
A033-001 —~APU13-110 50 1-18
It NT40 5/8"-11UNC | M16X2.0
B A033-002 ~APU16-110 110 57 3-16
L A033-003 —-APU13-110 50 1-13
NT50 1"-8UNC | M24X3.0
A033-004 -APU16-110 57 3-16
o o #iWF/EFTE  The spanner must purchase alone
Seﬁl nu‘jrﬁ)er gCl_Jat st di d2 I 12 Is INC:RAWBOII\_/I-II—ETRIC *ﬁ ﬁ - i i
A031-001 -SLA16-60 16 45 60 24 M14X2.0 Eg Taper Sleeves
A031-002 -SLA20-65 20 50 65 25 M16X2.0
A031-003 NT40 -SLA25-75 25 75 24 25 M18X2.0 | 5/8"-11UNC M16X2.0
A031-004 -SLA32-90 32 60 90 24 28
M20X2.0
A031-005 -SLA42-100 42 80 100 30 32
A031-006 -SLA16-63 16 45 63 24 — M14X2.0
A031-007 -SLA20-63 20 0 24 M16X2.0
25
A031-008 NT50 -SLA25-75 25 75 24 M18X2.0 | 1"-8UNC M24X3.0
A031-009 -SLA32-80 32 60 80 24 28 M20X2.0 4o o It D da K Kz T DRAWBOLT
A031-010 -SLA42-100 42 80 100 30 32 Serialnumber Gatho el BIEINIC
A034-001 -TSA40U-75 75
85 8 16 M16X2.0P | 5/8"-11UNC | M16X2.0
A034-002 _ - 100
BT50 TSA40U-100 100
A034-003 -TSA50U-100 100
104 12 25.4 5/8"W11 1"-8UNC | M24X3.0
A034-004 -TSA50U-150 150

TSAB0 $#]782T# The spanner must purchase alone

PO PO
A46 A47



YAPO n/’/'ﬁ Tool Holder

CAT-ER ¥t 71# Collet Chuck CAT-ER CAT-EM MUE R 7I# £nd Mill Holder CAT-EM

{2 13, 12
il |
|
L o 12l
s \
| / | T1m T ;T %
| &) :
4 1 o
) - -
L
AR U 1= FRNE =& H Cil I
Serial number Cat.No I d1 T Applied Nuts Weight (kg ) Serial number Cat.No d1 11 12 d2 T
A035-001 -ER11-2.75" 2.75" 0.95 A036-001 -EM1/8-2.31: 1/8 2.31: 0.370" 0.79" 3/16-24
A035-002 -ER11-4" 4" 0.75" M6X1.0P ERT1 1.2 2822'885 'EEI\’/‘I"31//186'42-7321 . ‘2‘;-12
A035-003 “ER11-6 6" 1.35 A036-004 “EM3/16-2.50" | 3/16 250" | 0.562" | 0.984" 1 /a-20
A035-004 -ER16-2.75" 2.75" 1.05 A036-005 -EM3/16-4.72" 4.72"
A035-005 -ER16-4" 4" 1.102" M10X1.5P ER16 1.35 A036-006 -EM1/4-2.50" 1/4 2.50"
A035-006 -ER16-6" & 1.65 A036-007 -EM5/16-2.50" 2.50" 0.630" 1.38"
A035-007 “ER20-2.75" 2 75" 125 A036-008 -EM5/16-3.00 5/16 3.00 5/16-18
. - ) s A036-009 -EM5/16-4.72" 472"
A035-008 -ER20-4 4 1.339 M12X1.75P ER20 . 2036070 “EM3/8-2.50 " 378 5207 S E— 37816
A035-009 -ER20-6" 6" 2.15 A036-011 CAT40 -EM7/16-3.00" 7/16 3.00" ’ )
A035-010 -ER25-2.75" 2.75" 1.35 A036-012 -EM1/2-2.50" 12 2.50" 7/16-14
A035-011 CAT40 | -ER25-2" 2 1.654" ER2S 17 A036-013 -EM1/2-2.62" 2.62" 0.875" 1.75
LD ST T > o= A036-014 ~EM9/16-3.00 9/16 3.00"
M16X2P A036-015 -EM5/8-3.00 3.00 ., . 1/2-13
A035-013 -ER32-2.75" 2.75" 1.25 2036-016 “EM5/8-3.75" 5/8 3757 0.937 1.85 /2-
A035-014 -ER32-4" 4" 1.969" ER32 1.75 A036-017 -EM3/4-3.00" 3/4 3.00° 1 4000" | 1.929"
A035-015 -ER32-6" 6" 2.25 A036-018 “EM3/4-3.75" 3.75" : : 5/8-11
A035-016 -ER40-3.18" 3.18" 1.80 2822-8;(9) —EIEVI'\%S‘—‘Sde" 748 ‘31.38:: 1.063" 2.36"

- - -4" " " . . W= : " 56" 4-1
A035-017 ER40 4” 4" 2.480 M20X2.5P ER40 2.05 A036 021 “EM11/4-4 25" /3 YETE 1.125 2.56 3/4-10
A035-018 -ER40-6 6 3.30 A036-022 “EM1/8-4.00" 1/8 4.00" 0.563" 0.75" 3/16-24
A035-019 -ER16-4" 4" 4.10 A036-023 -EM3/16-4.00" 3/16 4.00" ' ' 1/4-20
A035-020 _ER16-6" 6" 1102 M10X1 5P ER16 4.28 A036-024 -EM1/4-2.50" 1/4 2.50" 0.781" | 0-8125"

- - — . A036-025 -EM5/16-4.00" 5/16 4.00" ' 0.758" 5/16-18
A035-021 ER16-8 8 >:20 A036-026 EM7/16-4.00" 7/16 4.00" 0.875" 1.25" 3/8-16
A035-022 “ER20-4° ad .20 A036-027 CEM9/16-4.00" | _9/16 400" | 0.880" 1.38" 7/16-14
A035-023 -ER20-6 6 1.339" M12X1.75P ER20 4.45 A036-028 -EM3/8-2.50" 3/8 2.50" 0.781" 1" 3/8-16
A035-024 -ER20-8" 8" 5.25 A036-029 -EM1/2-2.63" 12 2.63" 0.875" 1.38" 7/16-14
A035-025 -ER25-4" 4" 4.15 A036-030 -EM1/2-4.62" 4.62" 0.938" 175"

z z A036-031 CAT50 -EM5/8-3.00" 3.00" : '
A035-026 CAT50 | -ER25-6 6 " 4.50 5/8 1/2-13
A e _ 1.654 ER25 2o A036-032 -EM5/8-3.75" / 3.75" 1.000" 2.047" /

i - - 8 M16X2P : A036-033 -EM3/4-3.75" 3/4 3.75" 1.063" 2.375" 5/8-11
A035-028 -ER32-4 4" 4.20 A036-034 -EM7/8-3.75" 7/8 3.75" 2.75"

A035-029 -ER32-6" 6" 1.969" ER32 4.60 A036-035 -EM1-4.00" 1 4.00"
A035-030 “ER32.8" g 555 A036-036 -EM11/4-4.00" 11/4 4.00" | 125 314"
- - A036-037 -EM11/2-4.00" 4.00" : :

- -ER40-4 4.80 3/4-10
A035-031 . 4" A036-038 -EM11/2-4.25" 1172 4.25" /
A035-032 -ER40-6 6 2.480" M20X2.5P ER40 s A036-039 “EM13/4-4.00" | 13/4 4.00”

A035-033 -ER40-8" 8" 5.55 A036-040 -EM2-5.630" 2 5.63" 1.188" 3.938"
PO PO



PO
A50

YAPO]]/’/'ﬁ Tool Holder

CAT-SM H %t 7188 shell Mill Holder CAT-SM

MR B R L d1 1 d2

Serial number Cat.No

A038-001 -MT1-1.75" | 4.437 1.000” 1.75” 0.475”

A038-002 -MT2-2.44" 5.1277 1.250” 2.44 0.700”
CAT40

A038-003 -MT3-3.00” | 5.687” 1.750” 3.00” 0.938”

A038-004 -MT4-3.88" 6.567” 2.000” 3.88” 1.231”

A038-005 -MT2-2.00” 6.000” 2.00” 0.700”

1.620”

A038-006 -MT3-2.50" | 6.500” 2.50” 0.938”
CAT50

A038-007 -MT4-3.38” 7.3807 2.000” 3.38” 1.231”7

A038-008 -MT5-4.62” 8.620” 2.750” 4.62” 1.748”

Seﬁlnfber %at.l\fi |1 L2 D d1 k1 k2
A037-001 -SM3/4-1.38" | 1.38”

A037-002 -SM3/4-1.50" | 1.50” 1.75” 0.75 0.312
A037-003 -SM3/4-4.00" | 4.00” ,
A037-004 -SM1-1.50" | 1.50” 0-178

A037-005 -SM1-2.00" | 2.00” 2.25 1.00” 0.375”
A037-006 | CAT40 | .SM1-4.00" | 4.00”

A037-007 -SM11/4-1.62’| 1.62”

A037-008 SM11/4-2.25"| 2.25” 2.75" | 1.25" | 0.263" | 0.50"
A037-009 -SM11/4-4.00’| 4.00”

A037-010 -SM11/2-2.25"| 2.25” \ ) , ; )
A037-011 -SM11/2-4.00’| 4.00” 0.6887) 375 150 0-9007| 0.625
A037-012 -SM3/4-1.50" | 1.50”

A037-013 -SM3/4-3.50" | 3.50” 1.75” 0.75” 0.312”
A037-014 -SM3/4-5.50" | 5.50” 0.178”
A037-015 -SM1-2.00" | 2.00”

A037-016 _SM1-4.00" | 4.00” 2.257 | 1.00° 0.375"
A037-017 -SM1-6.00" | 6.00”

A037-018 -SM11/4-1.50"| 1.50”

A037-019 _SM11/4-3.50"| 3.50” 275" | 125" 1 0.263" | (50
A037-020 | CAT50 |.SM11/4-5.50"| 5.50"

A037-021 -SM11/2-2.40"| 2.40”

A037-022 -SM11/2-4.00"| 4.00” 3.75" 1.50” | 0.350" | ¢.625”
A037-023 -SM11/2-6.00"| 6.00" | ) g7

A037-024 -SM2-2.40" | 2.40” 0.387”
A037-025 -SM2-4.00" | 4.00” 2.00” 0.383" | 0:750’
A037-026 -SM2-6.00" | 6.00Q” 4.88" '

A037-027 -SM21/2:2.40"| 2.40" | 4 130 050" | 0.472” "
A037-028 -SM21/2-6.00"| 4.00”

A51



PO
A52

YAPO n/’/'ﬁ Tool Holder

BT-TA

B EE TestBarBT-TA

® % LU b 1
Serial number Cat.No
A039-001 _ -
BT30 TA30-200 30 200
A039-002 -TA30-250
250
A039-003 -TA40-250
A039-004 BT40 -TA40-300 40 300
A039-005 -TA40-350 350
A039-006 -TA50-300 315
A039-007 BT50 -TA50-350 50 350
A039-008 -TA50-400 400

NT-TA

WO

BIEREE TestBar NT-TA

Serial number Cat.No D L BRDW BOR
A040-001 ~TA30-200 W1/2-12
NT30 30 300
A040-002 -TA30-300 M12-1.75P
A040-003 -TA40-250 250
W5/8-11
A040-004 NT40 -TA40-300 40 300
A040-005 -TA40-350 350 M-16-2.0P
A040-006 -TA50-300 300
Ww1"-8
A040-007 NT50 -TA50-350 50 350
A040-008 -TA50-400 400 M24-2P
A040-009 -TA30-200
HSK40 30 300
A040-010 -TA30-300
A040-011 -TA40-250 250
A040-012 HSK50 -TA40-300 40 300
A040-013 -TA40-350 350
A040-014 -TA50-300 300
A040-015 HSK63 -TA50-350 50 350
A040-016 -TA50-400 400

ER SEM K trcollet

L [ [ ] e
L
o T A N =
ﬁ_ﬁ 5 B 5 D L = l%,ﬁ A AA,Q,& Kﬁiﬁ
Serial number Cat.No Normal grade Clamping range
A041-001 ER11 11.5 18 0.5 0.5-7
A041-002 ER16 17 27.5 1-10
0.015
A041-003 ER20 21 31.5 1-13
0.01 S5u
A041-004 ER25 26 34 1.0 2-16
A041-005 ER32 33 40 3-22.2
0.02
A041-006 ER40 41 46 4-26
BERAEERERK strai
I\ Straight Shank Collet Chuck
SR -
.
o D 3 3
1 ‘
i L
g o >
B i di de L I & A3t B
erial number Cat.No Applied Range
A042-001 Cc20 20 25 52.50 49 3,4,5,6,8,10,12,14,15,15.6,16
A042-002 C25 25 30 59 56 3,4,5,6,8,10,12,14,16,18,20
A042-003 C32 32 37.50 63 60.7 3,4,5,6,8,10,12,15,15.6,16,19,20,24,25
A042-004 C42 42 47 80 77 6,8,10,12,15,15.6,16,19,20,24,25,32

SKS =i JIFEMERI T High Speed SKS Collet

12 ‘
L
® W I ¥4 35 H BEZRA/IAA
Serial number Cat.No Clamping Range Accuracy Grade
A043-001 SKS6 0.8~6
A043-002 SKs10 1.75~10
A043-003 SKS16 3~16 A=8u AA=3u
A043-004 SKS20 4~20
A043-005 SKS25 8~25

PO
A53



YAPO]]/’/' Tool Holder

ER M218 £r Nuts B ET pull stud

ﬁ( %—T 30-:& |
—|lO| © é’ == (el s
A ™)
E’Ij v XL 1 PO, - 0O A
Q L ‘ L[
M & UM/RD % AR
M Type UM/RD Type A Type
B y g B 0 g
Seﬁlmfber g(:Jat.l\:j:;ﬁ D d L T Seﬁln:fber gClat f a D d1 d2 ds d4 11 12 L w T
A044-001 ER11A 19 17 11.3 M14X0.75P A046-001 BT30 16.5 11 7 12.5 23 18 42 14 M12
A044-002 ER16A 28 21 18 M22X1.5P A046-002 BT40 45 23 15 10 17 - 35 28 60 19 M16
A044-003 ER20A 34 25 19.5 M25X1.5P A046-003 MAS 403 BT50 60 38 23 17 25 45 35 85 30 M24
A044-004 ER8M 12 10.8 M10X0.75P A046-004 BT40-W 90 23 15 10 17 4 35 28 60 19 M16
A044-005 ER11M 16 12 M13X0.75P A046-005 BT50-W 38 23 17 25 7 45 35 85 30 M24
A044-006 ER16M 22 — 18 M19X1.0P A046-006 30-A 17 13 9 13 — 24 19 44 14 M12
A044-007 ER20M 28 19 M24X1.0P A046-007 DIN 69871 40-A 15 23 19 14 17 7 26 20 54 19 M16
A044-008 ER25M 35 20 M30X1.0P A046-008 50-A 36 28 21 25 11.5 34 25 74 30 M24
A044-009 ER25UM/RD 42 32 M32X1.5P A046-009 MAZAK BT40 22 18.8 | 12.45 17 7 19.1 14 441 19 M16
A044-010 ER32UM/RD 50 38.5 23.5 M40X1.5P A046-010 BT50 37 29 20.83 25 10 252 | 17.58 | 65.2 30 M24
A044-011 ER40UM/RD 63 48.3 25.5 M50X1.5P A046-011 30-A 17 12 8 13 = 24 19 44 14 M12
A044-012 ER50UM/RD 78 60 35 M64X2.0P A046-012 40-A 45 23 19 14 17 7 26 20 54 19 M16
A044-013 GER11A 19 17 11.3 M14X0.75P A046-013 S0 50-A 36 28 21 25 11.5 34 25 74 30 M24
A044-014 GER16A 28 21 18 M22X1.5P A046-014 30-B 17 13.3 9.3 13 — 11.8 8.1 27 14 M12
A044-015 GER20A 34 25 19.5 M25X1.5P A046-015 40-B 22.5 | 18.95 | 12.95 17 7.35 | 16.4 | 11.15 | 445 19 M16
A044-016 GER25UM/RD 42 32 20 M32X1.5P A046-016 50-B 36 29.1 19.6 25 11.55 | 25.55 [ 17.95 | 65.5 30 M24
A044-017 GER32UM/RD 50 38.5 23.5 M40X1.5P A046-017 30 16.5 12 8 12.5 4 23.4 43 14 M12
A044-018 UER16 22 18 M19X1.0P A046-018 JIS B6339 40 75 23 19 14 17 7 - 29 54 19 M16
A044-019 UER20 28 B 19 M24X1.0P A046-019 50 38 28 21 25 10 34 74 30 M24
| F
= i 7) 41 % R 4R 08
SK/GSK&i% 7] B SK-GSK Nuts - - Wrench
i ' f r
i E L © D T ~ Ep’ O "‘-l—.J 0
Serial number Cat.No
A045-001 SK6-A 15 18 M15.5X1.0P o 1
A045-002 SK10-A 17 26 B M21.5X1.0P “‘«_ y —" o T %
A045-003 SK16-M 24.5 40 M32X1.5P
A045-004 SK20-M 28 55 M40X1.5P A047-001 B0 AType ER11 ER16 ER20 SKA06 SKA10
A045-005 SK25-M 30 55 M45X1.5P Tt
A045-001 GSK6 21 _ 19.5 M15.5X1.0P ( A047-002 +0O% UM Type ER25 ER32 ER40 ER50
A045-002 GSK10 24 27.5 M21.5X1.0P - o F e
A045-003 GSK16 31 40 M32X1.5P - A047-003 R M Type ER8 ER11 ER16 ER20 ER25
A045-004 GSK20 28 40 M32X1.5P L ‘ L ‘7
A045-005 GSK25 37 55 M45X1.5P I I A047-004 ATER C Type APU13 C20 C25 c32 c42
A047-005 =g O Type GSKO06 GSK10 C20 c25 c32
VAL | Z2)PO

A54 A55



YAPO n/’/'ﬁ Tool Holder

SiER Edge Finder : BEER Reference Data r Ls d1

UT

d

.
i
-

L2 g1g . L1
- L A
A M RmEZ:DIN 228 < -
bt LERE
TYPE D D1 di @® H b b @ - R r TR shSkERTER
o B (mm)
B8 3 & D1 L1 L2
erainumoer atNo MTOA 9.045 9.201 6.104 6 56.5 59.5 3.9 6.5 10.5 4 1 -
A048-001 PM-20 20 77 35 MT1A 12.065 | 12.240 8.972 8.7 62.0 65.5 5.2 8.5 13.5 5 1.2 3.00-14.00
A048-002 PM-32 32 71 40 MT2A 17.780 | 18.030 | 14.034 13.5 75.0 80.0 6.3 10.0 16.0 6 1.6 14.00-23.00
A048-003 PM_10 90 FIG:1 MT3A 23.825 | 24.076 | 19.107 18.5 94.0 99.0 7.9 13.0 20.0 7 2 23.00-32.00
- 10
A048-004 82.8 FIG:2 MT4A 31.267 | 31.605 | 25.164 24.5 117.5 | 124.0 11.9 16.0 24.0 8 2.5 32.00-50.00
MT5A 44.399 | 44.741 36.531 35.7 149.5 | 156.0 15.9 19.0 29.0 10 3 50.00-75.00
C " ,EZ_’ MT6A 63.348 | 63.765 | 52.399 51.0 210.0 | 218.0 19.0 27.0 40.0 13 4 75.00-100.00
LD_BT/DAT/ AT gﬁn i MT7A 83.058 | 83.578 | 68.185 66.8 286.0 | 296.0 28.6 35.0 54.0 19 5 -
Tool Holder Locking Device BT/DAT/CAT/HSK B
B #85F#:DIN 228
TYPE 0/2TYPE dA d2 ds d4 L 11 12 13 T
MT2B 1°25'50" 17.780 10.5 14 18 69 64 5 24 3/8"W16,M10x 1.5P
MT3B 1°26'16" 23.825 13 19 24.1 86 81 7 24 1/2"W12,M12x 1.75P
MT4B 1°29'15" 31.267 17 25 31.6 109 102.5 9 32 5/8"W11,M16 x 2.0P
MT5B 1°30'26" 44.399 21 35.7 44.7 136 129.5 10 40 1"W8,M24 x 3.0P
60°
Le
z 30°
W 12 I3 H W 1 .
Serial number
A049-001 Bt30 ;
210 95 10 15 130 100 T - ‘m
A049-002 BT40 3l8ls RSP 5, 5| O i
A049-003 BT50 275 113 20 24 200 150 = W
A049-004 DAT30
210 95 10 15 130 100 I
A049-005 DAT40 L1 f1
A049-006 DAT50 275 113 20 24 200 150 A8 . DIN 69893 f2
A049-007 LD CAT30 d10
210 95 10 15 130 100 f2
A049-008 CAT40 HSK b1 di1 d2 ds max d16 f1 i) 11 I6
A049-009 CAT50 275 13 20 24 200 150 63 12.54 63 48 40 53 M18x1.0 26 42 32 18.13
A049-010 15030 100 20.0 100 75 63 85 M24x1.5 29 46 50 28.56
A049-011 HSK40
7/24 TAPER
A049-012 HSK50 d1
A049-013 HSK63
J
- “ 60
TihiFRE
. WO 28R RE H
S pl n d I e C I ea n e r Serial number Cat.No Teper NO
o A050-001 w25 7:24 Le
B A050-002 w30 7:24 ZABEFIE: DIN 2080 R EIZERATS
[ A050-003 W40 7:24 D3 a
TYPE D d1 d2 a 11 12 13 |14 15 16 H T
A050-004 W50 7:24 MNI.  +0.001
f A050-005 HSK-W63 1:10 NT 30 49 | 31.75 | 16.1 14 - 1.6 | 68.4 | 48.4 3 24 8 = = 1/2"13W12M12 x 1.75,1/2"UNC 13
NT 40 63 | 44.45 | 16.1 19 16.1 16 | 93.4 | 654 5 32 10 | 22.5 | w63 5/8"W11,M16x2.0P
NT 50 | 97.5 | 69.85 | 25.7 | 25 | 257 | 3.2 | 126.8| 101.8| 8 47 12 | 35.3 | w975 1"W8,M24 x 3.0P
| ZPO VA4

A56 B A57



YAPO]]/’/' Tool Holder

e B = &
9%%1’ Reference Data JTIX - memorandum
0. 625"
e — '
T u
60 2oy | 3 A
D6 -
0.125”
$0.375”DRILLX0. 015" DEEP
Z#l: ANSIB5.50 HERBEFEERATI
D d2 ds  da ds g I Iz 1s | la le g T
6
TYPE +0.002 di £0.002 +0.01 %0.015 +0.001 +£0.005  Min £0.01 | 65 | —o'cds | =0.01 UNC 2B
CAT30 | 1.812 | 1.25 | 2.176 | 1.531 | 0.516 | 0.645 | 0.2813 | 1.875 | 1.00 | 0.188 | 0.735 | 0.64 0.44 0.500-13
CAT40 | 2.500 | 1.75 | 2.813 | 2.219 | 0.641 | 0.645 [ 0.2813 | 2.687 | 1.12 | 0.188 | 0.985 | 0.89 0.44 0.625-11
CAT45 | 3.250 | 2.25 | 3.613 | 2.969 | 0.766 | 0.770 | 0.2813 | 3.250 | 1.50 | 0.188 | 1.235 | 1.14 0.44 0.750-10
CAT50 | 3.875 | 2.75 | 4.238 | 3.549 | 1.031 | 1.020 [ 0.2813 | 4.000 | 1.756 | 0.250 | 1.485 | 1.39 0.44 1.000-08
a, L5
60°
d1 -
L3
L4
)
%I | g slo|s 5[
7/24TAPER 3 L
L2 ds,
L1 Le
AP : MAS 403 HEREELERBATI
TYPE D d1 d2 ds d4 ds ds d7 h I2 13 la I le a T
BT30 46 | 31.75|56.14| 38 | 125 | 16.1 8 16.1 70.4 | 48.4 | 34 24 20 | 16.3 2 Mi12x1.75P
BT40 63 | 44.45 [75.679| 53 17 | 16.1 10 16.1 92.4 | 65.4 | 70 30 25 | 22.6 2 M16x2.0P
Bt50 100 | 69.85 [119.02| 85 25 | 257 | 15 25.7 | 139.8 | 101.8| 90 45 35 | 35.4 3 M24 x 3.0P
15.9
D1
L2 |
L3 Jm
60 gm T - glol & ’ Ul — 3
20
7/24/ §¢7 - L6
L1 3.2 L4 L5
I
DAT Z8&#3#%: DIN 69 871-A(Fig1),DAT ZA&#2#7#&: DIN 69 871-B(Fig2) HERZRIEESATS
ds €4 e2
TYPE D d1 d2 ds i ds de 11 I2 13 14 Is le oo | oo
DAT30 50 31.75 | 59.30 | 44.30 13 16.1 4 47.8 33.5 24 19 16.4 15 21 5
DAT40 | 63.55 | 44.45 | 75.30 | 56.25 17 16.1 4 68.4 42.5 32 25 228 | 18.5 27 5
DAT50 | 97.50 | 69.85 |107.25| 91.25 25 25.7 6 101.75 | 61.5 47 37.7 | 355 30 42 7
\ZIPO ZPO
B 459

A58



Indexable Milling Cutter Bar/ Face Mill Cutter

iﬁ]]/’/-}-&]]m MFT 853f8H5F J71#F Tungsten Boring Carbide Bars
I

S 1T
[ e J

\ L |

SR B O3
Serial number Cat.No L M D2 D
B007-001 -16-100-M08 100
B007-002 -16-150-M08 150
MFT16 M8x 1.25 8.5 16
B007-003 -16-200-M08 200
B007-004 -16-250-M08 250
B007-005 MFT19 -19-200-M10 200 19
B007-006 -20-100-M10 100
B007-007 -20-150-M10 150
M10x 1.5 10.5
B007-008 MFT20 -20-200-M10 200 20
B007-009 -20-250-M10 250
B007-010 -20-300-M10 300
B007-011 MFT24 -24-200-M12 200 24
B007-012 -25-100-M12 100
B007-013 -25-150-M12 150
M12x1.75 12.5
B007-014 MFT25 -25-200-M12 200 25
B007-015 -25-250-M12 250
B007-016 -25-300-M12 300
B007-017 MFT29 -29-250-M16 250 29
B007-018 -32-150-M16 150
B007-019 -32-200-M16 200
M16x2.0 17
B007-020 MFT32 -32-250-M16 250 32
B007-021 -32-300-M16 300
B007-022 -32-400-M16 400

VYA L%
B3 o1



YAPO iﬁﬂ/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

EMRM-R [E7) st 7N+ AHUM HfSRISKNHT
Indexable Rounded Milling Cutter Bar Indexable Right Angle Shoulder Milling Cutter Bar

T gnT | M 9AmT ﬁmmn; ﬂﬁfmnj d BENT m amam; EFEGLN

Roughing Pockot milling Sloot plunge milling Shoulder milling Copy milling Roughing Pockot milling Soot plange milling Shoulder milling Copy milng
B b -
BL o © t
O 2 [a]

M

L
% % LI R size Teeth 7k iR B4 BE
Serial number Cat.No D L d M nsert clamp piece  clamp screw wrenc R~ A
WS B 3R RINSIZE T T R ; wF
i eeth 2
B001-001 _AR-16-M8 16 8.5 M8 Serial number Cat.No D L d M Insert clamp screw wrench
35 RPMT0802MO Y-4R M3x7 T10
B001-002 -4R-20-M10 20 10.5 | M10 B001-019 -16-M8-11 16 a5 8.5 M8 5
B001-003 -5R-25-M12 25 12.5 M12 2 B001-020 -20-M10-11 20 10.5 M10 JDMT100308 M2.5X6 T8
B001-004 EMRM -5R-30-M16 30 RPMT1003MO Y-5R M4x10/M3.5x10 B001-021 -25-M12-11 25 3
AHUM 12.5 M12
B001-005 -5R-35-M16 35 40 17 | m1e T15 B001-022 -25-M12-16 25 )
B001-006 -6R-30-M16 30 B001-023 -30-M16-16 30 40 | JDMT150408 M4X9 T1s5
RPMT1204MO |  Y-6R M4x10 M16
B001-007 -6R-35-M16 35 3 B001-024 -35-M16-16 35 3
—_
TRSM-R E VIt 7I#F N TJUM SBSE7I+F )
Indexable Rounded Milling cutter bar vane | Loz | | ssmnt | lseases Drilling Milling Cutter Bar
Roughng Fockotmiing  Sootplungemiling  Shouldor miling Conyming N T SEMT W AT ABEm STEHEM
Roughing Fookatmiing  Siootplngemiing  Shoudermiling Copymiling
&% LI R size . 7 H 15 1247 wF
Serial number Cat.No D L d M Insert Insert clamp screw wrench 4 o EiU - R size Teeth Tk 3 T
Serial number Cat.No D L d M ee Insert clamp screw wrench
B001-008 -4R-16-M8 16 3 8.5 M8
5 RPMT0802MO Y-4R M3x7 T8 CCMT060204
B001-009 _4R-20-M10 20 105 | M10 B001-025 -16-2T-M8 16 35 8.5 VE] CPMT0802042 M2.5x6 T8
2 CCMT060204
00 TRSM Doz o 25 125 | M2 B001-026 UM -20-2T-M10 20 35 10.5 | M10 ) CPMT0902047 M2.5x6/M3.5x8 T8/T15
CCMT090308
B001-011 _5R-30-M16 so | a0 | RPMT10T3MO Y-5R | M3.5x10/M4x9 s B001-027 =AS-EU=UE 23 40 | 125 | M2 CPMT1203082 M4x9 Ti5
CCMT120408
B001-012 -5R-35-M16 35 3 B001-028 -32-2T-M16 32 40 17 M16 CPMT160408Z M5x12 T20

= v 1]
BAPM EHMAERIASEIIHF T2139M IRBIFESE ) =]
. - . e A
Indexable Right Angle Shoulder Milling i wan: | |0 on:) WOWRLD [trmues indexable Ball Nose Milling Cutter Bar - L’ H
Foooimiing —  Sootpungemiing  Shoudarmiing Comymin T aotmm ETEGBNT
C u tte r B ar Fiane fmishing Shoulder milling Topy g
~ ‘
{ s ,
w B
o B g R+ size Tooth T iR 247 RF & %= B o5 R+ size S 7K 147 RE
Serial number Cat.No D L d M Insert Insert clamp screw wrench Serial number Cat.No D L d M Insert Clamp screw wrench
B001-013 -16-M8-11 16 | [ 85| M8 ) B001-029 -6R-M6 12 6.5 M6 P 32001-D 12 T2139-6R
B001-014 ~20-M10-11 20 10.5 | M10 APMT1135PDER M2.5X6.5 T8 B001-030 -8R-M8 16 35 8.5 m8 P 32001-D 16 T2139-8R T20
B001-015 -25-M12-11 3 B001-031 ~10R-M10 20 10.5 | M10 P 32001-D 20 T2139-10R
BAPM 25 12,5 | M12 — T2139M 1
B001-016 -25-M12-16 0 B001-032 -12.5R-M12 25 125 | M12 P 32001-D 25 T2139-12.5R
2
B001-017 -30-M16-16 30 7 | wie APMT1604PDER M4 x9 T15 B001-033 -15R-M16 30 40 - M16 P 3200J-D 30 T2139-15R T30
B001-018 -35-M16-16 35 3 B001-034 -16R-M16 32 P 32001-D 32 T2139-16R
PO «

B02 B03



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

BAP EfERBE#tNE

Right Angle Shoulder Milling Cutter Bar EMRW [EEmsknNse
ﬂk/‘ EH é% =T L/
T T ganr | #wwz | ( apEn SFEGEM ounde iHin utter Bar T T panr | L ez | | apEm SFEGEM
_ M m Rounded Milling C B H

Roughing Plane finishing Pockot milling Sioot plunge milling Shoulder miling Copy milling Roughing Plane finishing Pockot milling Sioot plunge milling ‘Shoulder milling Copy milling

bd

@d
U
g P
L '—1
I
)
D
WO Tk H2FT wF !
Serial number " Insert Clamp screw wrench o o = .
® % B R size K AR 4257 ik
B008-001 _40-16-5T 40 16 40 8.4 Serial number Cat.No D d H W Insert Clamp piece clamp screw wrench
BAP300R APMT 1135 PDER M2.5x 6 T8
B008-002 -50-22-6T 50 B010-001 -50-22-4T 50 5p 104
B008-003 -50-22-4T 50 22 10.4 B010-002 —-63-22-4T 63 50 '
B008-004 -63-22-4T 63 50 B010-003 -80-27-6T 80 27 12.4
B008-005 -80-27-6T 80 27 12.4 B010-004 -100-32-6T 100 32 14.4
B008-006 -100-32-6T 100 32 14.4 B010-005 -125-40-7T 125
EMRW-6R 40 16.4 | RPMW/T 1204 MO Y-6R M4x10 T15
B008-007 -125-40-7T 125 40 164 B010-006 -160-40-8T 60 63
B008-008 -160-40-8T 160 63 ' APMT 1604 PDER B010-007 -200-47.625-9T | 200 |(47.625 25.4
BAP400R M4x10 T15
B008-009 -200-47.625-9T | 200 |47.625 25.7 APKT 1604 PDSR B010-008 -63-25.4-4T 63 054
. 10
B008-010 -63-25.4-4T 63 B010-009 -80-25.4-6T 80 50
25.4 10
B008-011 -80-25.4-6T 80 50 B010-010 -100-31.75-6T | 100 |31.75 13
B008-012 -100-31.75-6T | 100 |31.75 13
B008-013 -125-38.1-8T 125 | 38.1 63 16.2 RZOO =] ﬁﬁnﬁ
=|j==1
B008-014 -160-50.8-9 160 | 50.8 19.3 =197 ' m
Rounded Milling Cutter Bar Hm: #_man 'ammn; sxEbTH
Roughg Frane ey Fodotmiing — Soolplumgemiing Showdermiing Conymiing
. &d
EMR [ESmEt7H# e
H| = allis7/nz
Rounded Mlllmg Cutter Bar T HinT #RMT #. AT EHEM ETEGHM
Roughing Plane finishing Sloot.plung: 9 Copy milling
) T
w, @
E{_*‘ o
2 H & 1
oD
T
w % U R size T AR £ HF
@ Serial number Cat.No D d H W Insert Clamp piece clamp screw wrench
ﬂt = -50-22-4T 50
‘ m* B011-001 20 10.4
D B011-002 -63-22-4T 63
: R200-5R RCLIT 10T3 MO Y-5R mgg:?:
. B011-003 -80-27-6T 80 27 12.4 :
® = g R size K 4257 4247 HF
Serial number Cat.No D d H W Insert Clamp screw Clamp screw wrench B011-004 -100-32-6T 100 32 14.4 115
— -50-22-4T 50
B009-001 _50-22-4T 50 EQIN=00 22 10.4
22 10.4
B011-006 -63-22-4T 63
B009-002 -63-22-4T 63 50 R200-6R 50 RCLIT 1204 MO Y-6R M4 x10
= -80-27-6T 80 27 12.4
B009-003 _80-27-6T 8o | 27 12.4 B0 007
_ -100-32-6T 1 2 .
B009-004 ~100-32-6T 100 | 32 14.4 Bo11-008 o s 4.4
RPMW 1003 MO M4x10 B011-009 -63-22-4T 63 22 10.4
B009-005 EMR-5R | -125-40-7T 125 | 63 | 16.4 | RPMT 10T3 MOE Y-5R M3.5x10 T15 PP s po —
B009-006 ~160-40-8T 160 B011-010 i
— -100-32-6T 100 32 14.4
B009-007 -63-25.4-4T 63 EOII=01 R200-8R RCOT 1606 MO M5x12 T20
25.4 10 B011-012 -125-40-6T 125
B009-008 -80-25.4-6T 80 50 40 16.4 Y_8R
— -160-40-8T 160
B009-009 -100-31.75-6T | 100 | 31.75 13 BOMI013
B011-014 -200-47.625-9T 200 |47.625| 63 25.7
B011-015 -100-32-5T 100 32 14.4
R200-10R RCLIT 2006 MO M5x12/M6x 18| T20/T30
B011-016 -125-40-6T 125 40 16.4
VA8 ZPO

B06 B07



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

Rougnng Foskotmiling Stoot prange miing Shoulder miling Copymitng Roughing Pockot milling Sioot.plunge milling ‘Shoulder milling Copy milling

AJX BRSNS — = SKS HREMTI I —  [F R
Hi-Feedl’ate Face Ml” Cutter B, IAMT SWEM SEEERM HI_Feedrate Face Mi” CUtter BT AT AHEmM EFEHEM

>D1
od
W,
- ¥
gilln7Zm=|
! I}
I
‘ ®
i
D2
oD ‘
" s D D1 D2 d H w T a Serial number CatNo b D ¢ H w T
Serial number Cat.No
B002-013 SKS80-50-22-4T 50 47 22 50 10.4 6.3
B002-001 AJX12-50-22-3T 50 47 38.3 22 50 10.4 6.3 1.5
B002-014 SKS80-63-22-4T 63 60 22 50 10.4 6.3
B002-002 AJX12-50-22-4T 50 47 38.3 22 50 10.4 6.3 1.5
B002-015 SKS80-66-27-4T 66 60 27 50 12.4 7
B002-003 AJX12-63-22-4T 63 60 51.3 22 50 10.4 6.3 1.5
B002-016 SKS80-80-27-5T 80 70 27 55 12.4 7
B002-004 AJX12-63-22-3T 63 60 51.1 22 50 10.4 6.3 2
B002-017 SKS80-100-32-6T 100 90 32 55 14.4 8
B002-005 AJX12-63-22-4T 63 60 51.1 22 50 10.4 6.3 2
B002-006 AJX12-80-22-4T 80 76 68.1 27 50 10.4 7 2
B002-007 AJX12-100-22-5T 100 96 88.1 32 50 10.4 8 2

AHUB HfaERmEstN B
TXP tRiELESENE Right Angle Shoulder Face Mill Cutter

Hi-Feedrate Face Mill Cutter
" AT WL BRMmT . AT 2R Em EFELFM
Roughing Plane finishing Pockot milling Sloot.plunge milling Shoulder milling Copy milling
FEMI . IAmL AHEmM EFEGHMNT
Rougning Fockotmiling Slootplunge miling _ Shoulder miling Cony milng @d
W
[—
{
T
@,
‘ PD |
1
f
WS LU WS B 5
Serlalinumber CEltD P D1 D2 d H w T a Serial number Cat.No D d H w T a
B002-008 TXP06-50-22-4T 50 47 41.4 22 50 10.4 6.3 1.5 B003-001 AHUB-50-22-4T 50 22 50 10.4 6.3 16
B002-009 TXP06-50-22-3T 50 47 38.6 22 50 10.4 6.3 1.5 B003-002 AHUB-63-22-4T 63 22 50 10.4 6.3 16
B002-010 TXP06-63-22-4T 63 59 51.6 22 50 10.4 6.3 1.5 B003-003 AHUB-80-27-6T 80 27 50 12.4 7 16
B002-011 TXP06-80-27-4T 80 70 68.6 27 50 12.4 7 1.5 B003-004 AHUB-100-32-6T 100 32 50 14.4 8 16
B002-012 TXP06-100-32-6T 100 90 88.6 32 50 14.4 8 1.5
VALY VALY

B04 B05



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

TP EfREREHKNE

Right Angle Shoulder Face Mill Cutter

mm@ BAP EHEfEZEB#tIHF M mm’f ’{ j
T BRNT won ) | apmEm SPEEER Right Angle Shoulder MiIIing Cutter Bar T #ENT . oans | | gwEm AFEGLR

Roughing Pockot milling Sioot plunge milling Shoulder miling Copy milling Roughing Pockot milling Sloot plunge milling ‘Shoulder milling Copy milling

i)
‘ L2 ©
o
o 1°]
o
_a|
- Lt
L
® % LI R size DIE T E ) HF
Serial number Cat.No D d L L1 NO.Of flutes Insert Clamp screw wrench
g B019-001 -10x 130-C10 10
R 5% IJ])#t o i | H2ET #ﬁ%h 10
Serial number W nser amp piece clamp screw wrencl B019-002 ~11x130-C10 11 20 |
B017-001 P11 —40-16-4T 40 16 45 8.4 B019-003 -12x130-C12 12 12 130
B017-002 _50-22-4T TPUN10T3 TP-11 3/16%E L3 B019-004 _13x130-C12 13
50
B017-003 TP16 -50-22-4T 22 10.4 TPLCIN 1603 TP-16 1/445 %) L4 B019-005 -16x 130-C16
B017-004 -63-22-3T 63 50 B019-006 -16x 160-C16 . 16 160
B017-005 -80-27-4T 80 27 12.4 B019-007 -16x200-C16 200
B017-006 -100-32-5T 100 32 14.4 B019-008 -16x160-C15 15 160
B017-007 -125-40-6T 125 B019-009 -17x160-C16 40
40 16.4 17
B017-008 -160-40-7T 160 63 B019-010 —-17 x200-C16 16 200
B017-009 TP22 -200-60-8T 200 | 60 25.7 TPKN2204 P02 s/16Rm s B0 BAP300R | ~20x130-C16 30 2 APMT 1135 PDER|  M2.5x6 T8
B017-010 -63-25.4-3T 63 TPMN20408 B019-012 -20 x 160-C20 20
25.4 10 160
B017-011 -60-25.4-4T 60 50 B019-013 -20x 160-C19 20 1
B017-012 -100-31.75-5T 100 | 31.75 13 B019-014 -20x200-C19 200
B017-013 -125-38.1-6T 125 8.1 60 B019-015 -20 x 200-C20 20
. 16.2
B017-014 -160-38.1-7T 160 B019-016 -21x160-C20 20 160
63
B017-015 -200-47.625-8T | 200 |47.625 25.4 B019-017 -21x200-C20 200 50
B019-018 -25x 120-C25 21 120
B019-019 -25x160-C25 160 3
25
B019-020 -25x200-C25 200
sl 3| B019-021 -25x160-C25
APC E*ﬂ*ﬂﬁﬂﬁ 160 40
. ‘ B019-022 —-25x160-C24 24
Tubular Coarse-textured Gear Face Mill Cutter [_snz e Hmm aomns | | emmnt | |exaoen 5019-023 “osr2000os | 25 | 22 -
oughing Plane finishing Pockot milling Sloot.plunge milling Shoulder milling Copy milling 200
B019-024 —25x200-C24 24
H 50
B019-025 -25 x 250-C25 25 250
B019-026 -26 x 160-C25 160 40
B019-027 -26 x 200-C25 26 25 200 2
o B019-028 -26 x 250-C25 250 50
B019-029 -32x160-C32 160
d
B019-030 -32x200-C32 200 80
32
—L B019-031 -32x250-C32 250
B019-032 BAP400R | _35 % 300-C32 300 APMT 1604 PDER
M4 x 9 T15
B019-033 ~35x 160-C32 160 APKT 1604 PDSR
P s R+ s & o oy p— B019-034 -35x200-C32 200
5 B R [Z8 7] 7 3
Serial number Cat.No D d A H Insert T clamp screw wrench B019-035 —-35x250-C32 250
35
B019-036 -35x 300-C32 32 300
B018-001 —-50-22-45L 50 22 45 64 9
B019-037 -35x350-C32 350
B018-002 APC -63-25.4-45L 63 | 254 | 45 64 APKT1604 12 M4 T15 60
B019-038 -35x 400-C32 400 3
B018-003 —63-25.4-68L 63 | 25.4 | 68 90 20
B019-039 —40 x 200-C32 200
B019-040 -40 x 250-C32 250
B019-041 —40 x 300-C32 40 300
B019-042 -40 x 350-C32 350
vAlds] B019-043 —40 x 400-C32 400 74P O

B10 B3 811



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

TRS EBEEHIE RAP-75° Hih71% o T
Rounded Face Mill Face Mill Cutter mr HnT gan ) (aoons | (Lewenk | (sramen Face Milling Cutter _ zant | (mwwr | | awant | (sramen

Roughing Prane frishing Foskotmiing . Stootplungemiling  Shouldermiling Gony g Roughing od Sioot miling Goy g

dd W,
—‘-N-—‘ >D: 7=
{J‘ Zl=
I
I
@) I
2 &b 1
[
‘ D % o B8 R size TE £ ) e
Serial number Cat.No D d H M Insert clamp screw wrench
® W LU R size Nk AR 4247 HF
Serial number Cat.No D d H W Insert Clamp piece clamp screw wrench B014-001 -63-22-4T 63 22 10.4 APGT 1604
—— Ll @ B014-002 RAP400R |  -80-27-5T 80 | 27 | 50 | 124 | APMT{604PDER M4 x 10 T15
22 10.4 —100_35_
B012-002 I o3 Maxo B014-003 100-32-6T 100 32 14.4
TRS-5R RDIJ 10T3 MO Y-5R M
B012-003 -80-27-6T 80 27 12.4 3.5x10
o
B012-004 -100-32-6T 100 32 14.4 ﬁﬁ ﬁ
SFM90 7]
B012-005 -50-22-4T 50 HIH
R onaT =2 | 5 |0 Face Milling Cutter mmr T gant | (poowr | | awank | |srasen
TRS_GR RDDD1204 MO Y_SR M4X10 Roughing Pl hing ¢d kot g Sloot.plunge lling ‘Shoulds illing Copy milling
B012-007 -80-27-6T 80 27 12.4 W
B012-008 -100-32-6T 100 32 14.4 L]
B012-009 -63-22-4T 63 22 10.4
B012-010 TRS-8R -80-27-5T 80 27 12.4 | RDOII 1604 MO Y-8R M5x11.5 T20 N7 7/
B012-011 -100-32-6T 100 32 14.4 /Am
N
®D
® o B o5 R size TE £ T
KM 450 Eﬁ)] ﬁ ' - Serial number Cat.No D d H W Insert clamp screw wrench
T B015-001 -50-22-4T 50
Face Milling Cutter 22 10.4
Roughig Fians fiehng od Shoutder miing Tomy miing B015-002 -63-22-5T 63
w SFMO09 50 SCMT09T308 M3x7 T8
el B015-003 -80-27-6T 80 27 12.4
7 - B015-004 -100-32-8T 100 | 32 14.4
T —_
=
R390 HEAESREMNE
nght Angle Shoulder Face Mill Cutter T T BRMT . AT LHREM AFEHEM
|o 1 i Roughig Frans fiehing d Siootp 5 Ty g
- i &»W
oD ' & oy
D1 / L i 7)) H
4 !'u' 1
0 i I
o A% R size TR HEET RF \ = A T
Serial number Cat.No D D+ d H w Insert clamp screw wrench _ ‘ L 4
N
B013-001 -50-22-4T 50 | 64 ‘ m[
22 10.4 . '
B013-002 -63-22-4T 63 77
50 . | oD
B013-003 -80-27-5T 80 94 27 12.4
B013-004 -100-32-5T 100 | 114 | 32 14.4 WA B 5 R size TE 3 RF
Serial number Cat.No D d H W Insert clamp screw wrench
B013-005 -125-40-6T 125 | 139 0 164
: SEHT 1204 = _50-22_
B013-006 KM12 -160-40-6T 160 | 174 SEHW 1204 M5 x 11 T20 Bot6-001 R390-11 50-22-4T 50 R390-11T308 M2.5x6 T8
60 B016-002 -63-22-4T 22 10.4
B013-007 -200-47.625-8T | 200 [ 210 47695 057 63
. . - _63-22- 50
B013-008 -250-47.625-10T | 250 | 260 E0162003 S3a2omtl
—— O Al - = e . B016-004 -80-27-6T 80 27 12.4
: - R390-17 ~100-32— R390-170408 M3.5x 10 T15
B013-010 80-254-5T 80 04 50 B016-005 100-32-6T 100 32 14.4 x
B013-011 -100-31.75-5T 100 | 114 | 31.75 13 B016-006 ~125-40-6T 125 40 63 | 16.4
B016-007 -160-40-8T 160
\ZPO VAL

B08 B09



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

AHU EAZRE##F

Right Angle Shoulder Milling Cutter Bar

@ ’{ j AJX Rt 4R ST 5% 7] N
T wEnr | g s ] _ewEnt | (srmsen Hi-Feedrate Milling Cutter Bar vine | Moo (Pl (Sraoen

Roughing Pockot milling Sloot plunge milling ‘Shoulder milling Copy milling

Roughing Pockot milling Sioot plunge milling ‘Shoulder milling Copy milling

kel
| L2 s -
T ©
[a]
oy Y
- ‘
<A>
L
L
w u S Y 7 Nk @iy BT " n R size 78 7k s @
el ey et D d L L1 NO.Of flutes RS Clzwmp Serew | WiEme Serial number Cat.No D d L L1 NO.Of flutes Insert Clamp screw  wrench
B0 Ol HATIO=IO2 IE i 6 L0 0 B005-001 AJX06-17 x 160-C16 17 16 160 ==
B004-012 AHUT0-16 X 200 16 16 200 40 B005-002 AJX06-21 x 160-C20 21 20 160 | —
B004-013 AHU10-17 X 160-C16 17 16 160 40 B005-003 AJX06-26 x 200-C32 26 25 200 == jgmwggg;s M2.5X6 Ta
B004-014 AHU10-17 X 200-C16 17 16 200 40 2 JDMWO09T320 M3X7 T10
JDMT1003 M2.5X6 T8 B005-004 AJX06-33 x 160-C32 33 32 160 | - o2 M4X10 Ti5
B004-015 AHU10-20 X 160 20 20 160 50 5005008 X033 x 200-Caz = . 200 |
B004-016 AHU10-20 X 200 20 20 200 50 , 5005006 X633 x 250-Ca2 s " o0 | =
B004-017 AHU10-21 X 160-C20 21 20 160 40
B004-018 AHU10-21 X 200-C20 21 20 200 50
B004-019 AHU15-25 X 160 25 25 160 50 ASJ-4P ﬁgﬁiﬂ *:F " '
5004020 AHUTS-25 X200 i 25 200 IS JDMT1505 M4X9 T15 D””mg Mlllmg Cutter Bar . IAMT AWEM AFEHEM
B004-021 AHU15-26 X 160 26 25 160 50 Roughing Fockatmiling Sioot plunge milling Shoulder miling Copy miling
kel
B004-022 AHU15-26 X 200 26 25 200 75 o
o °l T
i3 ®
a
== ¥ -
T217.69 HfAER 7] L
nght Angle Shoulder MI”Ing Cutter Bar WL #EMT AT | (_&BEm ATEEENT @ o U R~ size T TR 1247 RF
oo e o g N L NO.Of flutes Fetan oy e
el
9 B004-036 ASJ-17 x 160-C16-4T 17 16 160 40
____________ i B004-037 ASJ-20 x 160-C20-4T 20 20 160 40
j B004-038 ASJ-20 x 200-C20-4T 20 20 200 40
) B004-039 ASJ-21x 160-C20-4T 21 20 160 35
L B004-040 ASJ-21 x 200-C20-4T 21 20 200 35
R B004-041 ASJ-25 x 160-C25-4T 25 25 160 50
WO B8 ' Size T K 12 E7 WF
Serial number Cat.No D d L L1 NO.Of flutes Insert Clamp screw  wrench B004-042 ASJ-25 x200-C25-4T 25 25 200 75
B004-043 ASJ-25 x 250-C25-4T 25 25 250 75
B004-023 T217.69-8x100-C8-1T 8 8 | 100 | 2 B004-044 ASJ-26 x 160-C25-4T 26 | 25 | 160 | 50
B004-024 T217.69-10x130-C10-2T 10 10 | 180 | 30 B004-045 ASJ-26 x 200-C25-4T 26 25 | 200 | 50 ADMT080308L
. _ _C1o- _ ADMT1003
B004-025 T217.69-11x130-C10-2T 11 10 130 T LT (Tl T = = = ADMT1003 2.5x6 6
B004-026 T217.69-12x130-C12-2T 12 12 130 30 ATMT1604 M2X5 T8
B004-047 ASJ-30 x 160-C25-4T 30 25 160 80 4 APMT090208 M3X7 5 10
B004-027 T217.69-13x130-C12-2T 13 12 130 — T A LI - - — - ACMT1003 M4X9 Ti5
APMT12T3
B004-028 T217.69-16x160-C16-2T 16 16 160 40 NOMX060208 | M1.6xa 6 B004-049 ASJ—30 x 250-C25_4T 30 25 250 80 APMT1504
B004-029 T217.69-17x160-C16-2T 17 16 160 — 2 XOMX090308 | M2.5X5.5 T8
XOMX120408 | M3 axa 15 B004-050 ASJ-33 x 160-C32-4T 33 32 160 80
B004-030 T217.69-20x160-C20-2T 20 20 160 40 5004051 AS)33 X 200-Ca24T . P 200 %
B004-031 T217.69-21x160-C20-2T 21 20 160 == Y R AT CERT = - o || 9%
B004-032 T217.69-25x160-C25-2T 25 25 160 50 5004-083 AS) 35 X 160_Ca2aT . . 160 %0
B004-033 T217.69-25x200-C25-2T 25 25 200 60 o T I e —p—— = = p— -
B004-034 T217.69-26x160-C25-2T 26 25 160 - 5004055 AS) 35 x 250 Ca24T . . 250 | 120
B004-035 T217.69-26x200-C25-2T 26 25 200 — Y T I e = = an | s
B004-057 ASJ-35 x 350-C32-4T 35 32 350 | 120
B004-058 ASJ-35 x 400-C32-4T 35 32 400 | 120
\ZIPO \ZPO

B12 B13



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

R390 ERERESNH !M mmﬁd UEX ERERESNFT ﬂmﬂﬁﬁ
Right Angle Shoulder Micro- T LLE: i RSB FUJS S [ L s {4 Indexable Right Angle Shoulder Milling want | (a0 wnr ] (enmnt ) (s5mtmn

Roughing Piane fimishing Siootpl miling Copy milling BT
Milling Cutter Bar
J Cutter Bar

©
0 o
ol o |

d

Jla L o
L1
L Q
® % LU R+ siz 7B 1257 RE E
Serial number Cat.No D d L L1 Insert clamp screw wrench L1
L
B021-001 ~16x160-Cl6-2T| " 160 40
B021-002 -16x200-C16-2T 200 50
B021-003 -20x160-C20-2T 160 40 )
R390-11 20 20 R390-11T308 M2.5x 6 T8 w9 B 5 R~ size ey B2 E7 WF
B021-004 -20x200-C20-2T 200 50 Serial number Cat.No D d L L1 L2 a Insert clamp screw wrench
= - -C25- 40
B021-005 25 % 160-C25-2T 160 —— e—— e . =
_ - _C25- 50
B021-006 25x200-C25-2T| . 200 B023-002 -17x160-C16 | 17 160 40 --
0240007 w2160 2502l 2 | 160 | 40 B023-003 | UEX12 | -20xte0-c20| - 12 |APOT1202| M3.5x8
- R390-17 | _ —C25- R390-170408 M3.5x 8 Ti5 50
B021-008 25x200-C25-2T 200 50 x B023-004 -20x200-C20 20 200 100
B021-009 ~32x200-C25-2T| 32 B023-005 -21x160-C20 21 160 40 T15
B023-006 -25x160-C25 o5 50
B023-007 -25x200-C25 75 -
P UEX16 25 200 15 ADCIT1603 | M4X7.5
B023-008 -26x200-C25 26 50
EMRW [EBZIstN# m @ Q
- B023-009 -26x250-C25 25 250 75
Rounded Milling Cutter Bar T HinT EENT wont | (_gwmm AFEHEN
Rowgng Fane e Festotming— oot purgeming  Shoutdarmiing Copy i
- kel
' o
Plane finishing
S _ =1 E3 _n_ﬁ ﬁ
R200 SiEt/]
Rounded Milling Cutter Bar T HiT genr ) oo | (epant | |axmien
Rowgng Fane T Fodtomins— Soolpngemiing  ~Shaudermiig Copymiing
kel
IS
w % B % R size nH nE B 257 RF of
Serial number Cat.No D d L L1 No.of flutes Insert clamp piece clamp screw wrench e
Q
B022-001 -6Rx32x160-C25 25 160 ,J.a
B022-002 -6Rx32x160-C32 32 50 Lt .
B022-003 -6Rx32x200-C25 | ., 25 200 )
B022-004 -6Rx32x200-C32 32 80 R+
WO B 5 I Size T 0 B2 ET wF
20222005 32250020 25 250 20 Serial number Cat.No D d L No.of flutes Insert clamp screw wrench
B022-006 -6Rx32x250-C32 32 100
B024-001 x25x160-C20 20
B022-007 ~6Rx35x160-C32 160 160
50 B024-002 X25x160-C24 24
B022-008 -6Rx35x200-C32 200 R200-5R 25 RCOIT 1204 MO M3.5x8.5
B024-003 x25x200-C25 25
B022-009 ~6Rx35x250-C32 250 200
35 RPMW\T B024-004 x25x200-C24 24
B022-010 EMRW | -6Rx35x300-C32 300 T50amo| Y-8R Maxio | T15
60 B024-005 x32x160-C25 160
B022-011 ~6Rx35x350-C32 350 2 T15
B024-006 X32x200-C25 32 25 200
B022-012 -6Rx35x400-C32 400 3
B024-007 x32x250-C25 250
B022-013 ~6Rx40x160-C32 32 160 R200-6R RCOT 10T3 MO M3.5X10
50 B024-008 x33x160-C32 160
B022-014 -6Rx40x200-C32 200
B024-009 x33x200-C32 33 32 200
B022-015 —6Rx40x250-C32 | 40 250
B024-010 x33x250-C32 250
B022-016 -6Rx40x300-C32 300
B022-017 -6Rx40x350-C32 350 60
B022-018 -6Rx50x200-C32 200
50 4
B022-019 ~B6Rx50x250-C32 250
VA8 \ZPO

B16 B17



YAPO iﬁﬂ/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

TRS E2M#$t7HF @Kj BCF/BCFL IkFILE% 14T )

Rounded Milling Cutter Bar #hT Indexable Ball Mose Milling Cutter Bar
Plane finishing Pockotmiling Sloot plunge milling Shoulder milling Copy milling Plane finishing Copy milling
o
&
O
o . — PR I —
@
<—3,‘
L1
L
% ok LI R size N T g1 1247 wE _
Serial number Cat.No D d L L1 f’\llt?tgsf Insert clamp piece clamp screw  wrench - A ogE R~ size '31% 7] Rinsert Y2 LT RF
Serial number Cat.No D d L L1 a flutes BAA7)  FUAT) SMEAT(ER7) clampscrew wrench
B025-001 —4Rx12x130-C12 | 12
12 130 1 B027-001 x150-C20 20
B025-002 ~4Rx13x130-C12 | 13 150 70
B025-003 4Rx16x160-C16 16 40 Boar-002 x150-C25
- e XD XTO M3X9.5 T10
160 02720030 10R [EEX3005E25 20 | 25 | 200 | 80 | 30 Fi00CE | A100SE | 080204 | Masxs | T8
B025-004 ~4Rx16x160-C15 15 :
16 B027-004 x250-C25 250 100
B025-005 —4Rx16x200-C16 16
200 B027-005 x300-C25 32 300 150
B025-006 ~4Rx16x200-C15 15 50
B027-006 x150-C25 150 70
B025-007 -4Rx17x160-C16 | " 160 40 25
B027-007 x200-C25
B025-008 TRS-4R | —4Rx17x200-C16 200 ESO“QT Y-4R M3x7 T8 200 (100 ZCEW ZCEW
B027-008 | 12.5R | x200-C32 25 M4X9 T15
B025-009 _4Rx20x160-C20 20 39 IT125CE | /T125SE
160 B027-009 x250-C32 250
B025-010 —4Rx20x160-C19 19 150
20 B027-010 x300-C32 300
B025-011 ~4Rx20x200-C20 20
200 B027-011 x160-C32 160 70
B025-012 ~4Rx20x200-C19 19
B025-013 4Rx21x160-C20 160 50 Bo27-012 X200-C32 200 | 100
y _4Rx21x160—
M5X12 T2
21 B027-013 | 15R | x250-C32 30 250 /ZTC1E\(,JVCE /ZTC1§\(I)VSE M451X9 T1g
B025-014 ~4Rx21x200-C20 200 150
20 B027-014 x300-C32 32 300
B025-015 ~5Rx20x160-C20 160
20 B027-015 x350-C32 350 | 200
B025-016 ~5Rx20x200-C20 200 2 43
B027-016 x160-C32 160 70
B025-017 ~5Rx25x160-C25 25
5 c 20 B027-017 x200-C32 200 100 2/4
025-018 —5Rx25x160-C20 160
ZCET ZCET M5X12 T20
B027-018 | 16R | x250-C32 32 250 160CE | 160SE M4X9 T15
B025-019 —5Rx25x160-C24 | 25 24 150
B027-019 x300-C32 300 CPMT
B025-020 ~5Rx25x200-C25 200 050508
60 B027-020 x350-C32 350 | 200
B025-021 —5Rx25x250-C25 250
B027-021 X200-C42 200 | 100
B025-022 —5Rx26x160-C25 160 50
TRS-5R 26 B027-022 x250-C42 250
B025-023 —5Rx26x200-C25 25 200 60 RDTMT Y-5R M3.5x10 42 150 ZCEW 2CEW M6X18 T30
10T3 M4x9 B027-023 x300-C42 300
B025-024 ~5Rx30x160-C25 | 30 160 | 50 20R 40 200CE | 200SE M4X9 T15
B027-024 x350-C42 350 | 200
B025-025 ~5Rx30x200-C25 200 50
30 B027-025 X200-MT5 200 | 100
B025-026 ~5Rx30x250-C25 250 60 T15 MT5
B027-026 X250-MT5 250 | 150
B025-027 ~5Rx35x160-C32 160
50 B027-027 x200-C50.8 200 100 50
B025-028 ~5Rx35x200-C32 | 35 32 200 3
B027-028 x250-C50.8 250
B025-029 -5Rx35x250-C32 250 60 505 150
B027-029 x300-C50.8 . 300
B025-030 _6Rx32x160-C25 160 ggoECV:IE gSC(FSVIVE Mexi8 7%
50 B027-030 | 25R | x350-C50.8 | 50 350
B025-031 —B6Rx32x200-C25 | 32 25 200 2 200
B027-031 x400-C50.8 400
B025-032 -6Rx32x250-C25 250 60
B027-032 x200-MT5 200 | 100
B025-033 TRS-6R | -6Rx40x160-C32 160 RDMT MT5
50 Tood OY-6R M4x10 B027-033 X250-MT5 250 | 150
B025-034 ~6Rx40x200-C32 200 3
40 32
B025-035 ~BRx40x250-C32 250 o
B025-036 ~6Rx40x300-C32 300
PO PO

B18 B19



YAPO iﬁﬂ/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

T2139 FKHEEXNHF SD-45° MWiMEIf D

<0.015mm

indexable Ball Nose Milling Cutter Bar . SD.45 Degree Chamfer Milling Cutter Bar 45°
_ 3 ,\/ )
_ i 3
g [
©) 2 i
: : =
[ —— a U
L -
T BHEM ’ L a
Plane finishing Shoulder milling — L1
® % LI R size 7R 1247 e L
Serial number Cat.No D d L L1 a Insert clamp screw  wrench T #IT
B028-001 —4Rx110-C8 8
110 25 B 2 T R~ size TIE 24T e
B028-002 -4Rx110-C10 8 10 5 P320[J-D 08 [ T2139-4R T8 Serial number Cat.No f’\lluot.:sf D d L L1 a Insert clamp screw  wrench
B028-003 —4Rx140-C12 12 140 55
B030-001 x110-C20 110 40
B028-004 -5Rx130-C10 10 130 20
10 30 7 P3200]-D10 | T2139-5R T15 B030-002 SD-25 x150-C20 25 150 45
B028-005 -5Rx160-C12 160
12 B030-003 x110-C3/4 19.05
B028-006 —6Rx130-C12 130 32 2 110 40 4.6 SDMB26152 M3x7 T10
12 8 P320(]-D 12 | T2139-6R T20 B030-004 x110-C20
B028-007 -6Rx160-C16 58.5 20
16 160 B030-005 SD-30 x150-C20 30 150 45
B028-008 -8Rx160-C16
16 65 10 P320[]-D 16 | T2139-8R T20 B030-006 x110-C3/4 19.06 110 40
B028-009 —8Rx200-C20 200
B028-010 ~10Rx160-C20 20 160 45
45° #FEXEIAHT
B028-011 —10Rx200-C20 20 200 76 12.5 P320[1-D 20 | T2139-10R T20
B028-012 _10Rx250-C25 250 120 45 Degree Chamfer Milling Cutter Bar
B028-013 -12.5Rx160-C25 25 160 45
B028-014 -12.5Rx200-C25 76
25 200 15 P3200]-D 25 | T2139-12.5R | T30
B028-015 ~12.5Rx200-C32 98
B028-016 -12.5Rx250-C32 32 250 120
B028-017 —15Rx200-C32 200 80 D D d
30 18 P3200]-D 30 | T2139-15R T30
B028-018 ~15Rx250-C40 40 250 121
,'q (— A —
B028-019 ~16Rx200-C32 32 200 80 45° L
32 19 P320[1-D 32 | T2139-15R T30 ' ‘
B028-020 ~-16Rx250-C40 40 250 121 v & o
Roughing Paine milling S\no\‘plunge ‘milling
—— e
TP SRS % w B % 78 o g5 i
" ; D d L
Serial number Cat.No NO.of flutes Chamfering range Angle
Right Angle Shoulder Face Mill Cutter 2
™ | Boso-007 | SSK C20-20-130 1 $3~$20 45 20 20 130
a P | . o . R R
o o AN
{{3) 45° FE1L 7]
' i
45 Degree Chamfer Milling Cutter Bar
—a . Size
d L1 L1
. L e
T ML AT EWEM SFEHEM (— A
% % B g R size K R 1244 RE ug. nART
Serial number Cat.No D d L L1 a Insert Clamp piece Clamp screw wrench Roughing Palne milling Sloot.plunge milling
B029-001 —-16x100-C16 16 16
TP11 TPLIN1103 Tp1 3/164: 8 L3 D D1t d
B029-002 -20x100-C20 20 100 TN\®
B029-003 -30x100-C20 30 20 a iy
B029-004 -35x100-C20 a5 L
B029-005 -35x110-C32 32 45 14
B029-006 TP16 —40x110-C20 20 110 TPLCIN1603 Tp16 1/44 8 L4 Eid) ‘j"}ﬁ 7] ¥ Bl RmEE BmE D d D1 L1 L
Cat.No NO.of flutes Chamfering range Angle &l
B029-007 -40x110-C25 40 25
B029-008 —40x115-C32 32 | 115 B030-008 SSP C20-20-130 1 $0~$20 | 45 | 20 | 20 | 0 | 11.3 | 20 | 130 |
B029-009 -50x110-C20
20 110
B029-010 -50x110-C20 50
TP22 42 20 TPIN2204 Tp22 5/164: 8 L5
B029-011 -50x115-C32 32 115 =
PO X (0}

B20 B21



YAPO iﬁ]]/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

{% E ﬁ Memorandum

ATS TEIHERSEIHF @ B ﬁ 'i“

Indexable ATS T-Slot Milling Cutter Bar

Roughing Plane finishing Sloot plunge milling ‘Shoulder milling

d
L1 |
3 |
B 9 o g N R T el 71 1247 wF
Serial number Cat.No No.of flutes D d D1 L L1 L2 L3 Insert clamp screw wrench
B031-001 ATS-25-11 2 25 25 12.5 112 80 21 11 CCMT060204 M2.5x6 T8
B031-002 ATS-32-14 32 16 120 77 30 14 | CCMT080304 M3x7 T10
B031-003 ATS-40-18 4 40 32 20 130 80 32 18 | CCMT09T308 M4x10 T15
B031-004 ATS-50-22 50 26 140 39 22 | CCMT120408 M5x11 T20

LB D DOBE
Roughing Cut Corn Milling Cutter Bar awnr ] (onmnt | |seaoen

Plane finishing Pockot milling ‘Shoulder millin Copy milling

\

Figll
® W % ER  7n R size T Binsert . 48T wF
Serial number Cat.No Figure No.offlutes D d L1 L Clamp screw  wrench
B032-001 -150-50L-C32 4 32 50 150 M4 T15
SPM-40 | 40 P27215-3
B032-002 -170-56L-C42 2 56 170 SDMT090308
B032-003 -200-77L-C42 42 77 200 LPO171124 M5 T20
SPM-50 Il 4 50 SPM71204
B032-004 -250-158L-C42 158 250
VALY VAL

B22 B23



PO
B14

YAPO iﬁﬂ/’if&nﬁ Indexable Milling Cutter Bar/ Face Mill Cutter

EFEGHMT Roughing Pockot miling Sloot plunge miling Shoulder milling Copy miling

ASR tRiELRIISETIHF o) EMR S LsIH o
) mH Rounded Milling Cutter Bar ° ganr ) (w o ) Lspmnt | |armten
Hi-Feedrate Milling Cutter Bar want | m s | | sman °

Roughng Foskaimiing — Soolpungemiing Shoudermiling Copymiling {
T o )
[a] - - R . . - - -T
© ® ° b
a
L1
L w9 B 5 UIE 3 TR R 2T RF
Serial number Cat.No D d L L1 No.of flutes Insert Insert Insert Insert
wOR 25 R size DIk K 24 wFE B020-001 -4Rx12x130-C12 | 12 1 ;
Serial b Cat.N 5 Insert Clamp screw wrench
erial number at.No D d L L1 NO.Of flutes p B020-002 _ARX12x130_C12 13 130
B004-001 ASR2016 x 160-C16-2T 16 16 160 50 B020-003 -4Rx16x130-C16 16 40
B004-002 ASR2017 x 160-C16-2T 17 16 160 - 5 B020-004 -4Rx16x160-C16 160
B004-003 ASR2020 x 160-C16-2T 20 20 160 50 B020-005 -4Rx16x160-C15 16 15
B004-004 ASR2021 x 160-C16-2T 21 20 160 50 B020-006 -4Rx16x200-C16 16 200
B004-005 ASR2025 x 160-C16-3T 25 25 160 EPMT0603 B020-007 EMR-4R | —4Rx16x200-C15 15 50 ngTWO(fs-I—OZZ Y-4R M3x7 T10
M2.5X6 T8
B004-006 ASR2025 x 200-C16-3T 25 25 200 50 3 EPNWO0103 B020-008 —4Rx17x160-C16 17 16 160 40
B004-007 ASR2026 x 200-C16-3T 26 25 200 - B020-009 -4Rx17x200-C16 200
B004-008 ASR2032 x160-C16-4T 32 32 160 75 B020-010 -4Rx20x160-C20 20 160
B004-009 ASR2033 x 160-C16-4T 33 32 160 - 4 B020-011 -4Rx20x160-C19 19
B004-010 ASR2033 x200-C16-4T 33 32 200 - B020-012 _4Rx20x200-C20 20 20 200
B020-013 -4Rx20x200-C19 19
TJU ﬁﬁﬁﬂ‘.ﬂ *:F B020-014 ~5Rx20x160-20 160 50
- e B B B 200
Drilling Milling Cutter Bar #HL want | (m ot | ((apEnt | (armopnd B020-015 SRx20x200-20 20
Frane g Fodkotming — Stoolpurgemiing Soudermiling Cony g B020-016 _5Rx21x160-C20 ” 160
L2 B020-017 -5Rx21x200-C20 200 2
el
l A B020-018 -5Rx25x160-co5 25
a \0 B020-019 -5Rx25x160-C20 20 160
© {@ J \3\ B020-020 -5Rx25x160-C24 24
= = = 200 75
a B020-021 5Rx25x200-C25 25 25
L1 B020-022 -5Rx25x250-C25 250 60
L B020-023 -5Rx25x200-C20 20 200
B020-024 -5Rx25%x200-C24
24
1 B020-025 -5Rx25x250-C24 250
n T R < size 2T
LT B 5 DIk TR Clamp BF 50
Serial number Cat.No D d L L1 L2 a No.of flutes Insert screw wrench B020-026 -5Rx26x160-C25 160
— r— 2 g - B020-027 ~5Rx26x200-C25 | og 25 200
CCMT 060204 B020-028 -5Rx26x250-C25 250
B026-002 -10x130 10 10 30 1 CPMT 0802047 M2.5x6 T8 P
- B020-029 -5Rx30x — 20
B026-003 -12x130 12 12 130 a oo/ 110 40 RPMT 10T3 M3.5x10
B020-030 EMR-5R -5Rx30x110-C3/4 19.05 RPMW1003 Y-5R T15
B026-004 -16x130 M4x9
ga— T 16 - B020-031 ~5Rx30x160-C25 160 0
B026-006 _16x200 16 200 6 B020-032 -5Rx30x200-C25 30 o5 200
B020-033 -5Rx30x250-C25 250
B026-007 -17x160-C16 17 160 40 100 CCMT 060204 | M2.5x6 T8
B026-008 -17x200-C16 200 CPMT 090204Z| M3.5X8 | T15 B020-034 -5Rx30x300-C25 60
300
B026-009 _20x160 160 L B020-035 -5Rx30x300-C32
5026010 o0x200 20 20 200 =0 B020-036 _5Rx35x160-C32 160 o
TJU 100
SORT 21x160-020 | 21 0 B020-037 ~5Rx35x200-C32 200 2/3
160
B020-038 ~5Rx35x250-C32 250
B026-012 -25x160 50 - 2 35
B026-013 _25x200 o5 o B020-039 ~5Rx35x300-C32 300 6
CPMT 090308 B020-040 -5Rx35x350-C32 350 3
B026-014 -25x250 25 250 115 9 CPMT 1203082 M4X9 T15 30
B026-015 ~26x160-C25 160 — E020m001 ~5Ax35x400-C32 400
B026-016 —26x200-C25 26 200 115 B020-042 -5Rx40x160-C32 160 50
B026-017 32160 - 60 B020-043 ~5Rx40x200-C32
250
B026-018 -32x200 200 __ B020-044 -5Rx40x250-C32 40 4
30 32 12 CPMT 120408 M5x12 T20 60
B026-019 —32x250 250 CPMT 1604082 B020-045 -5Rx40x300-C32 300
B026-020 _32x300 300 165 B020-046 -5Rx40x350-C32 350

PO
& B15



M 2 [& 2%

M Type Clamp

@ ‘ @ @ External Turning Holder

o B e A com] BEARORE oo 3 F e

o ﬂﬂl 71 Ko e
20

1616H09 100 80
2020K09 CN..0903.. 20 20 125 | 100 25 MC0904 MX0513 MY0619 ML0625 L2.5L3
2525M09 25 25 150 | 120 32
1616H12 16 16 100 80 20
2020K12 20 20 125 | 100 25
CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5L3
2525M12 25 25 150 | 120 32
MCLNR/L
3232P12 32 32 170 | 135 40
2525M16 25 25 150 | 120 32
3232P16 CN..1606.. 32 32 170 | 135 40 MC1604 MX0822 MY0823 ML0828 L3,L4
4040R16 40 40 200 | 155 50
3232P19 32 32 170 | 135 40
CN..1906.. MC1904 MX1022 MY0823 ML0828 L4
4040R19 40 40 200 | 155 50

-

O

Inser ERBE ool 5 F e |

e ﬂﬂlﬂ----

1616H12 100
2020K12 20 | 20 | 125 | 100 | 17
CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5L3
2525M12 25 | 25 | 150 | 120 | 22
3232P12 32 | 32 | 170 | 135 | 27
MCBNR/L 2525M16 25 | 25 | 150 | 120 | 22
3232P16 CN..1606.. 32 | 32 | 170 | 135 | 27 MC1604 MX0822 MY 0823 ML0828 L3,L4
4040816 40 | 40 | 250 | 200 | 35
3232P19 32 | 32 | 170 | 135 | 27
CN..1906.. MC1904 MX1022 MY0823 ML0828 L4
4040R19 40 | 40 | 200 | 155 | 35

PO
B co7



PO
coz

YAPO ﬂE]] External Grooving Holder

MCKNR/L

B | AR oy AR | 3 F e

1616H12 16 16 100 | 80 20
2020K12 20 20 125 [ 100 | 25

CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5,L3
2525M12 25 25 150 | 120 | 32
3232P12 32 32 170 | 135 | 40
2525M16 25 25 150 [ 135 | 32
3232P16 CN..1606.. 32 32 170 | 135 | 40 MC1604 MX0822 MY0823 ML0828 L3, L4
4040816 40 40 | 250 | 200 | 50
3232P19 32 32 170 | 135 | 40

CN..1906.. MC1904 MX1022 MY0823 ML0828 L4
4040819 40 | 40 | 250 | 200 | 50

MCFNR/L

MCGNRI/L

B =5

=
~ O ﬂﬂll-----

1616H12 100
2020K12 20 20 125 | 100 25
CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5L3
2525M12 25 25 150 | 120 32
3232P12 32 32 170 | 135 | 40
2525M16 25 25 150 | 120 32
MCGNR/L
3232P16 CN..1606.. 32 32 170 | 135 | 40 MC1604 MX0822 MY0823 ML0828 L3,L4
4040816 40 40 250 | 200 50
3232P19 32 32 170 | 135 | 40
4040819 CN..1906.. 40 40 250 | 200 50 MC1904 MX1022 MY0823 ML0828 L4
4040V19 40 40 400 | 350 50

R oo | E AR s OB e 1

1616H12 16 16 100 80 20

2020R12 CN..1204.. 20 20 150 | 100 25 MC1204 MX0617 MY0619 ML0625 L2.5,L3
2525M12 25 25 150 | 120 32

3232P12 32 32 170 | 135 | 40

2525M16 25 25 150 | 135 32

3232P16 CN..1606.. 32 32 170 | 135 | 40 MC1604 MX0822 MY0823 ML0828 L3,L4
4040816 40 40 250 | 155 50

2525M19 25 25 150 | 120 32

3232P19 CN..1906.. 32 32 170 | 135 | 40 MC1904 MX1022 MY0823 ML0828 L4
4040R19 40 40 200 | 155 50

1616H12
2525M12 20 20 125 | 100 | 25
CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5L3
2020K12 25 25 150 | 120 32
3232P12 32 32 170 | 135 | 40
2525M16 25 25 150 | 120 32
MCSNR/L
3232P16 CN..1606.. 32 32 170 | 135 | 40 MC1604 MX0822 MY0823 ML0828 L3.L4
4040816 40 40 250 | 200 | 50
3232P19 32 32 170 | 135 | 40
4040819 CN..1906.. 40 40 250 | 200 | 50 MC1904 MX1022 MY0823 ML0828 L4
4040V19 40 40 400 | 350 50




YAPO Gl [G] ZE ]

External Grooving Holder

MDJNR/L

A2 1 U HIIN U E) RN TS T TR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

R o E R v FE LRSS s F e
B s
Cat.No

S 1 A )

|70 28 i P DL e B R oo R ] 4R F e

1616H12 100 | 80 1616H11 100
P o0 | 20 s Lo || e 2020K11 DN..1104.. 20 | 20 | 125 | 100 | 25 MD1103 MX0513 MY0619 | ML0625 L2,.L3
CN..1204.. MC1204 MX0617 | MY0619 | MLO625 | L2513
2525M12 25 | 25 | 150 | 120 | 12.5 2525M11 25 | 25 | 150 [ 120 ) 32
3232P12 32 | 32 | 170 | 135 | 16 MDJNR/L 2020K15 20 | 20 | 125 [ 100 | 25
2525M15 DN..1504.. 25 | 25 | 150 | 120 | 32 MD1504
MCMNN | 2525M16 25 | 25 | 150 | 120 | 125 MX0619 MY0621 MLo625 | L2.5.L3
3232P16 CN..1606.. 32 | 32 | 170 | 135 | 16 MC1604 MX0822 | MY0823 | ML0828 L3,L4 8232P15 DN..15086.. 32 | 32 | 170 | 135 | 40 MD1506
4040516 40 | 40 | 250 | 200 | 20 4040815 40 | 40 | 250 | 200 ) 50
3232P19 32 | 32 | 170 | 135 | 16 4 fdi FH AN [5] JBE BE JT R I, I8 B A R )
CN..1906.. MC1904 MX1022 | MY0823 | ML0828 L4 L : . : )
4040819 40 40 250 | 200 | 20 When using a insert of different thickness, the corresponding Insert Shim should be replaced

| 7 Ruinsert | R specifications | 708 et b L o R ol IR L oo $0 F e

ke 2 I )
8

B S

Cat.No

- B BE v
B s
Cat.No

PO
B2 cos4

2020K12-40 20 | 20 | 125 | 100 | 10
CN..1204.. MC1204 MX0617 MY0619 ML0625 L2.5L3 1616H11 100 8
2525M12-40 25 | 25 | 150 | 120 | 12.5
2020K11 DN..1104.. 20 | 20 | 125 | 100 | 10 MD1103 MX0513 MY0619 ML0625 L2,L3
3232P12-40 32 | 32 | 170 | 135 | 16
2525M 11 25 | 25 | 150 | 120 | 12.5
MCMNN | 2525M16-40 25 | 25 | 150 | 120 | 12.5
3232P16-40 CN..1606.. 32 | 32 | 170 | 135 | 16 | MC1604 MX0822 | Myos23 | ML0s28 L3,L4 MDPNN | 2020K15 20 || 20 | 29 || 100 || iE
2525M15 DN..1504.. 25 | 25 | 150 | 120 | 12.5| MD1506
4040516-40 40 | 40 | 250 | 200 | 20 MX0619 MY0621 ML0625 L2.5L3
3232P19-40 1o @l @ ol @l G e om o o . 3232P15 DN..1506.. 32 | 32 | 170 | 135 | 16 MD1504
4040819-40 N h 40 | 40 | 250 | 200 | 20 4040815 40 | 40 | 250 | 200 | 50

A AN [V BE D R I8 B 6 A ) 2

When using a insert of different thickness, the corresponding Insert Shim should be replaced

PO
Co05



MZYER 22
M Type Clamp

YAPO

YAPO Gl [G] ZE ]

External Grooving Holder

B S
Cat.No

B e R AR o 0 F e

16 16

20

MSBNR/L

B S
Cat.No

T RS e | R como E RAREE e R F e

LAY AL IV APl
8

nn
16 16

1616H11 100 | 80 1616H12 100 | 80

2020K11 DN..1104.. 20 | 20 | 125 | 100 | 25 | MD1103 MX0513 | MY0819 | MLO625 | L2.L3 2020K12 20 | 20 | 125 | 100 | 10
SN..1204.. MS1204 MX0617 | MY0819 | MLO625 | L2.5.L3

MDQNRIL |_2225M1" 25 | 25 | 150 | 120 | 32 2525M12 25 | 25 | 150 | 120 | 12.5

2020K15 20 | 20 | 125 | 100 | 25 3232P12 32 | 32 | 170 | 135 | 16

DN..1504.. MD1506
2525M15 25 | 25 | 150 | 120 | 32 MX0619 | MY0621 | MLO625 | L2.5.L3 MSDNN | 2525M15 25 | 25 | 150 | 120 | 125
DN..1506.. MD1504

3232P15 32 | 32 | 170 | 135 | 40 3232P15 SN..1506.. 32 | 32 | 170 | 135 | 16 | Ms1504 MX0822 | MY0823 | MLos28 | L3.L4

4040515 40 | 40 | 250 | 200 | 20

= 6 )5 s AH N J]
NE NIEFAA AVA

AN RS BETD S 46 3232P19 32 | 32 [ 170 | 135 | 16
SN..1906.. MS1904 MX1022 | MY0823 | MLO0828 L4

4040519 40 | 40 | 250 | 200 | 20

x el
o |
-6° J L1
L1
1
_6D

st D L | E AR o | B s

16 16 20

R oy 8 F e
B =
Cat.No

[ ] e e P 22
16 16 12

PO
C06

1616H12 100 80
1616H12 100 80
2020K12 20 20 125 | 100 17
SN..1204.. MS1204 MX0617 MY0619 ML0625 L2.5L3 2020K12 20 20 125 | 100 25
2525M12 25 25 150 | 120 22 SN..1204.. MS1204 MX0617 MY0619 ML0625 L2.5L3
2525M12 25 25 150 | 120 32
3232P12 32 32 170 | 135 27
3232P12 32 32 170 | 135 40
2525M15 25 25 150 | 120 22
MSBNR/L MSKNR/L 2525M15 25 25 150 | 120 32
3232P15 SN..1506 32 32 170 | 135 27 MS1504 MX0822 MY0823 ML0828 L3,L4
3232P15 SN..1506.. 32 32 170 | 135 40 MS1504 MX0822 MY0823 ML0828 L3,L4
4040815 40 40 250 | 200 | 35
4040815 40 40 250 | 200 50
3232P19 32 32 170 | 135 27
3232P19 32 32 170 | 135 40
4040R19 SN..1906.. 40 40 200 | 155 35 MS1904 MX1022 MY0823 ML0828 L4 SN..1906.. MS1904 MX1022 MY0823 ML0828 L4
4040819 40 40 250 | 200 50
4040819 40 40 250 | 200 | 35

PO
co7




PO
B cos

YAPO ﬂE]] External Grooving Holder

,e‘s%i T

0°45°

»

-

MSSNRI/L

g! % J] Insert Shim * ‘M%Eemrekrew 'ﬁﬂgﬁt\mi' *Sanner
Cat.No
1616H12 16 16 100 80 20
2020K12 20 20 125 | 100 25
SN..1204.. MS1204 MX0617 MY0619 ML0625 L2.5,L3
2525M12 25 25 150 | 120 32
3232P12 32 32 170 | 135 | 40
MSSNR/L 2525M15 25 | 25 | 150 | 120 | 32
3232P15 SN..1506.. 32 32 170 | 135 | 40 MS1504 MX0822 MY0823 ML0828 L3,L4
4040815 40 40 250 | 200 | 50
3232P19 32 32 170 | 135 | 40
SN..1906.. MS1904 MX1022 MY0823 ML0828 L4
4040819 40 40 250 | 200 | 50
p ‘I’
L1
L

MTBNR/L

R REE (e B ciom AR L o 0 Fspme

A hiblLefl

1616H16 16 | 16 | 100 | 80 | 105
2020K16 20 | 20 | 125 | 100 | 16
MTBNRI/L TN..1604.. MT1603 MX0513 MY0619 MLO625 L2,L3
2525M16 25 | 25 | 150 | 120 | 21
3232P16 32 | 32 | 170 | 135 | 27.5
koY
:
L1
109 L

R BB v I Rl [ R AREE o L F e

A hbloel ] L

1616H16 16 16 100 80 8

2020K16 20 20 125 | 100 10

2525M16 TN..1604.. 25 25 150 | 120 [ 12.5 MT1603 MX0513 MY0619 ML0625 L2,L3
MTENN 3232P16 32 32 170 | 135 16

4040816 40 40 250 [ 200 | 20

2525M22 25 25 150 | 120 [ 12.5

3232P22 TN..2204.. 32 32 170 | 135 16 MT2204 MX0617 MY0819 ML0828 L2.5L4

4040822 40 40 250 | 200 | 20

R YA, IR RN TS T IR AR

B g
Cat.No

L1

For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

16 16

Y T B s

20

1616H16 100 | 80
2020K16 20 | 20 | 125 | 100 | 25
2525M16 TN..1604.. 25 | 25 | 150 | 120 | 32 MT1603 MX0513 MY0619 ML0625 L2,L3
3232P16 32 | 32 | 170 | 135 | 40
MTJNR/L 4040816 40 | 40 | 250 | 200 | 50
2525M22 25 | 25 | 150 | 120 | 32
S232p22 TN..2204.. %2 | %2 | 170 | 135 | 40 MT2204 MX0617 MY0819 ML0828 L2.5L4
4040R22 40 | 40 | 200 | 155 | 50
4040822 40 | 40 | 250 | 200 | 50
%
L1
-6° L

MTFNR/L

o U E ﬁ]ﬁﬂ%&d\?%? JIR A1 When cutting axially, the cutting amount should be less than or equal to the insert corner radius

B S
Cat.No

B o R AR oo R F e

16 16

1) 5 = e P
20

1616H16 100 80
2020K16 20 20 125 | 100 25
TN..1604.. MT1603 MX0513 MY0619 ML0625 L2,L3
2525M16 25 25 150 | 120 32
3232P 16 32 32 170 | 135 40
MTFNR/L
2525M22 25 25 150 | 120 32
3225P22 32 25 170 | 135 32
TN..2204.. MT2204 MX0617 MY0819 ML0828 L2.5L4
3232P22 32 32 170 | 135 40
4040822 40 40 250 | 200 50

PO
co09



YAPO ﬂE]] External Grooving Holder

L b

'
[e]

°
[(e]
w

o
T
—

MTUNRI/L

LGN R7) R ) R RS A N e AN S Y 5

When cutting axially, the cutting amount should be less than or equal to the insert corner radius

y = R "]' Specifications TIEE ientshin *’l‘a‘ﬂﬁ&mremw ‘ﬁﬂﬁﬂamp&rwm
8B =
Cat.No L | L1
| 1616H16 16 | 16 | 100 | g0 | 20 |
2020K16 i 20 | 20 | 125 | 100 | 25
TN..1604.. MT1603 MX0513 MY0619 ML0625 L2,L3
2525M16 25 | 25 | 150 | 120 | 32
MTUNR/L | 3232P16 32 | 32 [ 170 [ 135 | 40
2525M22 25 | 25 | 150 | 120 | 32
3232P25 TN..2204.. 32 | 32 | 170 | 135 | 32 MT2204 MX0617 MY0819 ML0828 | L2.5L4
4040522 40 | 40 | 250 | 200 | 50

|

Bl
Yy, P RN T T TR MR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

B RE | AR comp BRI o 1 F e

16 16 20

1616H16 100 80
2020K16 20 20 125 | 100 25
TN..1604.. MT1603 MX0513 MY0619 ML0625 L2,L3
2525M16 25 25 150 | 120 32
MTGNR/L
3232P16 32 32 170 | 135 37
3232P22 32 32 170 | 135 40
TN..2204.. MT2204 MX0617 MY0819 ML0828 L2.5L4
4040822 40 40 250 | 200 | 50

PO
C10

MZYER 22
M Type Clamp

YAPO

b

L1

—

MTQNRI/L

. R R | I R o IR OB s F e
=
16 16 20

1616H16 100 80
2020K16 20 20 125 | 100 25
TN..1604.. MT1603 MX0513 MY0619 ML0625 L2,L3
2525M16 25 25 150 | 120 32
MTQNR/L
3232P16 32 32 170 | 135 40
2525M22 25 25 150 | 120 32
TN..2204.. MT2204 MX0617 MY0819 ML0828 L2.5L4
3232P22 32 32 170 | 135 40

{2 U R 1
T T 15 A

When cutting axially, the cuttingamount should be less than or equal to the insert corner radius

| R specifications | T3 8 iersin BB s JFE R i FEAREREL Gy ] Fose

] =
s L = e e == =1

MVJNR/L

1616H16 16 16 100 80 20
2020K16 20 20 125 | 100 25
MVJNR/L VN..1604.. MV1603 MX0513 MY0826 ML0828 L2L3.L4
2525M16 25 25 150 | 120 32
3232P16 32 32 170 | 135 40

ﬂ = R Tj— Specifications | 7] B ngertshi *lf.\lﬁﬁ&mmw 'ﬁﬂgﬁuamm
=
Cat.No

(== lple/elsl=-# . 7]~
16 16 20

1616H16 100 80

2020K16 20 20 125 | 100 25 MY 0621 ML0625 L2,L3
MVQNR/L VN..1604.. MV1603 MX0513

2525M16 25 25 150 | 120 32

3232P16 32 32 170 | 135 | 40 MY0826 ML0828 L2,L4

PO
B3 c11



PO
c12

YAPO Gl [G] ZE ]

MVUNR/L

1 55 42 2 1 B S
U1 MR T2 T TR A AR

When cutting axially, the cutting amount should be less than or equal to the insert corner radius

—b—

‘EH Centre et ﬁlﬂﬁ Cam W

MVUNR/L

2020K16

2525M16

3232P16

VN..1604..

MV1603

L | L1
20 20 125 100 31
25 25 150 120 36
32 32 170 135 43

MX0513

MY0621

ML0625

L2,L3

MVVNN

1616H16

FOBE e

E=aunnen

2020K16

VN..1604..

2525M16

3232P16

100
20 20 125 | 100 10
25 25 150 | 120 [ 12.5
32 32 170 | 135 16

MV1603

MX0513

MY0826

EREL

ML0828

ﬁ*Spanner

L2,L4

MWLNR/L

L1
1616H06 16 16 100 80
2020K06 WN..0604.. 20 20 125 100 25 MWO0603 MX0513
2525M06 25 25 150 120 32
1616H08 16 16 100 80 20
2020K08 20 20 125 100 25
2525M08 25 25 150 120 32
WN..0804.. MWO0804 MX0617
3232P08 30 30 170 | 135 40
4040R08 40 40 200 155 50
4040808 40 40 250 | 200 50

MY0619

ML0625

%Spanner

¢ e‘

L2,L3

L2.5,L3

WCKNRI/L

B S
Cat.No

7 Hinsed R specifications | N nerstn

e

2020K12 20 125 | 100 | 25
WCKNRI/L | 2525M12 CN..1204.. 25 | 25 | 150 | 120 | 32 MC1204 WX0618 | WYT16 | WL0525 C5 L3,L4
3232P12 32 | 32 [ 170 | 135 | 40
% m
L1
L
99
\
T T

i B8 ey A con

ﬂﬂl

Eﬁﬂﬁ (impStrew

25

B g
Cat.No

2020K12 125 | 100
2525M12 CN..1204.. 25 | 25 [ 150 [ 120 | 32 | MC1204 WX0618 WYT16 WL0525 L3,L4
WCMNN 3232P12 32 | 32 | 170 | 135 | 40 c5
2525M16 25 | 25 | 150 | 120 | 32
CN..1606.. MC1604 WX0822 WYT16 WL0525 L4
3232P16 32 | 32 | 170 [ 135 | 40
b
®
’-ﬁ=> o L1
5
L
7\
H H

WCLNR/L

| 7 Rinsert | m R o] T oy B 0 (B BAR T
2020K12 125 100
2525M12 CN..1204.. 25 25 150 120 32 MC1204 WX0618 WYT16 WL0525 L3,L4
3232P12 32 32 170 135 40 C5
2525M16 25 25 150 120 32

CN..1606.. MC1604 WX0822 WYT16 WL0525 L4
3232P16 32 32 170 135 40 277)
B c1s



PO
C14

YAPO ﬂE]] External Grooving Holder

WCBNR/L

B4 CRIFR fiF e

B S
=
M Type Clamp '@ L | L1
2020K12 20 20 125 | 100
WCBNR/L 2525M12 CN..1204.. 25) 25) 150 | 120 32 MC1204 WX0618 WYT16 WL0525 C5 L3,L4
3232P12 32 32 170 | 135 40

L1

WCMNN-40 - *
A o] CRI R F e
=
Cat.No

2020K12-40 125 | 100
2525M12-40 CN..1204.. 25 | 25 [ 150 | 120 | 32 | MC1204 WX0618 WYT16 WL0525 L3,L4
WCMNN 3232P12-40 32 32 | 170 | 135 | 40 c5
2525M16-40 25 | 25 | 150 | 120 | 32
CN..1606.. MC1604 WX0822 WYT16 WL0525 L4
3232P16-40 32 | 32 | 175 | 135 | 40

@iy, DAy H
ANTET IR AL

For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

e BB s CRIR

h\

20

1616H16 100
2020K16 20 20 | 125 [ 100 | 25
WTJNR/L TN..1604.. MT1603 WX0515 WYT16 WL0525 C5 L2.5L4
2525M16 25 25 | 150 | 120 | 32
3232P16 32 32 | 170 | 135 | 40

o =

M Type Clamp

L1

H h ‘

T2 i R | FE R | EARIRE

ﬂﬂﬂlﬂ----ﬂ-

WTQNR/L

1616H16 100
2020K16 20 20 125 | 100 25
TN..1604.. MT1603 WX0515 WYT16 WL0625 C6 L2.5,L4
2525M16 25 25 150 | 120 32
3232P16 32 32 170 | 135 40

q:m\aﬁmEmgmm
)
Cat.No

WTENN

- S I S
8

1616H16 100
2020K16 20 20 125 | 100 10
TN..1604.. MT1603 WX0515 WYT16 WL0525 C5 L2.5L4
2525M16 25 25 150 | 120 [ 12.5
3232P16 32 32 170 | 135 16

WWLNR/L

mﬂﬁ (lmp ‘Hu

g =
B =
Cat.No L1

1616H06 100
2020K06 WN..0604 20 20 125 | 100 25 MWO0604 WX0515 | WYWO08 | WL0525 L2.5L4
2525M06 25 25 150 | 120 32
1616H08 16 16 100 80 20 C5
2020K08 20 20 125 | 100 25
WN..0804.. MW0804 WX0618 | WYT16 WL0525 L3,L4
2525M08 25 25 150 | 120 32
3232P08 32 32 170 | 135 40

PO

C15



T BX R
YAPO”E]] External Grooving Holder yAPO SSTy:péeE_aém?

907 L1

750 L
0°

SCACRI/L

B S O
=
8 8 60

R F spanner

T I
8 e 70 52 8

T
0808D06 52 8 0808E06
0808F06 8 8 80 68 8 0808F06 ) 8 8 80 68 8
CC..0602.. SC250744 T8
1010E06 10 10 70 62 10 1010F06 10 10 80 68 8.5
CC..0602.. SC250744 T8
1010F06 10 10 80 68 10 1212H06 12 12 100 80 10
1212F06 12 12 80 68 12 1212H09 12 12 100 80 10
1212H06 12 12 100 80 12 1616H09 16 16 100 80 13
1212F 09 12 12 50 o8 2 SCBCRI/L 2020K09 CC..09T3.. 20 20 125 | 100 7 SC350960 T15
SCACRI/L
1212H09 12 12 100 80 12 2525M09 25 25 150 | 120 22
1616H09 CC..09T3.. 16 16 100 80 16 SC350960 T15 1616K12 16 16 125 | 100 13
2020K09 20 20 125 | 100 20 2020K12 20 20 125 | 100 17
CC..1204.. SC501260 T20
2525M09 25 25 150 | 120 25 2525M12 25 25 150 | 120 22
1616H12 16 16 100 80 16 3232P12 32 32 170 | 135 29
2020K12 CC..1204.. 20 20 125 | 100 20 SC501260 T20
2525M12 25 25 150 | 120 25

f/91: _ b‘ f/@\ b‘
L 75 [ g L
o 0°l
|
SCFCRIL o | d g |

| 7 Binset | Rt specfications  |JI R insertscren| M F spanner | TR B nsertscren
B3
X Cat.No S

12

1010E06 10 10 70 62 0808E06 8 8 70 62 9
1010F06 CC..0602.. 10 10 80 68 12 SC250744 T8 0808F06 8 8 80 68 9
CC..0602.. SC250744 T8
1212E06 12 12 100 80 16 1010F06 10 10 80 68 12
1212F09 12 12 80 68 16 1212H06 12 12 100 80 16
1212H09 12 12 100 80 16 1212H09 12 12 100 80 16
1616H09 16 16 100 80 20 1616H09 16 16 100 80 20
SCFCR/L CC..09T3.. SC350960 T15 SCKCRI/L
2020K09 20 20 125 | 100 25 2020K09 CC..09T3.. 20 20 125 | 100 25 SC350960 T15
2525M09 25 25 150 | 120 32 2525M09 25 25 150 | 120 32
3232P09 32 32 170 | 135 40 3232P09 32 32 170 | 135 40
2020K12 20 20 125 | 100 25 2020K12 20 20 125 | 100 25
2525M12 CC..1204.. 25 25 150 | 120 32 SC501260 T20 2525M12 CC..1204.. 25 25 150 | 120 32 SC501260 T20
3232P12 32 32 170 | 135 40 3232P12 32 32 170 | 135 40
PO PO

C16 (3l



S FU R &

S Type Clamp

YAPO”E]] External Grooving Holder yAPO

f/95°' b‘
LL1 | 40°
s T y
SCLCRI/L | i b -

Insert SPE‘C'f'Cat' B | ncert screw *ﬁ qa Spanner |
B = " "
=
CatANO _nn. L1 -
0808F06 68
1070508 TRIETRIETR N m = B neriscen| W F spanner
1010F06 10 | 10 | 80 | 68 | 12 Cat N? y L1
1212F06 CC..0602.. 12 | 12 80 | 68 | 16 SC250744 T8 '
1212H06 12 | 12 | 100 | 80 | 16 0808F06-40 2
1616H06 16 16 100 80 20 1010E06-40 10 10 70 62 5
2020K06 20 | 20 | 125 | 100 | 25 1010F06-40 CC..0602.. 10 | 10 80 | 68 5 SC250744 T8
1212F09 12 12 80 68 16 1212F06-40 12 12 80 | 68 6
SCLCR/L 1212H09 12 12 | 100 | 80 16 1212H06-40 12 12 | 100 | 80 6
1616H09 16 | 16 | 100 | 80 | 20 1212F09-40 12 | 12 80 | 68 6
CC..09T3.. SC350960 T15
2020K09 20 | 20 | 125 | 100 | 25 SCMCN 1212H09-40 12 | 12 | 100 | 80 6
2525M09 25 | 25 | 150 | 120 | 32 1616H09-40 CC..09T3.. 16 | 16 | 100 | 80 8 SC350960 T15
3232P09 32 | 32 [ 170 | 135 | 40 2020K09-40 20 | 20 | 125 [ 100 | 10
1616H12 16 | 16 | 100 | 80 | 20 2525M09-40 25 | 25 | 150 | 120 | 12.5
2020K12 e 20 | 20 | 125 | 100 | 25 ¢ 2020K12-40 20 | 20 | 125 [ 100 | 10
..1204.. 501260 T20
2525M12 25 | 25 | 150 | 120 | 32 2525M12-40 CC..1204.. 25 | 25 | 150 | 120 | 12.5 SC501260 T20
3232P12 32 | 32 | 170 | 135 | 40 3232P12-40 32 | 32 [ 170 [ 135 | 16
| 50° .
fL &)
o> b |
‘ ¢-I=o L1
50° L1 L
0° | L
| — 0
H "| n

) U EIE, D) E RN T2 T IR M 1R For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

TH B nertsce

12 12 80 68 16

TR B nserisce

O rolefule]

0808F06 8 8 80 | 68 | 4
O0ETE 10| 10 || | & | & 121207 DC..0702.. SC250744 T8
1010F06 CC..0602.. 10 | 10 | 80 | 68 | 5 SC250744 T8 1212H07 12 | 12 | 100 | 80 | 16
el o | e
:Zi:ss 12 :i 1;; ZZ Z 2020K11 pe.MT3. 20 | 20 | 125 | 100 | 25 $€350960 e
SCMCN 1212H09 12 | 12 | 100 | 80 | 6 2525M11 25 | 25 | 150 | 120 | 32

1616H09 CC..09T3.. 16 | 16 | 100 | 80 | 8 SC350960 T15
2020K09 20 | 20 | 125 [ 100 | 10
2525M09 25 | 25 | 150 | 120 | 125
2020K12 20 | 20 | 125 | 100 | 10
2525M12 CC..1204.. 25 | 25 | 150 | 120 | 12.5 SC501260 T20

PO 3232P12 32 32 | 170 | 135 | 16 PO

Cc18 C19



T BX R
YAPO”E]] External Grooving Holder yAPO SSTy:péeE_aém?

62.5°
f b‘ fl = ‘
— b
L /9 /@
/- L1 62.5° o
-90 L L
07 0
|
H‘ ‘ h‘ H‘ ‘ h‘
P . M| L - A T In N X . . . .
T DIEIRS, DIE R RN AT TR A AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius _ 7] Qgﬂ *ﬁ %E
Insert
R specifications | J) Ky $84 insertscrew| 3W T Spanner B o2
Cat.No ﬁo L | L1
[ o 2 . i - o -
0808D07 8 8 .60 | 52 | 8 0808D07 R s 8 |60, 2 4
0808F07 ’ 8 8 | 80 | 68 | 8 0808F07 8 8 | 80 | e8 4
1010E07 10 | 10 | 70 | 62 | 10 1010E07 10 | 10 | 70 | 62 5
1010F07 DC..0702.. 10 | 10 | 80 | 68 [ 10 SC250744 T8 1010507 DC..0702.. 10 || 90 || & || &8 || € SC250744 8
1212F07 12 | 12 | 80 | 68 | 12 1212F07 12 | 12 | 80 | 68 | 6
SDACRIL 1212H07 12 | 12 [ 100 | 80 | 12 2112500 12 | 12 | 100 | 80 [ &
1616K07 16 16 125 100 16 SDPCN 1616H07 16 16 100 80 8
1212F 11 12 | 12 | 80 | 68 | 12 12271 12 | 12 | 80 | 68 | &
1212H11 12 | 12 [ 100 | 80 | 12 1212H11 12 | 12 | 100 | 80 | &
1616H11 DC..11T3.. 16 | 16 | 100 | 80 | 16 SC350960 T15 LeIehilt DG 1173, 6| 18 |[1e0 ) & || 8 SC350960 15
2020K11 20 | 20 [ 125 [ 100 | 20 2020K11 20 | 20 | 125100 | 10
2525011 25 | 25 1150 [ 120 | 25 2525M11 25 | 25 | 150 | 120 | 12.5
3232P11 32 | 32 170 | 135 | 16
f b‘ b‘
L1 L1
! L
93° |
0y
SDJCRIL i | " i "

B EIE, PEE NN T ST IR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

y =
B 5
Cat.No

10 10 70 12

T A B nertsce

10 10 12

1010E07 62 1010E07 70 62
1010F07 10 10 80 68 12 1010F07 10 10 80 68 12
DC..0702.. SC250744 T8

1212F07 12 12 80 68 16 1212F07 12 12 80 68 16

DC..0702.. SC250744 T8
1212H07 12 12 100 80 16 1212H07 12 12 100 80 16
1616H07 16 16 100 80 20 SDQCR/L 1212F11 12 12 80 68 16
2020K07 20 20 125 | 100 25 1212H11 12 12 100 80 16

SDJCR/L

1212F 11 12 12 80 68 16 1616H11 DC..11T3.. 16 16 100 80 20 SC350960 T15
1616H11 16 16 100 80 20 2020K11 20 20 125 | 100 25
2020K11 20 20 125 | 100 25 2525M11 25 25 150 | 120 32

DC..11T3.. SC350960 T15
2525M11 2.5) 25 150 | 120 32
3232P11 32 32 170 | 135 40
4040R11 40 40 200 | 155 50

PO PO

C20 c21



S AR

S Type Clamp

YAPO”E]] External Grooving Holder yAPO

-45°

fl

d |

SRACRI/L

)# Insert cations

7 Fneet | TR B nsertsrew

8 g

B g

PO
c22

1010E06 5
1010E05 10.3 1010F06 10 | 10 | 80 | 12 5
1010F05 10 10 80 10 | 10.3 1212F06 12 12 80 12 6
1212F05 12 | 12 80 10 |12.3 1212H06 RC..0602.. 12 12 | 100 | 12 6 §C250744 T8
1212H05 12 | 12 | 100 | 10 [12.3 1616H06 16 | 16 | 100 | 12 8
RC..0502.. SC220556 T6
1616H05 16 | 16 | 100 | 10 |16.3 2020K06 20 | 20 [ 125 | 12 | 10
2020K05 20 | 20 | 125 | 10 [20.3 2525M06 25 | 25 | 150 | 12 | 125
2525M05 25 | 25 | 150 | 10 | 25.3 OI0E08 10| 10 || & | 9& 2
1010F08 10 | 10 | 80 | 16 5
3232P05 32 | 32 | 170 | 10 |32.3
1212F08 12 | 12 | 80 | 16 6
1010E06 10 | 10 | 70 | 12 |10.4
1212H08 RC..0803.. 12 12 100 [ 16 6 SC300760 T8
1212F06 12 | 12 | 80 | 12 |12.4
1616H08 16 | 16 | 100 | 16 8
SRDCN
1616H06 RC..0602.. 16 16 100 12 16.4 SC250744 T8 2525M08 25 25 150 16 12.5
2020K06 20 | 20 | 125 | 12 | 204 1010E10 10 | 10 | 70 1203 5
2525M06 25 | 25 | 150 | 12 |25.4 1010F10 0] 10 | 8 j203) S
1212F10 12 | 12 | 80 [203]| 6
3232P06 32 | 32 | 170 | 12 |32.4
SRACRI/L 1212H10 RC..1003.. 12 | 12 | 100 [ 203 | 6 SC350960 T15
1616H08 16 | 16 | 100 | 16 | 16.5 1616H10 16 | 16 | 100 | 203 | s
2020K08 20 | 20 | 125 | 16 |205 2020K10 20 | 20 | 125 [ 20.3| 10
RC..0803.. SC300760 T8
2525M08 25 25 150 16 255 2525M10 25 25 150 | 20.3 | 12.5
3232P08 32 | 32 | 170 | 16 | 325 1212H12 12 | 12 | 100 25 6
1616H12 16 | 16 | 100 | 25 8
2020K10 20 | 20 | 125 | 20.3 | 20.4
2020K12 RC..1204.. 20 | 20 [ 125 | 25 | 10 SC501260 T20
2525M10 RC..1003.. 25 25 150 | 20.3 | 25.4 SC350960 T15 2525M12 25 25 150 25 125
3232P10 32 32 170 | 20.3 | 32.4 3232P12 32 32 170 25 16
2020K12 20 | 20 | 125 | 20.3 | 205
2525M12 RC..1204.. 25 | 25 | 150 | 20.3 | 25.4 SC501260 T20
3232P12 32 | 32 | 170 | 20.3 | 325
2525M16 25 | 25 | 150 | 25 | 255
3232P16 RC..1604.. 32 | 32 | 170 | 25 | 325
4040516 40 | 40 | 250 | 25 |40.5 SC501260 T20
3232P20 32 | 32 | 170 | 30 | 325
RC..2006..
4040520 40 | 40 | 250 | 30 |40.5

PO
c23



S FU R &

S Type Clamp

YAPO ﬂE]] External Grooving Holder

60°

| | n

N Rt | DRBE nseiscen| B F spanner |

A el

7 Fneet | TR BE nsertsrew

PO
c24

=5 _ﬂﬂlﬂll--
1212F05
1212H05 12 | 12 | 100 | 80 | 16
1616H05 RC..0502.. 16 | 16 | 100 | 80 | 20 SC220556 T6
2020K05 20 | 20 | 125 | 100 | 25
2525M05 25 | 25 | 150 | 120 | 32
1212F06 12 | 12 80 | 68 | 16
1212H06 12 | 12 | 100 | 80 | 16
1616H06 RC.. 0602.. 16 | 16 | 100 | 80 | 20 SC250744 T8
2020K06 20 | 20 | 125 | 100 | 25
SRGCR/L
2525M06 25 | 25 | 150 | 120 | 32
1616H08 16 | 16 | 100 | 80 | 20
2020K08 RC..0803.. 20 | 20 | 125 | 100 | 25 SC300760 T8
2525M08 25 | 25 | 150 | 120 | 32
2020K10 20 | 20 | 125 | 100 | 25
2525010 RC..1003.. 5 | 25 1150 120 | 32 SC350960 T15
2020K12 20 | 20 | 125 | 100 | 25
2525M12 RC..1204.. 25 | 25 | 150 | 120 | 32 SC501260 T20
3232P12 32 | 32 | 170 | 135 | 40
f ‘ @ b
90° / L1
L
I
H n |

TP e, UV E RN T ST JIR A Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

B g
Cat.No

TR BE erscren

STACRI/L

0808H09 TC..0902.. 100 SC220556
1010H11 10 10 100 80 | 10.3

TC..1102.. SC250744 T8
1212K11 12 12 125 | 100 | 12.3

1616H11 100
2020K11 TC..1102.. 20 | 20 | 125 | 100 | 14.5 SC250744 T8
2525M11 25 | 25 | 150 | 120 | 19.5
STECR/L
2020K16 20 | 20 | 125 | 100 | 12
2525M16 TC..16T3.. 25 | 25 | 150 | 120 | 17 SC350960 T15
3232P16 32 | 32 | 170 | 135 | 22
© f 91+ b ‘
7@ L1
+ 3
05
i
H‘ | h \

el 1) 77 ) o

s DIBIE RN T 28T TIR M 17 When cutting axially, the cutting amount should be less than or equal to the insert corner radius

STFCRI/L

1212F09 TC..0902.. 68 SC220556

1212F 11 12 12 80 68 16

1212H11 TC..1102.. 12 12 100 80 16 SC250744 T8
1616H11 16 16 100 80 20

1616H16 16 16 100 80 20

2020K16 20 20 125 | 100 25

2525016 TC..16T3.. P Py 150 | 120 2 SC350960 T15
3232P16 32 32 170 | 135 40

PO
C25



SHRE
S Type Clamp

YAPO i ] ZE 7] YAPO

External Grooving Holder

15 | ‘
fL b‘ - 75: a
< /75 t1 ) LL1
0; ) i .
SSBCRIL n N SSKCRIL | i

7] FI. l%ﬁ Insert Screw

= Rt specfications
1
B S
Cat.No L L1 f
12 12 80 9.5

TV B nsertscrew
i
Cat.No

12 12 80 68 16

1212F09
1212F09 68 1212H09 12 | 12 | 100 | 80 | 16
1202705 SC. 0973, i2 || 92 | 189 || &0 || &E 5350960 15 1616H09 SC..09T3.. 16 | 16 | 100 | 80 | 20 SC350960 T15
1616H09 6 | 20 | 100 | 80 | 13 2020K09 20 | 20 | 125 | 100 | 25
SSBCR/L 2020K09 20 | 20 | 125 | 100 | 17 SSKCR/L 2525009 25 | 25 1150 [ 120 | 32
1616H12 6 | 16 | 100 ] 80 | 13 2020K12 20 | 20 [ 125 | 100 | 25
AV20L)2 SC..1204.. 29 || 2 | 925 || 180 || 17 $C501260 T20 2525M12 SC..1204.. 25 | 25 | 150 | 120 | 32 SC501260 T20
2525M12 25 | 25 | 150 | 120 | 22 3232P12 32 | 32 [ 170 | 135 | 40
| \45°
g a R n‘
/ L1 ©) )
L 45°| — L
0 o;
I‘ ”_r i | T ;‘

TR R insertscrew
B 5
Cat.No

12 12 80

TR B e screw
B =S
Cat.No

12 12 80 68 16

PO
c28

1212F09 68 6 1212F09

1212H09 12 12 100 80 6 1212H09 12 12 100 80 16

1616H09 SC..09T3.. 16 16 100 80 8 SC350960 T15 1616H09 SC..09T3.. 16 16 100 80 20 SC350960 T15
SSDCN 2020K09 20 20 125 | 100 10 SSSCRIL 2020K09 20 20 125 | 100 25

2525M09 25 25 150 | 120 [ 12.5 2525M09 25 25 150 | 120 32

1616H12 16 16 100 80 8 2020K12 20 20 125 | 100 25

2020K12 SC..1204.. 20 20 125 | 100 10 SC501260 T20 2525M12 SC..1204.. 25 25 150 | 120 32 SC501260 T20

2525M12 25 25 150 | 120 | 12.5 3232P12 32 32 170 | 135 | 40

PO
c29



T BX R
YAPO”E]] External Grooving Holder yAPO SSTy:péeE_aém?

Y— -Q‘
© L1 — - D‘
3° 93" [©
L / L1
0] L
= | i -
SVJ - R/L
e R SVU-R/L - -
A I, D) H) RSN T AT )R A AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

TN B2 certscrew | 1 3F spanner b1 DY U S U0 B RN+ 25+ JIR 42 When cutting axially, the cutting amount should be less than or equal to the insert corner radius
Inser ﬂgﬁ Insert Screw *ﬁ qa Span

_ﬂﬂlﬂ--

= (3 T . O

2020K1102 .1102.. 125 | 100 SC250744
1212F 11 12 | 12 [ 80 | 68 | 16 o601t o 11os 100 reoras N
1212H11 2 | 12 | 100 ] & | 16 2020K11 - 20 | 20 | 125 | 100 | 25
1616H11 VB..1103.. 16 | 16 | 100 | 80 | 20 SC250744 T8 SVUBRIL 1616M16 6 16 1100 [ 80 | 2
SVJBRI/L 2020k 20 20 | 125 | 100 | 25 2020K16 VB..1604.. 20 20 | 125 | 100 | 30 SC350960 T15
2525M11 25 | 25 | 150 | 120 | 32 2525016 25 | 25 1150 1120 | 32
1616H16 16 | 16 | 100 )] 80 | 20 1616H11 Ve 1103 16 | 16 | 100 | 80 | 20 Scas074s T
2020516 VB.1604.. 20 || 2 || 128 || 100 || 29 SC350960 15 2020K11 e 20 | 20 | 125 [ 100 | 25
2525M16 25 | 25 [ 150 [ 120 | 32 SUUCRIL 1616R16 6 1 16 T100 | 80 | 29
2 25lo 2 || &8 || 100 || 138 || e 2020K16 Ve 1004 20 | 20 [ 125 [ 100 | 30 SC350960 s
1010H 1 10| 10 | 100 80 | 12 2525M 16 B 25 | 25 | 150 | 120 | 32
1212F 11 12 | 12 | 80 | 68 | 16 3232P16 32 | 32 [ 170 | 135 | 40
1212H11 12 | 12 [ 100 | 80 | 16
VC..1103.. SC250744 T8
1616H11 16 | 16 | 100 | 80 | 20
SVICRIL 2020K11 20 | 20 [ 125 [ 100 | 25 z2.5
-
2525M11 25 | 25 | 150 [ 120 | 32 o> Q‘
1616H16 16 | 16 | 100 | 80 | 20 -
72.5° L
2020K16 20 | 20 [ 125 [ 100 | 25 1
VC..1604.. SC350960 T15 . L
2525M16 25 | 25 | 150 | 120 | 32 07
3232P16 32 | 32 [ 170 [ 135 | 40 T
= | -
-Q‘
- (@)
® R specifications | VA% insertscren| W TF spanner

) B S
117.50 L CatNo _nun--
12 12 80 68 6

0
1212F 11
I o
1212H11 12 12 | 100 | 80 6
1616H11 VB..1103.. 16 16 | 100 | 80 8 SC250744 T8
g = nsert ST Specifications BB cersaen] IR F Spanner 2020K11 20 | 20 | 125 | 100 | 10
8 = SVVBN 2525M11 25 | 25 | 150 | 120 [ 125
Cat.No L1 1616H16 16 | 16 | 100 | 80 | 8
2020K16 20 | 20 | 125 [ 100 | 10
1616H11 100 VB..1604.. SC350960 T15
VB..1103.. SC250744 T8 2525M16 25 | 25 | 150 | 120 | 12.5
2020K11 20 | 20 | 125 | 100 | 25
3232P16 32 | 32 [ 170 | 135 | 16
1616H16 16 | 16 | 100 | 80 | 20
SVQBR/L 1212F 11 12 12 80 68 6
2020K16 20 | 20 | 125 | 100 | 25
VB..1604.. SC350960 T15 1212H11 12 12 | 100 | 80 6
2525M16 25 | 25 | 150 | 120 | 32
1616H11 VC..1103.. 16 | 16 | 100 | 80 8 SC250744 T8
3232P16 32 | 32 | 170 | 135 | 40
2020K11 20 | 20 | 125 | 100 | 10
1616H11 16 | 16 | 100 | 80 | 20
VC..1103.. SC250744 T8 SVVCN 2525M11 25 25 | 150 | 120 | 12.5
2020K11 20 | 20 | 125 | 100 | 25
1616H16 16 16 | 100 | 80 8
1616H16 16 | 16 | 100 | 800 | 20
SVQCR/L 2020K16 20 | 20 | 125 | 100 [ 10
2020K16 20 | 20 | 125 | 100 | 25 VC..1604.. SC350960 T15
VC..1604.. SC350960 T15 2525M16 25 | 25 | 150 | 120 | 125
PO 2525M16 25 | 25 | 150 | 120 | 32 0O
3232P16 32 | 32 [ 170 | 135 | 16
Cc30 3232P16 32 | 32 | 170 | 135 | 40 Cc31




T BX R
YAPO”E]] External Grooving Holder yAPO §T)ﬁ)%i$_§mf§

f b‘ o f b
ﬁ o L1 ,ﬁ, $le L1
91° L L
09 05
| I
H | | h‘ H h
Fw N EI, YE NN T T IR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius e DI, D) RN T A5 T JTR M 2B AR When cutting axially, the cutting amount should be less than or equal to the insert corner radius
w T e TR ol - oo R scttors | TR s | B sp
"5
CatNo L|L1| f @ L L
1212F11 12 12 80 68
1010F09 10 10 80 68 12 TC..1102.. SC250744 T8
1616H11 16 16 100 80 20
1212F09 TC..0902.. 12 12 80 68 16 SC220556 T6
STUCRI/L 2020K16 20 | 20 | 125 | 100 | 25
1212H09 12 12 100 80 16
2525M16 TC..16T3.. 25 25 150 | 120 32 SC350960 T15
1212F 11 12 12 80 68 16
3232P16 32 32 170 | 135 40
1212H11 12 12 100 80 16
TC..1102.. SC250744 T8
STGCRI/L 2020K11 20 20 125 | 100 25
1616H11 16 16 100 80 20
1616H16 16 16 100 80 20
2020K16 20 20 125 | 100 25
TC..16T3.. SC350960 T15
2525M16 25 25 150 | 120 32
3232P16 32 32 170 | 135 40 b ‘
L1
L
Hl | h‘
E b‘ STWCRI/L

D Kot | FBE neriscen| 8] F sporner |

93 _/
OTI L |l =
Cat.N
— at.No L1

i

+

1212F11 15.3
1212H11 12 12 100 | 80 | 15.3

N7 1-11) 1 I N SlR VA N S EA RV S Forradialcutting the cutting amount should be less than or equal to the insert angle corner radius 1616H 11 TC..1102 16 16 | 100 | 80 | 19.3 SC250744 T8
2020K11 T 20 | 20 | 125 | 100 | 233

Insert Specmca‘uo 7] H‘ﬂgﬁ Insert Screw

B = 2525M11 25 | 25 | 150 | 120 | 28.3
STWCRI/L
Cat.No L1 3232P11 32 | 32 [ 170 | 135 | 38
1616H16 16 | 16 | 100 | 80 | 21

1616H11 TC..1102.. 100 $C250744 2020K16 20 | 20 | 125 | 100 | 26
TC..16T3.. $C350960 T15
STJCRI/L 2020K16 20 | 20 | 125 | 100 | 25 2525M16 25 | 25 | 150 | 120 | 31
TC..16T3.. $C350960 T15
2525M16 25 | 25 | 150 | 120 | 32 3232P16 32 | 32 | 170 | 135 | 38
PO PO

C26 c27



F [BF €
YAPO WNIEX

JJFI-Insert a R T.l- Specifications 7] ﬂlnsertsh\'m I:':I"Mu!ﬁCemreSuew Eﬁc‘amp Eﬁ!&!ﬁdempmew ?ﬁq:-s;)annu

= wodfLhha B # A 4 )

S16N-MCKNR/L12 o21] 16 | 12 [160 | 27 | 15 | 17 MX0611 | MY0515-A |  MLO516 L2.5
S20Q-MCKNR/L12 26| 20 | 14 | 180 | 34 | 18 | 15° | McC1204 MY0515 ML0520 2.5
S25R-MCKNR/L12 32| 25 |16.5] 200 | 43 | 23 | 12° MX0613 MY061910 |  ML0620 12,53
S32S-MCKNR/L12 | CN..1204.. | ®40| 32 |22.5| 250 | 54 | 30 | 17°
S40T-MCKNR/L12 50| 40 | 26 | 300 | 68 | 37 | 15°
MC1904 MX0617 MY0619 ML0625 12,513
S50U-MCKNR/L12 60| 50 | 33 | 350 | 85 | 47 | 12-
S60V-MCKNR/L12 70| 60 | 36 | 400 | 102 | 56 | 10°
S50U-MCKNR/L19 | CN..1906.. | 60| 50 |32.5]| 350 | 85 | 47 | 12° MX1022 MY0823 ML0828 L4
_h
|
e S
|
a~/. L
_h

J] Fl-lnsert R _‘.I- Specifications 7] ﬂ Insert Shim *’bgﬁCentreScrew Eﬁﬂamp Eﬁu*_&dampkrew ﬁ%Spanner

B © wroat L wha [ y 4 / )

1
S16N-MCWNR/L12 26| 16 | 15 | 160 | 27 | 15 | 17
S20Q-MCWNR/L12 30| 20 | 17 | 180 | 34 | 18 ° MY0STS MLoste L2s
- 8 MX0613

S25R-MCWNR/L12 | CN..1204.. | ®35| 25 |19.5| 200 | 43 | 23 | 12 MY061910 |  MLO620 2,53
S32S-MCWNR/L12 42| 32 | 23 [250 | 54 | 30 | 17-

MC1204 MX0617 MY0619 MLO625 L2.5,L3
S40T-MCWNR/L12 50| 40 | 27 | 300 68 | 37 | 15

c32



YAPO mflE]] Internal Turning Holder

M 2Y [ 2%

M Type Clamp

PO
C33

_h
- c =/ - - "= "= ‘"= d
as]- _h
L
_h _.________,'d
|
69 — ) O B ————
. a-~/-
L
_h
J]}'Jl-lnsert R T.I'Specifications ”glnsertshim q"t‘!ﬁtentre&rew Eﬁﬂamp EERQ—QUMPSCWW*E%SPW&!
B S 6 R b I S
. urpd f L It h @ Y ' ) l
A 16 U0 055 g R UL U RSN TSR T TT R A AR When cutting axially, the cutting amount should be less than or equal to the insert corner radius
S16N-MCLNR/L12 D22 | 16 " 160 | 27 15 17°
$16Q-MCLNR/L12 22| 16 | 11 [ 180 | 27 | 15 | 17° R Rl I L2.5 B = Zhite R TVE risin P BE covescer FEAR cim BRI s B F sy
S$20Q-MCLNR/L12 d25| 20 13 | 180 | 34 18 15° . ﬂrMu o
S MY0515 ML0520 Cat.No =®Pd f L I+ h a a ' ‘ ,
S20R-MCLNR/L12 d25| 20 13 | 200 | 34 18 15 MX0613
- ° MY06191 ML062 L2.5L3 s
S26R-MCLNRL12 | = |®32] 25 [16.5]200| 43 | 23 120 061910 0620 S16N-MDLNR/LA1 o22] 16 1 10 L1eo | 27 | 15 | 17 WY0STEA | WLoste |
S32S-MCLNR/L12 P40] 32 |22.5/250 | 54 | 30 | 17 S20Q-MDLNR/L11 | DN..1104.| 25| 20 | 12 | 180 | 34 | 18 | 15 MX0510 | MY0515 | ML0520
S40T-MCLNR/L12 d50 | 40 26 | 300 | 68 37 15° S$25R-MDLNR/L11 ®32| 25 16 | 200 | 43 23 12°
° MY0619 MLO0625 12,53 > MY0619 MLO620 L2,L3
$45U-MCLNR/L12 55| 45 [29.5]350 | 77 | 42 | 15° | MC1204 MX0617 5, 5325-MDLNR/L15 ool 2 | 20 llmel & |l @ || 97
S50U-MCLNR/L12 60 | 50 31 | 350 | 85 47 | 12° S40T-MDLNR/L15 DN..1504.. [ ®50| 40 | 26 | 300 | 68 37 | 15° MD1504 MX0617
B 5 MY0621 ML0625 L2513
S60V-MCLNR/L12 ®70| 60 | 36 | 400|102 | 56 | 10 S50U-MDLNR/L15 60| 50 | 32 | 350 | 85 | 47 | 12
S40T-MCLNR/L16 D50 | 40 26 | 300 | 68 37 15°
CN..1606.. - MC1604 MX0822 L3,L4
S50U-MCLNR/L16 ®60 | 50 31 | 350 | 85 47 12
. MY0823 ML0828
S50U-MCLNR/L19 ®60 | 50 31 | 350 | 85 47 12
CN..1906.. - MC1904 MX1022 L4
S60V-MCLNR/L19 ®70 | 60 36 | 400 | 102 | 56 10 _h
[
2 B e
flop° |
—h_ 11
L
| a’ _h—
——  — - - — — )d
f|197.5 . l 637%
I1 z N = =
a° L
h
6° A 10 U H0 55 el 0B DTN, DR RN T AR T TR A AR When cutting axially, the cutting amount should be less than or equal to the insert corner radius
N B e G /A g = J]}#Insert R _‘rSPeCificationS J]ﬂlnsensmm ’b!ﬁtemreScrew EﬁCIamp Eﬁnﬁﬂampmw ﬁ*Spanner
i = =/
Cat.No I q)d f L |1 h a a ‘
gy = JJFI-Insert R _‘rSPeCificationS 7]gInsertShim:F'fp‘ugCemreScrew Eﬁﬂamp Eﬁu&—!(hmp&mwﬁ%mnnev
g: = llm S16N-MDUNR/L11 P22| 16 10 | 160 | 27 15 17° MY0515-A MLOS16
I o L2,L2.
Cat.No ®dd f L 1 h a a ‘ $20Q-MDUNR/L11 DN..1104.. [®25| 20 | 12 [ 180 | 34 | 18 | 15° MX0510 | MY0515 °
S25R-MDUNR/L11 ®32| 25 16 | 200 | 43 23 12° MY0619 L2,L3
° B ML0620
S16N-MDQNR/L11 ®22| 16 | 11 [ 160 | 27 | 15 17° wosisa | miosts | L2125 S25R-MDUNR/L1S o32] 25 | 16 | 200 | 23 | 23 | 12 RO
S20Q-MDQNR/L11 DN..1104.. | ®25( 20 13 | 180 | 34 18 16 MX0510 S32S-MDUNR/L15 ®40| 32 21 | 250 | 54 30 17°
o MY0621
S25R-MDANR/L 11 ©32| 25 | 17 |200] 43 | 23 | 12 MY0621 | MLOG0 | L2ts S40T-MDUNRIL1S | o |®50] 40 | 26 | 300 | 68 | 37 | 15° | MD1504 |  Mx0617 mos2s | W23
$20Q-MDQNR/L15 ®25| 20 | 13 180 | 34 | 18 150 Mx0613  |MYOS15-A |  MLO516 L25 S50U-MDUNR/L15 " |oeo| 50 | 32 | 350 | 85 | 47 | 12°
S25R-MDQNR/L15 P32 | 25 17 | 200 | 43 23 12
S32S-MDQNR/L15 DN..1504.. |®42| 32 |22.5|250 | 54 | 30 | 17°
= MY0621 ML0625 L2.5,L3
S40T-MDQNR/L15 d50 | 40 26 | 300 | 68 37 15 MD1504 MX0617
S50U-MDQNR/L15 d63 | 50 33 | 350 | 85 47 12°

PO
C34



YAPO i1 Fl % T

~—h_+
mE———)
| AlR62°
62° |—L1— |

—h—

é_%__

Internal Turning Holder

B S

Cat.No

JJFI-Insert

o]

BNdd f L

_
M2 [BR 2% /\
M Type Clamp f—

YAPO

R Tj’Specifications
It h &

7] E Insert Shim ql'l‘a‘uﬁCentreScrew Eﬁdamp Eﬁgﬁtlamp&rew *ﬁ%smnner

B 4 a /)

g = 7] ,'Jl-lnsert R _‘.I- Specifications 7] ﬂ Insert Shim q‘ﬂt)gﬁCentreScrew Eﬁﬂamp Eﬁugﬂampkw ﬁ%Spanner
i el &/vim o
Cat.No Iz dd f L b h a a ‘
S25R-MDWNR/L15 DN..1504.. [ ®38| 25 |24.5| 200 | 43 23 12° MX0613 MY0621 ML0620
S32S-MDWNR/L15 ®45| 32 28 | 250 | 54 30 15° 12.5.13
S40T-MDWNR/L15 DN..1506.. | ®53| 40 32 | 300 | 68 37 13° MD1504 MX0619 MY0621 ML0625 '
S50U-MDWNR/L15 ®63 | 50 36 | 350 | 85 47 13°
_h
[
[
a - L
h

4 s NA=N A I NS
P DV EI, DYE RN T TR A AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

e TR insert R =F specifications TVE s BOREE Coescen FE R clomp B2 congscen 3 Fspome
8 5 v e
Cato s dd f L b h a L o]
S20Q-MDZNR/L11 25| 20 | 13 | 180 | 34 | 18 | 15
DN..1104.. MX0510 L2,L3
S25R-MDZNR/L11 @32 | 25 | 17 | 200 | 43 | 23 | 17 MY0619 |  ML0B20
S25R-MDZNR/L15 ®32 | 25 | 17 | 200 | 43 | 23 | 12° MX0613
S32S-MDZNR/L15 40 | 32 | 22 | 250 | 54 | 30 | 17°
DN..1504.. —| MD1504 1253
S40T-MDZNR/L15 50 | 40 | 27 | 300 | e8 | 37 | 15 MX0617 | MY0621 | ML0B25
S50U-MDZNR/L15 @60 | 50 | 35 | 350 | 85 | 47 | 12°

S16N-MSKNR/L12 D22 | 16 11 | 160 | 27 15 | 17° MY0515-A
- MX0611 MLO516 L2.5
S20Q-MSKNR/L12 ®25| 20 | 13 | 180 | 34 | 18 | 15 MY0515
S25R-MSKNR/L12 ®32| 25 | 17 [ 200 | 43 | 23 | 12 MX0613 MY061910 ML0620 L2.5,L3
S32S-MSKNR/L12 ®40| 32 | 22 [ 250 | 54 | 30 | 17°
S40T-MSKNR/L12 SN..1204.. | P50 | 40 | 27 | 300 | 68 37 | 15°
MS1204 MX0617 MY0619 ML0625 L2.5,L3
S45U-MSKNR/L12 ®55| 45 | 30 [ 350 | 77 | 42 | 15°
S50U-MSKNR/L12 ®63 | 50 | 34 | 350 | 85 | 47 | 12°
H
a’ 77777777777777777777!)(1
f|45
: 11 L
H
01
‘ )

B S

Cat.No

J],#Insert

O

BMdd f L It

R T.r Specifications 7] ﬂ nsert Shim *lﬁﬁﬁ Centre Screw Eﬁ Clamp Eﬁuﬁ Clamp Serew *ﬁ;Spanner

SN - B Y. Y A

S16N-MSSNR/L12

S20Q-MSSNR/L12

S25R-MSSNR/L12

SN..1204..

S$328-MSSNR/L12

@26 | 16 15 | 160 | 27 15 17° MX0611 MY0515-A MLO516

@30 | 20 17 | 180 | 34 18 15° MY0515 ML0520
MX0613 L2.5,L3

®35| 25 |19.5| 200 | 43 | 23 | 12° MY061910 ML0620

42| 32 23 | 250 | 54 30 | 17° MS1204 MX0617 MY0619 ML0625

50
c36



YAPOWJIE]] Internal Turning Holder M%e,:r%

A YIEIE, D) HEE RN T 85T IR A AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius B UTHIRS DT RR N TR T IIR M AR When cutting axially, the cutting amount should be less than or equal to the insert corner radius
g! = JJJ'JI-Insert R T."Specifications nﬂlnsensmm ‘F'I:}Hﬁ&ntremew EﬁCIamp Eﬁuﬁclampmw*ﬁ$5panner gg = JJH-Insert R T.I'Specifications nglnsertshim*'l:‘gﬁCentreScrew Eﬁﬂamp Eﬁﬂﬁ(lempmw ﬁ*Spanner
d = Ly
o n ©
Cat.No @ !:Elémqjd f L I h a A ‘ , Cat.No & dd f L I h a ‘
. S20Q-MTJNR/L16 ®25| 20 |12.5(180 | 34 | 18 | 15° MY0515-A | ML0520
S16N-MTFNR/L16 ®22| 16 | 11 [ 160 | 27 | 15 | 17 MY0S15A | MLOSTS 12,25 TN..1604.. S MX0510 L2.L3
$20Q-MTFNR/L16 25| 20 | 13 [ 180 | 34 | 18 | 15° MX0510 MY0515 ML0520 S25REMIINRICIE 232]| 258 16:5)| 12008 4 S| N23 | N2 pMYOSITS LD
. S40T-MTJINR/L22 ®50 | 40 |26.5| 300 | 68 | 37 | 15°
S25R-MTFNR/L16 |~ |®32] 25 165|200 | 43 | 23 | 12 MY061910 ML0620 TN.2204.. 1 mT2204 MIX0617 MY0819 MLOB28 L2.5.L4
$32S-MTFNR/L16 41| 32 225|250 | 54 | 30 | 17° LoLs S UVdINRL22 60| 50 | 31 | 350 | 85 | 47 | 12
S40T-MTFNR/L16 ®50 | 40 |26.5| 300 | 68 | 37 | 15" | MT1603 MX0513 MY0619 MLO0625 '
S50U-MTFNR/L16 ®60 | 50 | 31 | 350 | 85 | 47 | 12°
S40T-MTFNR/L22 ®50 | 40 | 26 | 300 | 68 | 37 | 15°
S50U-MTFNR/L22 | TN..2204.. |60 | 50 | 31 | 350 | 85 | 47 | 12° | MT2204 MX0617 MY0819 MLO0828 L2.5L4
S60V-MTFNR/L22 ®70| 60 | 36 | 400 | 102 | 56 | 10°
_h
- — | 1 F - - - —)d
I
- - - = = )d
| a~l- L
_h_
69 gl o e e —

VA, D) N T AT )R AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

7] Fl-lnsert R _‘.I- Specifications ”&Insenshim ‘F'ﬁ‘gﬁ&ntrﬁcrew Eﬁﬂamp Eﬁﬂﬁdampmw ﬁ*Spanner

TV R insert R T]' Specifications T E st FOBE cortescen FEHR comp Eﬁﬂﬁdampmw ﬁ*Spanner g! %
ﬂ _=|.? Cat.No "I"é’" ch f L |1 h a° ’ ‘ , 7
A BNy f L . A ' ‘ , 7 A A

Cat.No l4 h a

S16N-MTUNR/L16 ®22| 16 |10.5[160 | 27 | 15 | 17° MY0515-A MLO0516 L2125
S16N-MTQNR/L16 ®22| 16 |10.5| 160 | 27 | 15 | 17° MY0515-A MLO0516 L2125 $20Q-MTUNR/L16 ®25| 20 |12.5(180 | 34 | 18 | 15 MX0510 MY0515 ML0520
$20Q-MTQNR/L16 ®25| 20 |125|180 | 34 | 18 | 15° MX0510 MY0515 ML0520 S25R-MTUNR/L16 ®32| 25 | 16 [ 200 | 43 | 23 | 12° MY061910 ML0620 L2,L3
S25R-MTQNR/L16 TN 1604, ®32| 25 | 16 [200| 43 | 23 | 12° MY061910 ML0620 $32S-MTUNR/L16 TN.1604. ®41| 32 |225|250 | 54 | 30 | 17
$32S-MTQNR/L16 ®41| 32 |22.5|250 | 54 | 30 | 17° LoLs S40T-MTUNR/L16 ®50| 40 |26.5(300 | 68 | 37 | 15
S40T-MTQNR/L16 ®50| 40 |26.5|300 | 68 | 37 | 15° | MT1603 MX0513 MY0619 ML0625 S45U-MTUNR/L16 ®55| 45 | 30 [350 | 77 | 42 | 15 | MT1603 MX0513 MY0619 ML0625 L2,L3
S50U-MTQNR/L16 ®60| 50 | 31 | 350 | 85 | 47 | 12° S50U-MTUNR/L16 ®60| 50 | 31 [350 | 85 | 47 | 12°
$32S-MTQNR/L22 ®41| 32 |22.5(250 | 54 | 30 | 17° S60V-MTUNR/L16 ®70| 60 | 36 | 400|102 | 56 | 10
S40T-MTQNR/L22 TN..2204.. |®50 | 40 |26.5|300 | 68 | 37 | 15° | MT2204 MX0617 MY0819 ML0828 L2.5,L4 S40T-MTUNR/L22 ®50| 40 [26.5(300| 68 | 37 | 15
S50U-MTQNR/L22 ®60| 50 | 31 | 350 | 85 | 47 | 12° S50U-MTUNR/L22 TN, 2204 ®60| 50 | 31 [350| 85 | 47 | 12° MTz204 Mxoetr Mroets M-0828 LaoLs

- ,

c37 c38



YAPOW][E]] Internal Turning Holder M:;:e,;j:

JJFI-Insert R T.I- Specifications TE i I"':l'l.‘.‘gﬁCentreScrew Eﬁﬂamp EﬁgﬁtlampScrew*E%Spanner

g! = JJH-Insert R _‘.I-Specifications TIE nsertshim r":I'l:-‘uﬁ(entrewew Eﬁﬂamp Eﬁggclamp&rew *ﬁ%spanner gg %
=5 Cat.No modd f L ’
. - 1 h a
Cat.No A PFPdf L b h a A ’ ] , -
S25R-MVWNR/L16 ®40 | 25 26 | 200 | 43 23 12°
S16N-MTWNR/L16 ®23| 16 12 | 160 | 27 15 17° MY0515-A MLO516 L2,L2.5 VN..1604.. . MV1603 MX0513 MY0621 ML0625 L2,L3
S32S-MVWNR/L16 D48 | 32 30 | 250 | 54 30 17
S20Q-MTWNR/L16 ®27 | 20 14 | 180 | 34 18 15° MX0510
MY061910 ML0620
S25R-MTWNR/L16 P32 | 25 [16.5| 200 | 43 23 12° h
S32S-MTWNR/L16 ®39 | 32 20 | 250 | 54 30 17° L2,L3
TN..1604..
S40T-MTWNR/L16 P50 | 40 | 24 | 300 | 68 | 37 | 15 MT1603 MX0513 MY0619 ML0625 ; >N g Il el Bl it ._I) d‘
S50U-MTWNR/L16 P57 | 50 29 | 350 | 85 47 12 e c
a’~/. 11 6 L
ﬁ ________ h h
I) 6 ) e o B E—
py - - - - -l s T T T d '
{11757 ® |
11 L
a~Ad- h e ) EIE, VYA RN T8 T IR MBS When cutting axially, the cutting amount should be less than or equal to the insert corner radius
JJFI-Insert R -.rSPeCIflcatlonS nglnsenShm '[‘,‘RHCentreScrew Eﬁﬂamp Eﬁ!ﬁilampScrew*E*Spanner

N - E— ._._._.-’ B s <©> "ddf L b h a AL ' 1l , )

= 7] ,# Insert R _‘.r Specifications JJ ﬂ Insert Shim *'ﬁuﬁCentreStrew Eﬁclamp Eﬁuﬁ[lamp&rew ﬁ%smnner $20Q-MVXNR/L16-G6 ®27| 20 14 | 180 | 34 18 15 MX0510 ML0620
B 5 S25R-MVXNR/L16-G6 32| 25 | 17 | 200 | 43 | 23 | 12
l]\m o >
Cat.No de f L I h a ’ ’ ‘ , S32S-MVXNR/L16-G6 VN.1604. | @42 32 | 23 | 250 | 54 | 30 | 17 MY0e21 ML0625 L2t
S40T-MVXNR/L16-G6 d50 | 40 27 | 300 68 37 15 MV1603 MX0513
S20Q-MVQNR/L16 ®25| 20 13 | 180 | 34 18 15° MX0510 MY0515-A MLO0516 L2,L2.5 S50U-MVXNR/L16-G6 ®61| 50 31 | 350 | 85 47 12
S25R-MVQNR/L16 ®32| 25 17 | 200 | 43 23 12° h
S$32S-MVQNR/L16 VN..1604.. [ D42 | 32 23 | 250 | 54 30 17°
- MX0513 MY0621 ML0625 L2,L3 o
S40T-MVQNR/L16 ®50 | 40 27 | 300 | 68 37 15 MV1603 _5 |
S50U-MVQNR/L16 »63 | 50 33 | 350 | 85 47 12° f — I R — | d
_h For radighgutting, the cutting a|1'10untshou|d be less thancr_requalto the insert angle corner radius
| h
— — N — — — — — — |) d
6° [ e S I D —
a™~/- L
h
g! = I”'Jl-lnsert R T.I- Specifications ﬂgmsenshim Flhbﬂﬁcmesmw Eﬁclamp Eﬁmﬁdampmw ﬁ*Spanner
=
N O ) B oo Urbd f L I h oa SN ' 4 /
A% 1) ) 5 e 30 AR, D) LR RN T8 T TR A AR -
Radial cutting and axial pull-back cutting , the cutting amount should be less than or equal to the insert corner radius S16N-MWLNR/L06 ®22| 16 | 11 | 160 | 27 | 156 | 17 MY0515-A ML0516 L2,L2.5
D ificati : W% a % S20Q-MWLNR/L0O6 WN..0604.. | ®25| 20 13 [ 180 | 34 18 15°
J] FI-Insert R _.r Specifications 7] E Insert Shim *‘l‘a‘u_CentreScrew Eﬁclamp Eﬁu_tlampScrew *ﬁ%ipannev - MX0510 MY0515 MLO0520 L2.5,L2
i = l] - S25R-MWLNR/LO6 ®32| 25 [16.5| 200 | 43 23 12
7N o
Cat.No o> " Prdd f L b h a L& ‘ , S16N-MWLNR/L08 ®22| 16 | 11 [ 160 | 27 | 15 | 15° MX0611 | MYO515-A |  MLO516 s
S20Q-MWLNR/LO8 ®25| 20 | 13 180 | 34 | 18 | 15° X061 MY0515 ML0520 ’
S25R-MVUNR/L16 P32 25 | 17 | 200 | 43 | 23 | 12 MX0510 S25R-MWLNR/LOS 32| 25 165|200 | 43 | 23 | 12° MY061910 |  ML0620
SEEZSHIMUNIYILTG | [ €23 | €7 || 20 || 240 || &6 || 80 || 17 MY0621 MLO625 | L2.L3 $32S-MWLNR/LO8 WN..0804.. | d41| 32 | 22 [ 250 | 54 | 30 | 17°
S40T-MVUNR/L16 P50 40 | 27 | 300 | 68 | 37 | 15 Mv1603 Mx0513 S40T-MWLNR/L08 ®s0| 40 | 26 [300| 68 [ a7 [15° | ok et wlosas | 125L
S50U-MVUNR/L16 ®63| 50 | 33 | 350 | 85 | 47 | 12 S50UMWLNRILOB o60| 50 | 31 [350 [ 85 | 47 | 12"
PO - PO
S60V-MWLNR/L0O8 d70 | 60 36 | 400 | 102 | 56 1
c39 : c40




YAPOWJIE]] Internal Turning Holder SST)%Lim%%

ﬂ = 7] FI- Insert R T]' Specifications ﬂﬁﬂﬁ Insert Screw ﬁ % Spanner
=
Cat.No l;é‘éu dd f L It h
S07K-SCKCR/L06 ®9 | 8 |45]125] 12 | 7 [ 15°
S08K-SCKCR/LO06 ®10| 8 |55 125 14 | 7 | 13 SC250544 7] F insert R ST specifications TIR 2% | ot screw | 3F spanner
S08K-SCKCR/L06-A16 ®10 | 16 | 5.5 | 125 | 21 | 15 | 13° i
S10K-SCKCR/LO06 13| 10 | 6 |125] 17 | 9 | 17 Cat.No *3@ BEDdPd f L i1 h &
S10K-SCKCR/L06-A16 €C..0602.. |®13| 16 | 6 [125| 26 | 15 | 12° SC250644 T8
S12M-SCKCR/L06 ®16| 12 | 7 |150 ] 20 | 11 | 10 S07K-SCLCR/L06 ®9 | 8 | 45125 12 | 7 | 15°
S12M-SCKCR/L06-A16 ®16 | 16 | 7 |150 | 31 | 15 | 10° S07K-SCLCR/L06-A12 ®9 | 12 | 45 | 125 185 | 11 | 15°
S14N-SCKCR/L06 ®18 | 14 | 8 |160 | 24 | 13 | 10° S07K-SCLCR/L06-A16 ®9 | 16 | 45 | 125 185 | 15 | 15°
S14N-SCKCRI/LOB-A16 ®18 | 16 | 85 | 160 | 36 | 15 | 10° SC250744 S08K-SCLCRIL0G T N B P TS R R $C250544
S12M-SCKCR/L09 16 | 12 8 150 | 20 11 12° S08K-SCLCR/L06-A12 D10 | 12 5 125 | 21 11 13°
$12M-SCKCR/L09-A16 o6 16 [ 7 [150 | 31 | 15 | 10° SO08K-SCLCR/L06-A16 P12 16 | 5 [126] 21 | 15 | 1&
S14N-SCKCR/L09 ©20 | 14 | 9 [160 | 24 | 13 | 12° S10K-SCLCR/LO6 cc.op0z. |P131 10| 6 [125]17 | 9 | 127 T8
S1AM-SCKCRILO9-ATE 20 16 o5 1150 [ 36 [ 15 [ 12 SC350860 S10K-SCLCR/L06-A12 ®13| 12 | 6 |125| 26 | 11 | 12°
S16N-SCKCR/L09 CC..00T3.. [®20 | 16 | 9.5 [ 160 | 27 | 15 | 10 T1s S et R :i §C250644
S20Q-SCKCR/LO9 ®24] 20 |11.5] 180 | 34 | 18 | & S12M-SCLCR/L06-A16 ®16 | 16 | 7 [ 150 | 31 | 15 | 10°
S25R-SCKCR/L09 ®31| 25 | 14 | 200 43 | 23 | 8 STIN-SCLCRILOG o5 e T8 oo 22 T3 iz
$32S-SCKCR/L09 39 | 32 [17.5] 250 | 54 | 30 | 6 SC350960 S14N-SCLCR/LO6-A16 18| 16 | 8 | 160 36 | 15 | 12° SC250744
S40T-SCKCR/LO09 ®50 | 40 |21.5| 300 68 | 37 | 4° SN COLEIGE 20l 76 o [1e0l 27 [ 15 | &
S20Q-SCKCR/L12 D24 20 [ 11.5] 180 34 18 8° SC501060 S12M-SCLCR/L09 D16 12 9 150 20 11 12°
S25R-SCKCR/L12 CC..1204.. 31| 25 | 14 | 200 | 43 | 23 8" 120 S12M-SCLCR/L09-A16 ®6| 16 | 9 [150 | 31 | 15 | 12°
S32S-SCKCRI/L12 ®39 | 32 [17.5| 250 | 54 | 30 | 6° $C501260 S14N-SCLCR/L09 18| 14 | 9 | 160 | 24 | 13 | 12° SC350860
S40T-SCKCR/L12 ®50 | 40 |21.5| 300 68 | 37 | 4° S14N-SCLCR/L09-A16 17| 16 | 9 | 160 | 36 | 15 | 12
S16N-SCLCR/L09 ®20| 16 | 95 | 160 | 27 | 15 | 10°
M — $20Q-SCLCRI/L09 €C..09T3.. |25 20 [11.5[180 | 34 | 18 | 8° T15
V T S20R-SCLCR/L09 ®25| 20 | 115|200 | 34 | 18 | &
=o dlf == == == == == |5: ]z == =] fks] S25R-SCLCR/L09 ©31| 25 | 14 | 200 | 43 | 23 | 6°
I \@ i 0| $32S-SCLCR/L09 ®39 | 32 [17.5[250 | 54 | 30 | 4° SC350960
a’ 75° 50; S40T-SCLCR/L09 ®50 | 40 | 21 | 300 | 68 | 37 | o°
h L S50U-SCLCR/L09 ®60| 50 | 26 | 350 | 85 | 47 | 0°
h "‘ $20Q-SCLCR/L12 »25| 20 | 12 | 180 | 34 | 18 | 10°
0° S25R-SCLCR/L12 ©32| 25 |145|200| 43 | 23 | 8°
“éj - = = = = ‘— —J - = ’ $32S-SCLCR/L12 CC..1204.. | 39| 32 | 18 [250 | 54 | 30 | 6° $C501060 T20
N S40T-SCLCR/L12 50| 40 [ 22 [300] 68 [ 37 | 4°
S50U-SCLCR/L12 60| 50 | 26 [350| 85 | 47 | o°
S08K-SCLPR/L06 D10 8 5 125 14 7 10°
: = 7] H insert R T specifications TNR B2 nsert screw # = spanner S10K-SCLPR/L06 CcP..0602.. |®13| 10 [ 6 [125| 17 | 9 8° 50250544 T8
B S S12M-SCLPR/L06 w16| 12 | 7 |150 | 20 | 11 | &° SC250644
Cat.No ’i’g"cbd f L It h & S10K-SCLPR/L08 w13 10 [ 6 [125[ 17 [ o | &° SC300660
~ S12M-SCLPR/L0O8 CP..0802.. D16 12 7 150 20 11 6° T8
S07K-SCKCR/L06-12P ®9 | 12 | 7 |125[185] 11 | 15° S16N-SCLPR/L08 ®20| 16 | 9 [160 | 27 | 15 | 4° $C300760
S08K-SCKCR/L06-12P o10| 12 | 7 [125| 21 | 11 | 13° SC250544 $20Q-SCLPR/L08 ®25| 20 | 11 | 180 | 34 | 18 | 2°
S12M-SCLPR/L09 o16] 12 | 9 [150 [ 20 | 11 [ 10
S08K-SCKCR/L06-16P ®10| 16 | 7 [125| 21 | 15 | 13° S16N-SCLPR/LO09 20| 16 |95 | 160 | 27 | 15 | & $C350760
S10K-SCKCR/L06-12P CC..0602.. |®13| 12 | 7 [125] 26 | 11 | 12° T8 $20Q-SCLPR/L09 CP.0903.. |d25| 20 [11.5|180 | 34 | 18 | 6° T15
S10K-SCKCR/L06-16P ®13| 16 | 7 |125| 26 | 15 | 12° S25R-SCLPR/L09 ®31] 25 [ 14 [200] 43 [ 23 | 4° SC350960
5 S$C250644 S32S-SCLPR/L09 ®39 | 32 [17.5[250 | 54 | 30 | 4°
$12M-SCKCR/L06-16P »16| 16 | 8 | 150 | 31 | 15 | 12
S14N-SCKCR/L06-16P »18| 16 | 85 | 160 | 36 | 15 | 10°
S12M-SCKCR/L09-16P ®16| 16 | 8.5 | 150 | 31 | 15 | 10°
CC..09T3.. SC350860 T15
S14N-SCKCR/L09-16P ®20| 16 | 95 | 160 | 36 | 15 | 12°
PO PO

C41 c42



PO
C43

YAPO milE]] Internal Turning Holder

YAPO

I [EF EX
SHER
S Type Clamp

ﬂ = 71 A insert R 5T specifications TIR MR 42 ncert screw | F spanner
=

¢ =/ o
oo 4@ uSpd f L b h a
S08K-SCLCR/LO6H09 ®9 | 8 |425]125] 14 | 7 | 13° 5C250544
S10K-SCLCR/LO6H11 D11 10 |5.25| 125 17 9 12°

CC..0602.. . T8

S12M-SCLCR/L06H13 ®d13 | 12 |6.25| 150 20 11 10 SC250644
S14N-SCLCR/L06H15 D15 | 14 7 160 24 13 8°
S16N-SCLCR/LO9H17 CC..09T3.. [ @17 | 16 8.5 | 160 27 15 10° SC350860 T15

—h—

g = 7] FI- Insert R ".|' Specifications nﬁmglnsertScrew £l * Spanner
B = . )
Cat.No Y Iz dd f L I h a
S10K-SCFCR/L06 ®12| 10 6 125 | 17 9 12°
SC250644
S12M-SCFCR/L06 D14 | 12 7 150 | 20 11 10°
CC..0602.. T8
S14N-SCFCR/L06 D16 | 14 8 160 | 24 13 10°
SC250744
S16N-SCFCR/L06 D18 | 16 9 160 | 27 15 8°
S16N-SCFCR/L09 18| 16 9.5 [ 160 | 27 15 10°
SC350860
S20Q-SCFCR/L09 CC..09T3.. [®23| 20 |11.5| 180 | 34 18 8° T15
S25R-SCFCR/L09 ®28| 25 14 | 200 | 43 23 6° SC350960
S20Q-SCFCR/L12 ®25| 20 12 180 | 34 18 10°
S25R-SCFCR/L12 ®30| 25 [14.5| 200 | 43 23 8°
CC..1204.. SC501260 T20
S32S-SCFCR/L12 ®38| 32 18 | 250 | 54 30 6°
S40T-SCFCR/L12 ®48 | 40 22 | 300 | 68 37 4°
....... h
Sl ')
N\ = = =  F[=- = = )y,
fl ® |
. 93°
a _ 1 L
h
0°
|

PR TN, DD R RN T 88 T TTR A AR Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

I = JJ H- Insert R _‘.I- Specifications J] H‘Hﬁ Insert Screw ﬁ $ Spanner
B = am
Cat.No & nIg (Dd f L I1 h a
S07K-SCLCR/L06-12P P9 12 4.5 1125 [18.5| 11 15°
S07K-SCLCR/L06-16P ®9 | 16 | 4.5 [ 125 [18.5| 15 | 15°
SC250544
S08K-SCLCR/L06-12P P10 | 12 5 125 | 21 1 13°
S08K-SCLCR/L06-16P ®10 | 16 5 125 | 21 15 13°
S10K-SCLCR/L06-12P CC..0602.. | P13 | 12 6 |[125 | 26 11 12° T8
S10K-SCLCR/L06-16P P13 | 16 6 125 | 26 15 12° SC250644
S12N-SCLCR/L06-16P P16 | 16 7 160 31 15 10°
S14N-SCLCR/L06-16P P17 | 16 8 160 | 36 15 12°
SC250744
S16N-SCLCR/L06-20P ®20| 16 9 160 | 41 18 8°
S12N-SCLCR/L09-16P D16 | 16 9 160 31 15 12° SC350760
S14N-SCLCR/L09-16P D18 | 16 9 [160 | 36 | 15 | 12°
CC..09T3.. SC350860 T15
S16N-SCLCR/L09-20P ®20| 20 | 9.5 | 160 | 41 15 | 10°
S20R-SCLCR/L09-25P ®25( 25 |11.5| 200 | 51 23 8° SC350960

g! = 71 R insert R 5 specifications TV R B 42 |ncert screw | F spanner
= Bohvin o
80
S08K-SCZCR/L06 D12 8 6.5 | 125 14 7 13° SC250544
S10K-SCZCR/L06 d14 | 10 7.5 | 125 17 9 12°
SC250644
S12M-SCZCR/L06 D16 | 12 8.5 | 150 20 11 10°
CC..0602.. - T8
S14N-SCZR/L06 D18 | 14 9.5 | 160 | 24 13 10
S SC250744
S16N-SCZCR/L06 20| 16 [10.5| 160 27 15 8
S14N-SCZR/L09 D19 | 14 10 160 24 13 12° SC350860
S16N-SCZCR/L09 21| 16 [11.5| 160 27 15 10°
S20Q-SCZCR/L09 CC..09T3.. [ ®25| 20 [13.5| 180 34 18 8° SC350960 T15
S25R-SCZCR/L09 32| 25 16 200 | 43 23 6°

PO
C44



I [EF EX
SHER
S Type Clamp

YAPO mflE]] Internal Turning Holder

= h = L h
e e e e e
[ ¢ K \ I
al ) . 95" b Ih— th«ﬂ
~n - o
Ay R e e

A 1) L7155 A 1) R L DI U0 E R S TSR T TR A R AR

P VI, D)) SN T 25 T JJR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius
rradial cutting, utting Y Y reaqu insertang rnerradiu Radial cutting and axial pull-back cutting , the cutting amount should be less than or equal to the insert corner radius

71 R insert R 5T specifications TNR BB ncert screw | F spanner

ﬂ % g! = 71 R insert Rt specifications TV BB 42 \nsert screw ] F spanner
¢ &/ o =
80 . &/ o
Catro Urpd f L b h oa coero UEdd f L I h a
S08K-SCZCR/L06-12P 12| 12 [ 85 [125] 21 | 11 | 13 SC250544 SO0BK-SDLOR/LO7-12P o12l 121 9 T12s] 21 1 11 | 12
S10K-SCZCRILO06-12P | |14 12 | 85 [126] 26 | 11 | 12 Sc250644 T S BRI~ ozl o sl 2 |5 | e
S12N-SCZCR/L06-16P 16| 16 (105|160 | 31 | 15 | 10 ST0K.SDLOR/LO7-12P o5l 121 9 11251 26 | 11 | 10° SC250644
S14N-SCZCR/L06-16P ®18 | 14 [10.5[160 | 26 | 15 | 10 SC250744 SISO e arsa. @188 [ 11 125 26 [ 11 [0 .
S16N-SCZCRIL09-20P | | 21| 20 [13.5] 160 | 41 | 18 | 10 350960 s S12M-SDLCRILO7-16P H0702 T e | 11 l1s01 31 1 15 | &
$20Q-SCZCR/L09-25P ®25| 25 | 16 [180 | 51 | 23 | 8 Ty e 15w el @ | 05 | e
S16N-SDLCR/L07-20P ®22| 20 | 13 160 | 41 | 18 | 6° SC250744
....... . $20Q-SDLCR/L07-25P ®25| 25 | 16 [180 | 51 | 23 | 6°
% 0 ] L~
h
Y, o e I B s 17.5° —
£195" @ o%o © h |
11 ; S i S ———————— ||
a—~ - L fl /@ |
_h a° . | 17.5P
ol ! L
| Tt t——— h
0°
e 1) D) 5 Al R DD 0, bR SN F T TR AR |
Radial cutting and axial pull-back cutting , the cutting amount should be less than or equal to the insert corner radius
gy = 71 A insert R 5F specifications TV MR 42 ncert screw | F spanner
i = 7] H- Insert R _‘.I- Specifications J] H‘Rﬁ Insert Screw ﬁ $ Spanner
- l'l\ilan | o g! =
Cat.No b T#& df L I h a = S i
cato €O> ¥PdPd f L b h a
S10K-SDLCR/LO7 o15| 10 | 8 |125]| 17 | 9 | 10°
S10K-SDLCR/LO7-A12 ®15| 12 | 8 [125| 26 | 11 | 10° 510K-SDQCR/LO7 P13) 10 | 7 (12517 | 9 | 107
S10K-SDLCR/LO7-A16 ®15| 16 | 8 [125| 26 | 15 | 10° SC250644 S10K-SDQCR/LO7-A12 @13 12 | 7 [125) 26 | 11 | 10°
S A SOLGLT 17| 121 9 |150] 20 | 11 | & S10K-SDQCR/L07-A16 ®13| 16 | 7 |125| 26 | 15 | 10° SC250644
S12M-SDLCR/L07-A16 DC..0702. [®17| 16 | 9 |150 | 31 | 15 | 8" T8 S1Z DGR S8 12 || 9 ||[W0] & || 7 | &
S UNSOILERIGT aol e el 2l sl e S12M-SDQCR/L07-A16 DC..0702.. |[®16| 16 | 9 |150 | 31 | 15 | & T8
S14N-SDLCR/LO7-A16 ®19| 16 | 10 [ 160 | 36 | 15 | 6° SNy OB ¥ || 98]0 & | 98 || &
S -SRLCRILET el n il sl & SC250744 S14N-SDQCR/LO7-A16 18| 16 | 10 [ 160 [ 36 | 15 | 6° Sco50744
S20Q-SDLCRILO7 25| 20 | 13 | 180 | 34 | 18 | 6 S16N-SDQCR/LO7 ®20| 16 |[10.5[160 | 27 | 15 | &°
$20Q-SDLCR/L11 ®25| 20 | 13 [ 180 | 34 | 18 | 6° $20Q-SDQCR/LO7 ®25| 20 | 13 | 180 | 34 | 18 | 6
525R-SDLCR/L11 32| 25 | 16 | 200 43 | 23 | 4° S14N-SDQCR/L11 ®18| 14 |95 (160 | 24 | 13 | 6° Se350860
$32S-SDLCR/L11 DC..11T3.. |®39| 32 | 20 | 250 | 54 | 30 | 4° SC350960 T15 S16N-SDQCR/L11 ®20| 16 |10.5) 160 | 27 | 15 | 8
S20T-SDLOR/L1 w50] 20 | 22 | 300 | 68 | 37 | 2° $20Q-SDQCR/L11 carre, L0251 20 |13 [180] 34 | 18 | & s
DC..11T3..
550U-SDLCR/L11 60| 50 | 20 | 350 | 85 | 47 | o° S25R-SDQCR/L11 ®32| 25 | 16 200 | 43 | 23 | 4°
C10K-SDLCR/LO7 ®d15| 10 8 125 | 17 9 10° S32S-SDQCR/L11 P39 | 32 20 | 250 | 54 30 4° SC350960
250644
C12M-SDLCR/L07 DC.0702. |®17| 12 | 9 |[150 | 20 [ 11 | 8° Sc2506 T8 S40T-SDQCR/L11 ®50| 40 | 24 | 300 | 68 | 37 | 2°
C16N-SDLCR/LO7 ®22| 16 | 11 [ 160 | 27 | 15 | 6° SC250744 C10K-SDQCR/LO7 »13| 10 | 7 [150 [ 17 | 9 | 10° Sco50844
€20Q-SDLCR/L11 DC.11T3.. | 25| 20 | 13 [180 | 34 | 18 | 6° SC350960 T15 C12M-SDQCR/LO7 DC..0702.. |®16| 12 | 9 [180 | 20 | 11 | 8° T8
C16N-SDQCR/LO7 ®20| 16 |105[200 | 27 | 15 | 6° SC250744
€20Q-SDQCR/L11 DC..11T3.. [®25| 20 | 13 [ 250 | 34 | 19 | 6° SC350960 T15
PO PO
cas & ces



YAPO mflE]] Internal Turning Holder

B =

7] H Insert

vd

93°

YAPO

I [EF EX
SHER
S Type Clamp

5@%_

e A7 REIRS R N RETE A7) =111 b P 7 =11 = A N e A RN R 1 I S

Radial cutting and axial pull-back cutting , the cutting amount should be less than or equal to the insert corner radius

R _']' Specifications

7] #Rﬁ Insert Screw

ﬁ * Spanner

CatNo €O>Yrodf L It h a
S10K-SDUCR/L07-12P @15 12 | 9 |125| 26 | 11 | 10°
S10K-SDUCR/L07-16P ®15| 16 | 11 | 125 | 26 | 15 | 10°
S12M-SDUCR/L07-16P bC.0702- ®17| 16 | 11 | 150 | 31 | 15 | 8° SC250044 T
S14N-SDUCR/L07-16P ®19| 16 | 11 [160 | 36 | 15 | 6°
_h
|
=]
" loas @
&’ g |.1 L
_h
0%
|
ﬂ = JJ FI- Insert R T.I- Specifications ”HM& Insert Screw *ﬁ $ Spanner
-q =
CatNo €O> ¥rodf L It h a
S12M-SDWCR/L07 ®19| 12 [10.5|150 | 20 | 11 | 10°
S12N-SDWCR/L07-A16 ®19| 16 [10.5|160 | 31 | 15 | 10°
S14N-SDWCR/L07 ®20| 14 | 11 [ 160 | 24 | 13 | 10°
S14N-SDWCR/L07-A16 pe. 0702 ®20| 16 [11.5|160 | 36 | 15 | 10° Sczs07a4 T
S16N-SDWCR/L07 ®23| 16 [12.5]160 | 27 | 15 | 8°
$20Q-SDWCR/L07 ®27| 20 (145|180 | 34 | 18 | 6°
S16N-SDWCR/L11 ®23| 16 |13.5|160 | 27 | 15 | 8°
$20Q-SDWCR/L11 ®27| 20 |14.5|180 | 34 | 18 | 6°
S25R-SDWCR/L11 DC.1173.. | 32| 25 | 17 | 200 | 43 | 23 | 4° SC350960 T15
$32S-SDWCR/L11 ®40| 32 | 20 | 250 | 54 | 30 | 2°
S40T-SDWCR/L 11 ®50| 40 | 24 | 300 | 68 | 37 | 2°

g! = 7] FI- Insert R ".|' Specifications 7] H-Mi_é Insert Screw *ﬁ * Spanner
=
‘ s °
Cato €O>Mrdd f L I h a
S10K-SDQCR/L07-12P P13 | 12 9 125 | 26 11 10°
S10K-SDQCR/L07-16P 13| 16 | 10 [125 | 26 | 15 | 10° SC250644
S12M-SDQCR/L07-16P D16 | 16 10 | 150 | 31 15 8°
DC..0702.. T8
S14N-SDQCR/L07-16P »18 | 16 [10.5| 160 | 36 15 6°
$16M-SDQCR/L07-20P @20 | 20 | 13 | 160 | 41 | 18 | 6° SC250744
S20Q-SDQCR/L07-25P P25 | 25 16 | 180 | 51 23 6°
S16M-SDQCR/L11-20P P20 | 20 13 | 160 | 41 18 8° SC350860
DC..11T3.. T15
S20Q-SDQCR/L11-25P P25 | 25 16 | 180 | 51 23 6° SC350960
h
[
=—— |
I
a” L
h
A 1) BT) ) 5 e {5 R B R, 9 R RN T AR T IR A R AR )
Radial cutting and axial pull-back cutting , the cutting amount should be less than or equal to the insert corner radius
] = 71 R insert R =t specifications T R BB 42 |nsert screw iR $ Spanner
8 S i
I O
CatNo BApd f L b h a
S10K-SDUCR/LO7 P15 | 10 8 125 | 17 9 10°
S10K-SDUCR/L07-A12 P15| 12 8 125 | 26 11 10°
S10K-SDUCR/L07-A16 »15| 16 8 |[125| 26 | 15 | 10°
S12M-SDUCR/LO7 P17 | 12 9 150 | 20 11 8°
S12M-SDUCR/L07-A16 DC..0702.. P17 | 16 9 150 | 31 15 8° SC250644 T8
S14N-SDUCR/LO7 P19 | 16 10 | 160 | 24 18 6°
S14N-SDUCR/L07-A16 D19 | 16 10 | 160 | 36 15 6°
S16N-SDUCR/LO7 »22| 16 11 [ 160 | 27 | 15 6°
SC250744
S20Q-SDUCR/LO7 ®25| 20 | 13 | 180 [ 34 | 18 6°
S16N-SDUCR/L11 22| 16 11 | 160 | 27 | 15 8°
S$20Q-SDUCR/L11 P25 20 13 [ 180 | 34 18 6°
S25R-SDUCR/L11 P32 | 25 16 | 200 | 43 23 4°
DC..11T3.. SC350960 T15
S32S-SDUCR/L11 P39 | 32 20 | 250 | 54 30 4°
S40T-SDUCR/L11 D50 | 40 24 | 300 | 68 37 2°
S50U-SDUCR/L11 ®60| 50 | 29 | 350 | 85 | 47 | 0°
C10K-SDUCR/LO7 ®15| 10 8 | 125 | 17 9 10°
C12M-SDUCR/LO7 DC..0702.. D17 | 12 9 150 | 20 11 8° SC250644 T8
C16N-SDUCR/LO7 P22 16 1" 160 | 27 15 6° SC250744
PO C20Q-SDUCR/L11 DC..11T3.. P25 | 20 13 | 180 | 34 18 6° SC350960 T15

c47

PO
c48



) [EF
YAPOWJIEH Internal Turning Holder yAPO SST)%L:E?%

—h—f

|
|
—d —

’y 93

a D { —

R I Er, YR RN TS T IR A RS For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius

-h

ﬂ = 71 K insert R =t specifications NNRYB2 nsertscrew #  FF spanner g! -F; 71 R insert R =T specifications TNRIBE sertscrew | F spanner
= &im o
i o .
CatNo ESpd f L It h a CatNo S dd f L b h a
S12N-SDWCR/LO7-16P ®19| 16 |12.5| 160 | 31 15 10° S10K-SDZCR/L07-12P d15| 12 | 9.5 | 125 | 26 11 12° SC250644

stan-soworiortep | [@20] 16 125|160 | o6 | 15 | 10] N . S10K-SDZCR/LO7-16P ®15| 16 [11.5[ 125 | 26 | 15 | 12

S16N-SDWOR/LO7-20P 0702 T 20 1125160 | 21 [ 18 | & S12M-SDZCR/LO7-16P | DC..0702.. |18 | 16 [11.5[ 150 [ 31 | 15 [ 10 Sc25074 T8
206 GONE LT 5D o271 25 117 Tieo a1 [ 23 | & S14N-SDZCR/LO7-16P 20| 16 |11.5(160 | 36 | 15 | 8
S16N-SDZCR/L07-20P ®24| 20 [13.5| 160 | 41 18 8°

| o |
....... - - = I,
+ ] L /® [
== - - - - - Jf a®
“| (4) - 05° J o L
. 3 h
a ~ 11 , | |
— 0% TN
L A e B
h [
0;@. — - - — == =" LN CIR7RClN I N R R N R ARV S For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius
; ) e | » | . = 71 A insert R =t specifications TV R BB 42 \nsert screw # 5 spanner
R IHIE, YR RN TS T IR AR For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius ﬂ = e
N O
= 7] FI- Insert R _‘.I- Specifications 7] H‘Mﬁ Insert Screw *& * Spanner CatNo I qu f L h a
B s -
I °
Cat.No 4@ Ig" dd f L b h @& S08K-SDXCR/L07-G5 ®10| 8 | 5 |125| 14 | 7 | 12
S08K-SDXCR/L07-A12 P10 | 12 5 125 | 21 11 12°
S10K-SDZCR/LO7 P15 10 | 8.5 | 125 | 17 9 12° S08K-SDXCR/L07-A16 P10 | 16 5 125 | 21 15 | 12°
S10K-SDZCR/L07-A12 ®15| 12 | 85 (125 | 26 | 11 | 12° §C250644 S10K-SDXCR/L07-G5 ®13| 10 | 6 [125| 17 | 9 | 10° SC250544
S10K-SDZCR/L07-A16 »15| 16 8.5 | 125 | 26 15 12° S10K-SDXCR/L07-A12 13| 12 ] 125 | 26 11 10°
S12M-SDZCR/L07 P18 | 12 9.5 | 150 | 20 1M 10° S10K-=TIXCF..L07-A16 DC..0702.. |®13| 16 6 125 | 26 15 10° T8
S12M-SDZCR/L07-A16 DC..0702.. | ®18| 16 9.5 | 150 | 31 15 10° T8 S12M-SDXCR/LO7-G5 Pd16| 12 7 150 | 20 11 8°
S14N-SDZCR/LO7 ®20| 14 [10.5|160 | 24 | 13 | 8° §C250744 S12M-SDXCR/L07-A16 16| 16 | 7 | 150 | 31 | 15 | 8° sc
250644
S16N-SDZCR/L07 ®24 ( 16 |11.5| 160 | 27 15 8° S14N-SDXCR/L07-G5 P18 | 14 8 160 | 24 13 8°
S20Q-SDZCR/LO7 ®26 | 20 |13.5| 180 | 34 18 8° S14N-SDXCR/L07-A16 D18 | 16 8 150 | 36 15 8°
S25R-SDZCR/L0O7 P32 | 25 16 | 200 | 43 23 8° SC250744 S16N-SDXCR/L07-G5 P20 16 9 160 | 27 15 6° SC250744
S16N-SDZCR/L11 ®24| 16 [12.5| 160 | 27 15 10° S14N-SDXCR/L11-G5 P18 | 14 8 160 | 24 13 8°
= - SC350860 T15
S20Q-SDZCR/L11 ®28 | 20 |14.5| 180 | 34 18 8 S16N-SDXCR/L11-G5 P20 16 9 160 | 27 15 8
S25R-SDZCR/L11 DC..11T3.. | P34 | 25 17 | 200 | 43 23 6" SC350960 T15 S$20Q-SDXCR/L11-G5 DC..11T3.. |®25| 20 [11.5| 180 | 34 18 6°
S$32S-SDZCR/L11 ®38 | 32 | 20.5| 250 | 54 30 4° S25R-SDXCR/L11-G5 ®32| 25 14 | 200 | 43 23 4° SC350960 T15
S40T-SDZCR/L11 D46 | 40 25 | 300 | 68 37 2° S32S-SDXCR/L11-G5 $38| 32 (17.5| 250 | 54 30 4°
PO PO

c49 C50



=
YAPOW][EH Internal Turning Holder yAPO SST)%L:E?%

Lh
NI
So oo =& off =o|=s =0 o —qks]
0|
L
. h
aha ) EI I, P BN N T AT T4 M4 214 When cutting axially, the cutting amount should be less than or equal to the insert corner radius
1] = 71 H insert R =T specifications TIRMBE | ot screw 8  F spanner gg = 7 K insert R 5F specifications TNR BB 2 |ncert screw W ZF spanner
= =
o &/ o
cato €O>YrPOdf L It h a cato O| ¥*od f L It h a
S08K-SDXCR/L07-12P d10 | 12 7 125 | 21 11 12° S12M-SSKCR/L09-16P ®16| 16 [10.5| 150 | 31 15 12°
SC350860
S08K-SDXCR/LO7-16P 10| 16 | 9 |125| 21 | 15 | 12° S14N-SSKCR/L09-16P ®18| 16 [10.5[160 | 36 | 15 | 12°
5C250544 SC..09T3.. - T15
S10K-SDXCR/LO7-12P 13| 12 7 125 | 26 1 10° S16N-SSKCR/L09-20P ®20| 20 |12.5| 160 | 41 18 10 5C350960
S10K-SDXCR/L07-16P pe. 0702 ®13| 16 | 9 [125| 26 | 15 | 10° 8 $20Q-SSKCR/L09-25P ®24| 25 | 15 | 180 | 51 | 23 | 8°
S$12M-SDXCR/LO7-16P ®16| 16 | 9 | 150 | 31 | 15 | 8° SC250744
S14M-SDXCR/L07-16P ®16 | 16 9 150 | 36 15 8°
h
[
! S ST i S P
— |
[
- - = - - - — X L
[ _h_
ax].
L — 4 - — - - — — - — —
_h
= 7] H- Insert R T.I- Specifications J],'Jl-!gi_elnsertScrew ﬂi ; Spanner
07 [ e e S B ——— i
&/ n o
| Cat.No O TedPd f L b1 h a
71 R insert R =T specifications TV B2 |nsert screw | ZF spanner
ﬂ % S12M-SSSCR/L09 ®16| 12 | 85 [ 150 | 20 | 11 | 12°
&/ o 0
Cat.No O Y dd f I I+ h a S14N-SSSCR/L09 o19| 14 | 95 [160 | 24 | 13 | 12 SC350860
S14N-SSSCR/L09-A16 ®19| 16 | 9.5 | 160 | 36 | 15 | 12°
S12M-SSKCR/L09 P16 | 12 8.5 | 150 | 20 11 12° S16N-SSSCR/L09 6C.U9T3.. ®22| 16 110169 | 27 15 1 S:5350060 T16
S12M-SSKCR/L09-A16 ®16 | 16 | 8.5 | 150 | 31 | 15 | 12° $C350860 S200-SSULR/LOY ) ®26| 20 (135|180 | 34 | 18 | 8°
S14N-SSKCR/L09 18| 14 | 95 [ 160 | 24 | 13 | 12° $25R-SSBCR/LO9 ®31| 25 | 16 [ 200 | 43 | 23 | 6° SC350960
S14N-SSKCR/L09-A16 <C.0073 18| 16 | 9.5 [ 160 | 31 | 15 | 12° $32S-SSSCR/L09 ®38| 32 [19.5[250| 54 | 30 | 4°
..09T3..
S16N-SSKCR/L09 ®20| 16 (105|160 | 27 | 15 | 10° s S12M-SSSPR/L09 ®16| 12 | 9 |150 | 20 | 11 | g°
S20Q-SSKCR/L09 ®24| 20 (12.5]| 180 | 34 18 8° SC350960 S14N-SSSPR/L09 D19 | 14 10 | 160 | 24 13 7° SC350760
S25R-SSKCR/L09 ®31| 25 | 15 [200 | 43 | 23 | 6° S16N-SSSPR/L09 SP.0003 ®20| 16 | 11 | 160 | 27 | 15 | 6° s
$32S-SSKCR/L09 ®38 | 32 [19.5|250 | 54 | 30 | 4° $20Q-SSSPR/L09 T | w24 20 | 13 | 180 | 34 | 18 | 4°
S12M-SSKPR/L09 ®16| 12 | 85 [150 | 20 | 11 | 8° SC350760 S25R-SSSPR/L09 ®32| 25 | 17 | 200 | 43 | 23 | 2° SC350960
SP..0903..
S16N-SSKPR/L09 ®20| 16 (105|160 | 27 | 15 | 6° SC350860 $32S-SSSPR/L09 ®40| 32 | 22 [250| 54 | 30 | 0°
PO PO

c51 C52



=
YAPOW;[EH Internal Turning Holder yAPO §Ty%£m%

e Y)E s, PR N T2 T4 M4 2 1% Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

= J] Fl-lnsert R T]'Specifications nﬁ’sﬁlnsertScrew *ﬁ *Spanner o 2%
ﬁ = . g = 7 R insert R =T specifications TNNR Y82 | nsertscrew | F spanner
f= 2NV ] o
Cat.No Ol ¥"dd f L It h a g5 Bm °
Cat.No = ®Pd f L It h a
S12N-SSSCR/L09-16P d16| 16 [ 11.5| 160 31 15 12°
SC350860 - - °
S14N-SSSCR/L09-16P SC. 0973 P19 | 16 [11.5| 160 | 36 15 12° T15 ST - ° : — e - >
S16N-SSSCR/L09-20P T | @22 20 |135]160 | 41 | 18 | 10° SOBK-STFBR/LO6-A12 TB..0601.. o125 |128] 21| 1|15 SC200460 T6
SC350960 - °
S20Q-SSSCR/L09-25P 26 | 25 16 | 180 51 23 8° S10K-STFBR/LOG ®13] 10 6 125 | 17 ° 3
S12M-STFBR/L06 D16 | 12 7 150 | 20 1 10°
S08K-STFCR/L09 D11 8 55 | 125 | 14 7 15°
S08K-STFCR/L09-A12 ®11| 12 | 55 [ 125 | 21 11 15° SC220556
S08K-STFCR/L09-A16 ®11| 16 55 125 | 21 15 15°
S10K-STFCR/L09 »13| 10 6 125 | 17 9 13°
S10K-STFCR/L09-A16 TC..0902.. D13 | 16 6 125 | 26 15 13° T6
S12M-STFCR/L09 P16 | 12 7 150 | 20 11 °
e SC220656
S12M-STFCR/L09-A16 D16 | 16 7 150 31 15 10°
S14N-STFCR/L09 d16 | 14 8 160 | 24 13 10°
S14N-STFCR/L09-A16 D16 | 16 8 160 | 36 15 10°
S10K-STFCR/L11 »12| 10 6 125 | 17 9 12°
S10K-STFCR/L11-A16 d12| 16 6 125 | 26 15 12°
SC220656
S12M-STFCR/L11 P14 | 12 7 150 | 20 1 10°
TC..1102..
S12M-STFCR/L11-A16 14| 16 7 150 | 31 15 10° 8
S14N-STFCR/L11 D16 | 14 8 160 | 24 13 10°
S14N-STFCR/L11-A16 ®16| 16 8 160 | 36 15 10°
- $C250744
S16N-STFCR/L11 @20 | 16 9 160 | 27 15 8
TC..1102.. -
S20Q-STFCR/L11 25| 20 1" 180 | 34 18 6
S20Q-STFCR/L16 ®25| 20 |11.5 (180 | 34 18 8°
S25R-STFCR/L16 d31| 25 14 | 200 | 43 23 6°
S32S-STFCR/L16 TC..16T3.. $39| 32 [17.5| 250 | 54 30 4° SC350960 T15
S40T-STFCR/L16 ®50| 40 |21.5( 300 | 68 37 2°
S50U-STFCR/L16 $60| 50 [26.5| 350 | 85 47 0
CO08K-STFCR/L09 D11 8 55 | 125 | 14 7 15° SC220556
C10M-STFCR/L09 TC..0902.. P13 | 10 6 150 | 17 9 13° T6
SC220656
C12Q-STFCR/L09 D16 | 12 7 180 | 20 11 10°
C10M-STFCR/L11 ®13| 10 6 150 | 17 9 12°
S SC250644
C12Q-STFCR/L11 D14 | 12 7 180 | 20 11 10
TC..1102.. T8
C16R-STFCR/L11 @20 | 16 9 200 | 27 15 8’
SC250744
C20S-STFCR/L11 25| 20 1" 250 | 34 18 6°
PO PO

C53 C54



PO
C55

YAPO mflE]] Internal Turning Holder

Zr Y EIE, Y ERN N T ST JJ U 2442 Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

I [EF EX
SHER
S Type Clamp

YAPO

Za U E I, PN N T 2T 142 4 2 4% Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

= 71 H insert R 5 specifications TV R BB 42 |nsert screw | F spanner
ﬂ = A o
CatNo O\ YWddf L i h oa
S08K-STFCR/L09-12P P11 | 12 7.5 | 125 21 11 15°
SC220556
S08K-STFCR/L09-16P D11 | 16 9 125 21 15 15°
S10K-STFCR/L09-12P D13 | 12 7 125 | 26 1 13°
TC..0902.. T6
S10K-STFCR/L09-16P P13 | 16 9 125 | 26 15 13°
SC220656
S12M-STFCR/L09-16P P14 | 16 9 150 31 15 10°
S14M-STFCR/L09-16P P16 | 16 9 150 36 15 10°
S10K-STFCR/L11-12P D12 | 12 7 125 | 26 11 12°
S10K-STFCR/L11-16P d12 | 16 9 125 | 26 15 12°
TC..1102.. 5C250644 T8
S12M-STFCR/L11-16P P14 | 16 9 150 31 15 10°
S14M-STFCR/L11-16P P16 | 16 9 150 36 15 10° SC250744
h
91°~ l
“\- & = - — [+ F = = )yq
fl / [
a°
4 11 L
h

Y, )RR T8 T TR M 1R Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

. = 71 F insert R T specifications TR BB EE ncertscrew ] ZF spanner
g! el &
)N o
Cat.No A T#& de f L K h a
S10K-STFPR/LO8 TP..0802.. |®13| 10 | 6 [125| 17 | 9 8° $C200582 T6
S08K-STFPR/L09 11| 8 5 |125| 14 | 7 | 10°
SC250544
S08K-STFPR/L09-A16 ®11| 16 | 5 |125 | 21 | 15 | 10°
TP..0902..
S10K-STFPR/L09 ®13| 10 | 6 |125| 17 | 9 8°
SC250644
S10K-STFPR/L09-A16 ®13| 16 | 6 |125| 26 | 15 | 8°
S10K-STFPR/L11 ®13| 10 | 6 |125| 17 | 9 | 12°
S10K-STFPR/L11-A16 ®13| 16 | 6 [125]| 26 | 15 | 12° T8
SC300660
S12M-STFPR/L11 ®16| 12 | 7 [150 | 20 | 11 | 10°
S12M-STFPR/L11-A16 TP.1103.. |®16| 16 | 7 | 150 | 31 | 15 | 10°
S14N-STFPR/L11 >18| 14 | 8 [160| 24 | 13 | 8°
S16N-STFPR/L11 ®20| 16 | 9 |160 | 27 | 15 | 8° SC300760
$20Q-STFPR/L11 ®24| 20 | 11 | 180 | 34 | 18 | 6°
$20Q-STFPR/L16 ®24| 20 [11.5[180 | 34 | 18 | 6°
TP..1603.. SC350960 T15
S25R-STFPR/L16 ®31| 25 | 14 [200| 43 | 23 | 4°
CO08K-STFPR/L09 11| 8 5 [125| 14 | 7 | 10° SC250544
TP..0902.. 3 8
C10M-STFPR/L09 ®13| 10 6 |[150 | 17 9 8 $C250644
C10M-STFPR/L11 ®13| 10 | 6 |150 | 17 | 9 | 12°
- SC300600
C12Q-STFPR/L11 ®16| 12 | 7 [180 | 20 | 11 | 10
TP..1103.. - T8
C16R-STFPR/L11 ®20| 16 | 9 |200| 27 | 15 | 8
5 SC300760
C20S-STFPR/L11 ®24| 20 | 11 | 250 | 34 | 18 | 6

] = ”H-Insert R T.I- Specifications ﬂﬂ'ﬂ*_“ Insert Screw ﬁ % Spanner
g! = A o
Cat.No A T& ch f L I h a
S08K-STFPR/L09-12P D11 | 12 7 125 | 21 1 10° SC250544
S08K-STFPR/L09-16P TP..0902.. | ®11| 16 9 125 | 21 15 10°
SC250644
S10K-STFPR/L09-12P D13 | 12 7 125 | 26 1M 8°
S10K-STFPR/L11-12P D13 | 12 7 125 | 26 1M 12° 8
S12M-STFPR/L11-16P P16 | 16 9 150 | 31 15 10° SC30660
S14N-STFPR/L11-16P TP..1103.. | P18 | 14 9 160 | 36 15 8°
S16N-STFPR/L11-20P ®20| 20 1 160 | 41 18 8° SC300760
S20Q-STFPR/L11-25P ®24 | 25 14 | 180 | 51 23 6°
h
oz N f—— ]
1/ |@ I
a- - I L L 7
h

Ry e, PR N T4 T J] 43 M 4% Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

ﬂ = T R insert R 5 specifications TNR MR nsertscrew /" spanner
=5
Cato 0\ Y¥EOdf L i h a
S08K-STUCR/L09 D11 8 5 125 | 14 7 10°
S08K-STUCR/L09-A16 P11 | 16 5 125 | 21 15 10° SC220556
S10K-STUCR/L09 TC..0902.. |13 | 10 6 125 | 17 9 8° T6
S10K-STUCR/L09-A16 D13 | 16 6 125 | 26 15 8°
S12M-STUCR/L09 D16 | 12 7 150 | 20 11 6° §€220656
S10K-STUCR/L11 D13 | 10 6 125 | 17 9 12°
S10K-STUCR/L11-A16 »13| 16 6 125 | 26 15 12°
SC250644
S12M-STUCR/L11 D16 | 12 7 150 | 20 11 10°
S12M-STUCR/L11-A16 d16| 16 7 150 | 31 15 10°
S14N-STUCR/L11 TC..1102.. |d16 | 14 8 160 | 24 13 10° T8
S14N-STUCR/L11-A16 P16 | 16 8 160 | 36 15 10°
S16N-STUCR/L11 @20 16 | 9 |160 | 27 | 15 | &° SC250744
S20Q-STUCR/L11 d24 | 20 1 180 | 34 18 6°
S25R-STUCR/L11 ®31| 25 | 14 | 200 | 43 | 23 | 4°
S20Q-STUCR/L16 ®25( 20 |11.5| 180 | 34 18 8°
S25R-STUCR/L16 d31| 25 14 | 200 | 43 23 6°
S32S-STUCR/L16 TC..16T3.. |®39 | 32 |17.5| 250 | 54 30 4° SC350960 T15
S40T-STUCR/L16 d50 | 40 |21.5| 300 | 68 37 2°
S50U-STUCR/L16 P60 | 50 [26.5| 350 | 85 a7 0°

PO
C56



) [EF
YAPOWJIEH Internal Turning Holder yAPO SST)%L:E?%

L h_
il I
—h— VL CETETETECTS SIN DIETECTIC b
g W =) \ [l
= = = = — = = — ) © ° B
| a 93 I1
L
ac
L
h- : .
o e -
e, PR N T4 T )4 M 48 Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius
A YN, YN N A J3ff1 2 4% Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius o
B EIVIRIRS, DYRUR RSN T8 IR A2 g E g 9 g = 71 R insert R =t specifications TR UBE et screw " F spanner
= 7] ,'JI- Insert R T]' Specifications JJFI-MQ_* Insert Screw *ﬁ % Spanner g! = Bin o
1’ = , Cat.No I qu f L |1 h a
| o
Cat.No A Iz dd f L I h a
S08K-STUPR/L09-12P D11 | 12 7 | 125 I 21 11 10°
S08K-STUCR/L09-12P D11 | 12 7 125 | 21 11 10° SC220556 S08K-STUPR'.09-16P Gil| 16 9 | 125 | 21 15 10°
TC..0902.. T6 _—— TP..0902.7
S10K-STUCR/L09-12P P13 | 12 7 125 | 26 11 8° SC220656 S10K-STUPR/L09-12P P13 | 12 7 125 | 26 11 8°
SC250644
S10K-STUCR/L11-12P P13 | 12 7 [125| 26 | 11 | 12° SC250644 S10K-STUPR/L09-16P D13 | 16 9 [125]| 26 | 15 | 8° T8
S12N-STUCR/L11-16P D16 | 16 9 160 31 15 10° S10K-STUPR/L11-12P P13 | 12 7 125 | 26 11 12°
S14N-STUCR/L11-16P TC..1102.. | Dd16| 16 9 160 | 36 15 10° T8 S12M-STUPR/L11-16P TP..1103.. | ®16 | 16 9 150 31 15 10° SC300660
S16N-STUCR/L11-20P ®20| 20 11 160 | 41 18 8° $C250744 S14N-STUPR/L11-16P P16 | 16 9 160 | 36 15 10° SC300760
S20Q-STUCR/L11-25P d24 | 25 14 | 180 51 23 6°
h S = e [
— |
a: ~ L
‘ n
a’ _ L
h - - - = - - - =
E== = = -k = o = N Biser R specifications TR BE erscew W F spanner
=
4z . - p I A2 S 4R Cat.No = dd f L 1 h a
R YIEIE,  DIE RN T2 T JIRM R For radial cutting, the cutting amount should be less than or equal to the insert angle corner radius . I& 1
& o= 71 R insert R 5T specifications NNR YR 2 nsertscrew I/ F spanner S08K-STWCR/L09 o1 8 |55 |125] 14 | 7 | 12° $C220556
= o S08K-STWCR/L09-A16 »11 | 16 55 | 125 | 21 15 12°
Cat.No A dd f L I+ h a TC..0902.. T6
I& d S10K-STWCR/L09 ®14 | 10 8 125 | 17 9 10°
SC220656
S12M-STWCR/L09 D16 | 12 9 150 | 20 1 8°
S08K-STUPR/L09 D11 8 5 125 | 14 7 10°
SC250544 S10K-STWCR/L11 ®14 | 10 8 125 | 17 9 10°
S08K-STUPR/L09-A16 TP..0902.. | d11 | 16 5} 125 21 15 10 S10K-STWCR/L11-A16 14 | 16 8 125 | 26 15 10°
S10K-STUPR/L09 ®13| 10 6 125 | 17 9 8 SC250644 S12M-STWCR/L11 ®16]| 12 9 150 | 20 11 g°
S10K-STUPR/L11 ®13] 10 | 6 |125| 17 | 9 | 12° $12M-STWCR/L11-A16 ®16| 16 | 9 [150| 31 | 15 | 8°
S10K-STUPR/L11-A16 ®13| 16 | 6 [125] 26 | 15 | 12° SC300660 T8 S14N-STWCR/L11 ™9 | 14 | 10 | 160 | 24 | 13 | 8°
$12M-STUPR/L11 o16| 12 | 7 [150 | 20 | 11 | 10° S14N-STWCR/L11-A16 TC. 1102 T'p19] 16 | 10 [160 | 31 | 15 | 8° SC250744 T8
S14N-STUPR/L11 TP..1103.. | P16 | 14 8 160 | 24 13 10° S16N-STWCR/L11 d20 | 16 11 160 | 27 15 6°
S14N-STUPR/L11-A16 »16 | 16 8 160 | 36 15 10° S20Q-STWCR/L11 »25| 20 13 | 180 | 34 18 4°
S16N-STUPR/L11 ®20 | 16 9 160 | 27 15 8° SC300760 S25R-STWCR/L11 »31| 25 15 | 200 | 43 23 2°
$20Q-STUPR/L11 ®24 | 20 | 11 | 180 | 34 | 18 | &° S32S-STWCR/L11 ®39| 32 | 19 [250 | 54 | 30 [ O°
S$20Q-STUPR/L16 ®24 | 20 |11.5]|180 | 34 | 18 | &° S20Q-STWCR/L16 ®25| 20 (145|180 | 34 | 18 8°
TP..1603.. = SC350960 T15 5
S25R-STUPR/L16 ®31| 25 [14.5| 200 | 43 23 4 S25R-STWCR/L16 ®32 | 25 17 | 200 | 43 23 6
S32S-STWCR/L16 TC..16T3.. | ®39| 32 20 | 250 | 54 30 4° SC350960 T15
S40T-STWCR/L16 ®50 | 40 24 | 300 | 68 37 0°
S50U-STWCR/L16 ®60 | 50 29 350 85 47 0°
PO PO

C57 C58



PO
C61

YAPO mflE]] Internal Turning Holder

I [EF EX
M2 ER 2
S Type Clamp

g! = 7l J# Insert R T.l' Specifications J]H-H&_k Insert Screw % Spanner
= =/ o
Cat.No ‘@ I# qu f L Ih h a 'k
S16N-SVWBR/L11 25| 16 15 | 160 | 27 15 5°
S20Q-SVWBR/L11 VB..1103.. | ®29 | 20 18 | 180 | 34 18 5° SC250744 T8
S25R-SVWBR/L11 d34 | 25 21 | 200 | 43 23 5°
S25R-SVWBR/L16 ®38| 25 | 23 | 200 | 43 | 23 5°
VB..1604.. . SC350960 T15
S$32S-SVWBR/L16 D45 | 32 26 | 250 | 54 30 5
S16N-SVWCR/L11 P25 | 16 15 | 160 | 27 15 5°
$20Q- SVWCR/L11 VC..1103.. | ®29| 20 18 | 180 | 34 18 5° SC250744 T8
S25R- SVWCR/L11 d34 | 25 21 | 200 | 43 23 5°
S25R-SVWCR/L16 ®38( 25 | 23 | 200 | 43 | 23 5°
VC..1604.. . SC350960 T15
S32S-SVWCR/L16 D45 | 32 26 | 250 | 54 30 5
_h
[
E °= == 59 - - — --)d
I
a°

I, IEE RN F ST IIRMAFR Forradial cutting, the cutting amount should be less than or equal to the insert angle corner radius

ﬂ o= 71 K insert R 5T specifications TNR MR ncertscrew | F spanner
=
i o
Cat.No iIE CDd f L |1 h a
S08K-SWLCR/L04 ®10 8 5 125 | 14 7 13° SC250544
WC..0402.. = T8
S10K-SWLCR/L04 ®13| 10 6.5 | 125 17 9 10 SC250644
S12M-SWLCR/L06 P16 | 12 7.5 | 150 | 20 1 13°
S14N-SWLCR/L06 d18 | 14 85 | 160 | 24 13 12° SC350860
S16N-SWLCR/L06 WC..06T3.. | 20| 16 9.5 | 160 | 27 15 10° T15
S20Q-SWLCR/L06 ®25| 20 |11.5| 180 | 34 18 8°
- SC350960
S25R-SWLCR/L06 P31 | 25 14 | 200 | 43 23 6

ﬂ = 71 R insert R 5 specifications TVR BB nsertscrew | F spanner
=
=/ m
Cat.No I ch f L Ik h a-
S05H-SWUBR/L06-A08 D6 8 311100 |13.5 7 12°
S05H-SWUBR/L06-A12 D6 12 3.1 | 100 [13.5 11 12°
WBGT060104L-W11 SC200460 T6
S06H-SWUBR/L06-A12 b7 12 3.6 | 100 16 11 15°
S07H-SWUBR/L06-A12 D8 12 4.0 | 100 | 18 1 15°

ﬂ = 7] ,'JI- Insert R T.I- Specifications ”Hﬁﬁlnsert Screw ﬁ $ Spanner
e LEDPd f L b h a Dy, &€
S10K-SVXBR/L11-G6 14| 10 |75 125 17 | 9 | 10°
S12M-SVXBR/L11-G6 ®16 | 12 | 85 | 150 | 20 | 11 | 12° SC250644
S14N-SVXBR/L11-G6 | VB..1103.. |®18 | 14 | 9.5 | 160 | 24 | 13 | 10° T8
S16N-SVXBR/L11-G6 ®22 | 16 | 11 | 160 | 27 | 15 1o: SC250744
$20Q-SVXBR/L11-G6 ®27 | 20 |[13.5|180 | 34 | 18 | 8
S16N-SVXBR/L16-G6 ®22 | 16 [11.5]160 | 27 | 15 | 12°
$20Q-SVXBR/L16-G6 ®27 | 20 (135|180 | 34 | 18 | 10°
S25R-SVXBR/L16-G6 ®32| 25 | 16 | 200 | 43 | 23 | g§°
VB..1604.. - SC350960 T15
$32S-SVXBR/L16-G6 ®40 | 32 [19.5| 250 | 54 | 30 | 10
S40T-SVXBR/L16-G6 ®50 | 40 [23.5[300| 68 | 37 | 8°
S50U-SVXBR/L16-G6 @60 | 50 [28.5|350 | 85 | 47 | 6°
S10K-SVXCR/L11-G6 ®14| 10 |75 [125 | 17 | 9 | 12°
S12M-SVXCR/L11-G6 ®16 | 12 | 85 | 150 | 20 | 11 | 10° SC250644
S14N-SVXCR/L11-G6 | VC..1103.. |®18 | 14 [ 9.5 | 160 | 24 | 13 | 10° T8
S16N-SVXCR/L11-G6 ®22| 16 | 11 | 160 | 27 | 15 | 8° 5C250744
$20Q-SVXCR/L11-G6 ®27 | 20 (135|180 | 34 | 18 | 6°
S16N-SVXCR/L16-G6 ®22| 16 [11.5|160 | 27 | 15 | 10°
$20Q-SVXCR/L16-G6 ®27| 20 (135|180 | 34 | 18 | &
S2OR-SVXCRILI6-C0 | \c. 160, [ 2321 25 | 16 | 200} 43 | 29 6: $C350960 T15
$32S-SVXCR/L16-G6 ®40| 32 [19.5 (250 | 54 | 30 | 8
S40T-SVXCR/L16-G6 ®50| 40 [23.5|300 | 68 | 37 | 6
S50U-SVXCR/L16-G6 ®60 | 50 [28.5|350 | 85 | 47 | 4°

PO
C62



) [EF
YAPOWJIEH Internal Turning Holder yAPO SST)%L:E?%

/
a‘ﬁ-@l\ }I h‘ )
\&/ \ a1 .l H‘
11 N F
L 11
0° L
r /
\
) p—
\ R A —
B
s]" Specifications 4% Spanner 4 w R o JIs 42 Sl 4
g! % 7 R insert R s TR B2 nsert screw | Fo Fm I, D) E RN T AT IR A AR When radial cutting, the cutting amount should not be too large
= o . .
Cat.No nllélllqu b f L Ik h a y = 7] ,'JI- Insert R T.I- Specifications ”ﬁ!ﬁ*—e Insert Screw ﬁ $ Spanner
i = b2y o
S08M-SCLCR/L06-S20 ®10| 8 | 20| 5 |150 | 25 | 20 | 13° SC250544 Cat.No T# ddb f L i h a
$10M-SCLCR/L06-S20 ®13| 10 | 20 | 6 [150| 31 | 20 | 12°
CCMT06204 T8 s
$12M-SCLCR/L06-S20 ®16| 12 | 20 | 7 [150 | 37 | 20 | 10° SC250644 S08M-STFCR09-S20 ®11]| 8 | 20 | 54 | 150 | 25 | 20 | 15 SC220556
S12P-SCLCR/L06-520 ®16| 12 | 20 | 7 [170| 37 | 20 | 10° $10M-STFCR09-520 1C090204 ®13] 10 | 20 | 6 31 ] 20 | 1% 6
S16P-SCLCR/L09-S20 20| 16 | 20 [ 9.5 | 170 | 49 | 20 | 10° S12P-STFCR09-520 P16) 12 | 20 | 7 | 170 | 37 | 20 | 10° $C220656
CCMT09T308 SC350960 T15 5
$16Q-SCLCR/L09-S20 ®20| 16 | 20 | 9.5 [180 | 49 | 20 | 10° $12M-STFCR/L09-520 16| 12 | 20 | 7 |150| 37 | 20 | 10
S08M-SCLCR/L06-S25 ®10| 8 | 25| 5 |150 | 25 | 25 | 13° SC250544 S12M-STFCR/L11-S20 ®14) 12 | 20 | 7 [150 | 37 | 20 | 10° SC250644
S10M-SCLCR/L06-S25 ®13| 10 | 25 | 6 |[150| 31 | 25 | 12° $12P-STFCR11-820 TG110204 ®14] 12 | 20 | 7 170 ] 37 | 20 | 10° T8
S10N-SCLCR/L06-S25 13| 10 | 25 | 6 [160| 31 | 25 | 12° $16Q-STFCR11-520 ®20| 16 | 20 | 9 180 | 49 | 20 | &
CCMT060204 SC250644 T8 S §C250744
S12N-SCLCR/L06-S25 P16 | 12 | 25 7 | 160 | 37 25 10° S16P-STFCR/L11-S20 ®20| 16 | 20 9 |[170 | 49 20 8
S12P-SCLCR/L06-S25 »16 | 12 25 7 170 37 25 10° S08M-STFCR09-S25 D11 8 25 5.4 | 150 25 25 15° SC220556
S20R-SCLCR/L06-S25 ®25| 20 | 25 [11.5|200| 61 | 25 | 8° SC250744 S10M-STFCR09-525 ®13] 10 | 25 | 6 150 | 31 | 25 | 13°
S16Q-SCLOR/L09-S25 ©20] 16 | 25 | 95 | 180 | 29 | 25 | 10° SC350860 S10N-STFCR/L09-S25 TC090204 ®13| 10 | 25 | 6 [160| 31 | 25 | 13° T6
CCMT09T308 . T15 . - $C220656
$20Q-SCLCR/L09-S25 ®25| 20 | 25 |11.5|200| 61 | 25 | &° SC350960 S12N-STFCR/L09-S25 ®16| 12 S5 | 7 [160] 37 | 25 | 10
S12P-STFCR/L09-S25 ®16| 12 | 25 | 7 [170| 37 | 25 | 10°
$16Q-STFCR11-S25 ®20| 16 | 25 | 9 [180 | 41 | 25 | 8°
TC110204 SC250744 T8
a S20R-STFCR11-S25 ®25| 20 | 25 | 11 [200] 61 | 25 | &°
AN
& 5 h
11
—
L {% I ﬁ Memorandum
= —|
b‘
AU EIE YIRS N TS T IR AR When radial cutting, the cutting amount should not be too large
ﬂ = 71 R insert R =T specifications TV MR E2 ncert screw | F spanner
=
&/ o
cato Bddb f L It h a
S10M-SDUCR07-S20 ®15| 10 | 20 | 8 [150| 31 | 20 | 10°
S12M-SDUCR/L07-S20 P17 | 12 20 9 150 | 37 20 8° SC250644
S12P-SDUCR07-520 P17 12 | 20| 9 [170| 37 | 20 | &°
S16P-SDUCR/L07-S20 ®22| 16 | 20 | 11 [170 | 49 | 20 | &°
SC250744
$16Q-SDUCR07-S20 ®22| 16 | 20 | 11 |180 | 49 | 20 | 6°
DCMT070204 T8
S10M-SDUCR07-S25 ®15| 10 | 25 | 8 |[150| 31 | 25 | 10°
S10N-SDUCR/L07-S25 ®15| 10 | 25 | 8 |[160| 31 | 25 | 10°
SC250644
S12N-SDUCR/L07-S25 P17 | 12 | 25 | 9 |160 | 37 | 25 | &°
S12P-SDUCR07-S25 ®17| 12 | 25 | 9 |170| 37 | 25 | 8°
$16Q-SDUCRO07-S25 ®22| 16 | 25 | 11 |180 | 49 | 25 | 6° SC250744
S20R-SDUCR11-S25 DC11T308 @25 20 | 25 | 13 |200| 61 | 25 | 6° SC350960 T18
PO PO

C63 C64



YAPO mflE]] Internal Turning Holder

YAPO

I [EF EX
SHER
S Type Clamp

Zr I EI I, TN N T2 142 /8 2 42 When radial cutting, the cutting amount should not be too large

n = 7] J# Insert R T.I- Specifications J],#Rﬁ Insert Screw ﬁ $ Spanner
B s .
nn o
Cato O\ Wodf Lk ohoa
S08K-STWCR/L09-12P D11 12 9 125 21 1 12° SC220556
TC..0902.. T6
S10K-STWCR/L09-12P D14 | 12 125 | 26 1 10° SC220656
S10K-STWCR/L11-12P D14 | 12 9 125 | 26 11 10°
S12N-STWCR/L11-16P P16 | 16 11 160 31 15 8°
TC..1102.. SC250744 T8
S14N-STWCR/L11-16P Dd19| 16 11 160 36 15 8°
S16N-STWCR/L11-20P @20 | 20 13 160 41 18 6°
[
—— Ao\ = = — )
| 175>/ |
_
ER -
0° % )
g = 71 R insert R =t specifications TR BB 42 \nsert screw | F spanner
& o
Cat.No @ Iz CDd f L I h a
S12M-SVQBR/L11 D17 | 12 10 150 20 1 107
S14N-SVQBR/L11 20| 14 11 160 24 13 100
VB..1103.. SC250744 T8
S16N-SVQBR/L11 ®22| 16 | 11.5| 160 27 15 ']()°
S20Q-SVQBR/L11 ®27| 20 14 180 34 18 8°
S20Q-SVQBR/L16 27| 20 14 180 34 18 10°
S25R-SVQBR/L16 ®32| 25 |[16.5| 200 | 43 23 8°
S$32S-SVQBR/L16 VB..1604.. | ®41| 32 [22.5| 250 | 54 30 10° SC350960 T15
S40T-SVQBR/L16 d50| 40 27 | 300 | 68 37 8°
S50U-SVQBR/L16 ®61| 50 32 | 350 | 85 47 6°
S16N-SVQCR/L11 ®22| 16 [11.5]| 160 27 15 8°
VC..1103.. SC250744 T8
S20Q-SVQCR/L11 P27 | 20 14 180 34 18 6°
S20Q-SVQCR/L16 ®27| 20 14 180 18 8’
S25R-SVQCR/L16 ®32| 25 |16.5| 200 | 43 23 6°
S$32S-SVQCR/L16 VC..1604.. | d41| 32 [22.5| 250 | 54 30 8° SC350960 T15
S40T-SVQCR/L16 ®50| 40 27 | 300 | 68 37 6°
S50U-SVQCR/L16 ®61| 50 32 | 350 | 85 47 4°

PO
C59

S 71 R insert R 5 specifications TR BB nsertscrew | F spanner
g! el &/ im o
cCatNo <> *PDd f L It h a
S16N-SVUBR/L11 ®22| 16 [11.5| 160 | 27 15 10’
VB..1103.. = SC250744 T8
S20Q-SVUBR/L11 D27 | 20 14 | 180 | 34 18 8
S20Q-SVUBR/L16 ®31| 20 19 | 180 | 34 18 8’
S25R-SVUBR/L16 D35 | 25 20 | 200 | 43 23 6°
S$32S-SVUBR/L16 VB..1604.. | ®42 | 32 [22.5| 250 | 54 30 8’ SC350960 T15
S40T-SVUBR/L16 ®51 | 40 27 | 300 | 68 37 8°
S50U-SVUBR/L16 ®60 | 50 32 | 350 | 85 47 4°
S12M-SVUCR/L08 VC..0802.. | P16 | 12 11 150 | 20 11 8° SC220556 T6
S16N-SVUCR/L11 ®22| 16 [11.5| 160 | 27 15 10
S20Q-SVUCR/L11 VC..1103.. | ®27 | 20 14 | 180 | 34 18 8° SC250744 T8
S25R-SVUCR/L11 ®32| 25 17 | 200 | 43 23 4°
S20Q-SVUCR/L16 ®31| 20 19 | 180 | 34 18 8’
S25R-SVUCR/L16 D35 | 25 20 | 200 | 43 23 6°
S32S-SVUCR/L16 VC..1604.. | d42 | 32 |22.5| 250 | 54 30 8° SC350960 T15
S40T-SVUCR/L16 ®51| 40 27 | 300 | 68 37 6°
S50U-SVUCR/L16 ®60 | 50 32 | 350 | 85 47 4°
h
[
- — - - — - — - .| d
) fl 93
a - 11
L
h
0°1
B EIE, YIEE RS T 2T J)2ff 212 When radial cutting, the cutting amount should not be too large
g! = 7] H- Insert R T]' Specifications JJ,'JI-E*Q_é Insert Screw ﬁ % Spanner
=
=/ o
Cat.No & dd f L I h a
S16N-SVZBR/L11 ®22| 16 [11.5| 160 | 27 15 107
VB..1103.. . SC250744 T8
S20Q-SVZBR/L11 d27| 20 14 | 180 | 34 18 8
S25R-SVZBR/L16 ®34 | 25 [19.5| 200 43 23 8°
S32S-SVZBR/L16 d42 | 32 [23.5| 250 | 54 30 8°
VB..1604.. - SC350960 T15
S40T-SVZBR/L16 d50 | 40 27 | 300 | 68 37 8
S50U-SVZBR/L16 ®60 | 50 [31.5| 350 85 47 4°
S16N-SVZCR/L11 ®22| 16 [11.5| 160 | 27 15 10
VC..1103.. - SC250744 T8
S20Q-SVZCR/L11 P27 | 20 14 [ 180 | 34 18 8
S25R-SVZCR/L16 d34 | 25 [19.5| 200 | 43 23 6°
S32S-SVZCR/L16 d42 | 32 [23.5| 250 | 54 30 8°
VC..1604.. - SC350960 T15
S40T-SVZCR/L16 d50 | 40 27 | 300 | 68 37 8
S50U-SVZCR/L16 ®60 | 50 [31.5| 350 85 47 4°

C60



PO
C66

YAPO ﬁ!]gﬂ Threading Turning Holder

i Hll-

YAPO

PR EET)

\

0020Q22 24| 20 | 15.6] 180 | 34 | 18 SC400960
SIR/L 0025R22 22IRIL. |29 | 25 [18.1 | 200 | 43 | 23 YI22R) T15
M SC401560 SA3007
0032522 38 | 32 [ 21.6] 250 | 54 | 30
0040T22 46| 40 | 25.6| 300 | 68 | 37
22IRIL.. }”Ezzzé?ﬁ) $C401560 T15
0050022 ©56 | 50 | 30.6|350 | 85 | 47
0032527 40| 32 |22.6]250 | 54 | 30
0040727 27IRIL. | 48| 40 | 26.6] 300 | 68 | 37 J'E2277(('f_)) SC501860 720,15
0050027 58| 50 | 31.6|350 | 85 | 47
SIRIL SA3007
0032522U 38| 32 |24.4|250 | 54 | 30 YI220(R)
22UIRIL.. VEP2UIL SC401560 T15
0040T22U ®46| 40 |28.1]300 | 68 | 37 L)
0032527U 40| 32 | 226250 | 54 | 30
0040T27U 27UIRIL.. | ®48| 40 |26.6| 300 | 68 | 37 J127U(R) SC501860 T20,T15
- : YE27U(L) :
0050U27U 58| 50 |31.6]350 | 85 | 47
—h =
NN &
| == 1/ -
D )
/I
., 11—
a L

SIR/L

0007K08-12P ®10 125 [18.5
08IRIL.. SC220656 T6
0008K08-12P ®10| 12 | 8.4 | 125 | 21 | 11
0008K11-12P ®11| 12 | 8.6 125 | 21 | 11
SC250644
0008K11-16P ®11| 16 |10.6 [ 125 | 21 | 15
0010K11-12P MIR/L.. |®12| 12 | 7.4 |125| 26 | 11 T8
0010K11-16P ®12| 16 |11.7 | 125 | 26 | 15 $C250744
0012M11-16P ®15| 16 |11.7 150 | 31 | 15

1616H16 16 | 16 | 16 100
2020K16 20 | 20 | 20 | 25 | 125 | 100
16ERIL.. YE16(R) cY16 CL0515 T15
2525M16 25 | 25 | 25 | 32 | 150 | 120 YI16(L)
3232P16 32 | 32 | 32 | 40 | 170 | 135
CERIL 2525M22 25 | 25 | 25 | 32 | 150 | 120 SA3007
525 5| 25 | 25 5
22ERIL.. YE22(R) cY22 CLO0515 T15
3232P22 32 | 32 | 32 | 40 | 170 | 135 Y122(L)
2525M27 25 | 25 | 25 | 32 | 150 | 120
27ERIL.. \ﬁzz;(f) cya7 CL0622 T15
3232P27 32 | 32 | 32 | 40 | 170 | 135 L)
- h-
— W
' el
g\ il
][, [ — |
- .
2 ’
5 S
: ;
SER-U
/b
I#
0005K06-A12 125 [ 13.5 SC200460
0BIRI/L..
0006K06-A12 ®7.5| 12 | 4.8 [ 125 | 16 | 11 SC200560
0007K08 ®10| 8 | 53|125| 12 | 7 T
0007K08-A16 ®10| 16 | 5.3 | 125 [18.5| 15
08IRIL.. $C220656
0008K08 11| 8 |66 |125| 14 | 7
0008K08-A16 ®15| 16 | 5.8 [ 125 | 21 | 15
0008K11 ®11| 8 | 57 |125| 14 | 7 SC250644
0010K11 ®12| 10 | 7.4 | 125 | 17 | 9
0010K11-A16 1MIRIL.. |®12| 16 | 7.4 [ 125 | 26 | 15 T8
SC250744
0012K11 ®15| 12 | 8.4 | 125 | 25 | 15
SIR/L | 0012K11-A16 ®15| 16 | 8.4 [ 125 | 31 | 15
0013M16 ®16| 16 [10.2| 150 | 22 | 15
0013M16-A16 ®16| 16 | 10 | 150 |33.5| 15
0016M16 ®19| 16 [11.7]150 | 27 | 15 SC350960
0020Q16 ®24| 20 |13.7| 180 | 34 | 18 | YI16(R) YE16(L) SA3007
0020Q16-W ®24 | 20 [13.7] 180 | 34 | 18
16IR/L.. T15
0025R16 ®29| 25 [16.2] 200 | 43 | 23 | YI6(R) YE16(L) SA3007
0025R16-W ®29| 25 [16.2] 200 | 43 | 23
0032816 ®36| 32 [19.7]| 250 | 54 | 30 SC351260
YI16(R)
0040T16 ®44 | 40 [23.7| 300 | 68 | 37 YE18(L) SA3007
0050U16 ®54 | 50 [28.7] 350 | 85 | 47

7

PO
C67



PO
C68

YAPO ﬁ_ZEn Threading Turning Holder

SIR/L-S

N

-

fr B R )45

Modular groove tool combination diagram

MTR/L -- MIR/L ---G

0007M08-S20 15°
081RA60 SC220656 T6
0008M08-S20 D1 8 20 5.8 150 25 20 15°
0010M11-S20 D12 10 20 7.4 150 31 20 15°
111RA60 SC250744 T8
0012P11-S20 D15 12 20 8.4 170 37 20 15°
0013P16-S20 D16 13 20 10.2 170 40 20 15°
16IRAG60 SC350960 T15
0016Q16-S20 D19 16 20 1.7 180 49 20 15°
SIR/L 0007M08-S25 ®10 7 25 5.3 150 22 25 15°
08IRA60 SC220656 T6
0008M08-S25 D1 8 25 5.8 150 25 25 15°
0010M11-S25 Dd12 10 25 7.4 150 31 25 15°
11IRA60 SC250744 T8
0012M11-S25 D15 12 25 8.4 150 37 25 15°
0016Q16-S25 D19 16 25 1.7 180 49 25 15°
16IRAG60 SC350960
0020R16-S25 24 20 25 13.7 200 61 25 15° T15
0020R22-S25 22IRN60 24 20 25 15.6 200 61 25 15° SC401560
..... — e
| |l
he)
S&2 ) 1
150 A

T R insert
%5w

1.5°

ﬁll\,’u H..nn aa

CIR/L

SA3007

0020Q16 P25 13.7 | 180 21°
0025R16 ®32 | 25 |16.2 | 200 | 43 | 23 | 21°
— YE16(R)
0032516 16IR/L.. | 40| 32 |19.7] 250 | 54 | 30 | 15 YI6(L) CY16 CL0518
0040716 50 | 40 |23.7[300| 68 | 37 | 15°
0050U16 ®60| 50 [28.7|350| 85 | 47 | 15°
0020Q22 25| 20 |15.6 180 | 34 | 18 | 15°
0025R22 ®32| 25 [18.1] 200 | 43 | 23 | 21
YE22(R)
0032522 22IR/L.. |®40| 32 (216|250 | 54 | 30 | 15° vi2a(L) cY22 CL0520
0040722 @50 | 40 |25.6|300| 68 | 37 | 15°
0050U22 @60 | 50 |30.6(350 | 85 | 47 | 15°
0032527 40| 32 |22.6|250| 54 | 30 | 21°
YE27(R)
0040727 27IR/L.. |50 | 40 |26.6| 300 | 68 | 37 | 15° vi27(L) cva7 CL0622
0050027 ®60 | 50 |31.6|350 | 85 | 47 | 15

T15

MTER/L

Can be matched with various types of insert

A AL A S T ] P % Al A S T

Can be matched with various types of insert

W HC & AR S T R

Can be matched with various types of insert

W HC AR S T R

Can be matched with various types of insert

AJ il & A RS T

Can be matched with various types of insert

A] {iL & A 25 T

Can be matched with various types of insert

] % A RS T R

Can be matched with various types of insert

A & A RS T

Can be matched with various types of insert

PO
C69



L1

Bl 0 ser
SER-U
(2 ser-v

- R Fspecifications
SOEN0n
10 12

1010H11 1MERI/L.. 10 10 100 80 SC250744 T8
1212H16 12 12 12 16 100 80 SC350756 T15
il
1616H16 16 16 16 20 100 80
x //E 2020K16 16ER/L.. | 20 | 20 | 20 | 25 | 125 | 100 YE16(R)
re Jik 2525M16 25 | 25 | 25 | 32 [ 150 | 120 YI6(L) SC351260 e
0 0 o 3232P16 32 32 32 40 170 | 135
Threading Turning Holder&Grooving Holder
2020K22 20 20 20 25 125 | 100
2525M22 22ERI/L.. 25 25 25 32 150 | 120 YY$22§EE)) SC401460 T15
3232P22 32 32 32 40 170 | 135
2020K27 20 20 20 25 125 | 100 SA3007
2020M27 20 | 20 | 20 | 25 | 150 | 120 YE27(R)
27ERI/L.. Y127(L) SC501660 T20
SER/L 2525M27 25 25 25 32 150 | 120
3232P27 32 32 32 40 170 | 135
2525M22U 25 | 25 | 25 | 25 | 150 | 120 YE22UR)
22UERI/L.. Y122U(L) SC401460 T15
3232P22U 32 32 32 32 170 | 135
2525M27U 25 | 25 | 25 | 25 | 150 | 120 YE27UR)
27UERI/L.. YI127U(L) SC501660 T20
3232P27U 32 32 32 32 170 | 135
2020K16V 20 20 20 25 125 | 100
2525M16V 16VER.. 25 25 25 32 150 | 120 SC350956 T15
3232P16V 32 32 32 40 170 | 135
2020K22V 20 20 20 25 125 | 100
2525M22V 22VER.. 25 25 25 32 150 | 120 SC400956 T15
3232P22V 32 32 32 40 170 | 135
a’ [ L
L1
Qo
| ;
)
15°

R Fspecifications N ipsenshin EERBRE oo 1 F s
e PR
80

1212H16G 12 | 12 | 12 [18.3] 100
SC350760
1414H16G 14 14 14 |20.3| 100 [ 80 YE16(R)
SER/L 16ERIL.. VI16(L SA300 T15
1616H16G 16 | 16 | 16 |21.7]| 100 | 80 L)
SC351260
2020K16G 20 | 20 | 20 |26.2] 125 | 100

7
C65



PO
C70

YAPO/’/E ]7 Grooving Holder

MTR2020 125 M6x16
MTR2525 25 25 35 130 M6x16
MTR3232 32 32 33 145 M6x16
b‘

| L

MTR2020-G 145 M6x16
MTR2525-G 25 25 34 130 M6x16
MTR3232-G 32 32 40 145 M6x16

=]
External Grooving Holder

BRI

picture shows R type

w|

L1

el 1) D) IR, D) AN R

When cutting axially, the cutting amount should be less than or equal to the insert corner radius

1616R/L10 16X16 125 100 16.3 2.5 10
M5*16 L4
1616R/L17 16X16 125 100 16.3 285 17
2020R/L10 20X20 125 100 20.3 2.5 10
QEED Z*ED #*x*x—%x M6+%20
2020R/L17 20X20 125 100 20.3 2.5 17 5
2525R/L10 25X25 150 120 25.3 2.5 10
M6%25
2525R/L17 25X25 150 120 25.3 2.5 17
1616R/L10 16X16 125 100 16.3 3 10
M5*16 L4
1616R/L17 16X16 125 100 16.3 3 17
2020R/L10 20X20 125 100 20.3 3 10
QEFD Z*FD #*xx—%x M6+*20
2020R/L17 20X20 125 100 20.3 3 17 L5
2525R/L10 25X25 150 120 25.3 3 10 M6+25
2525R/L17 25X25 150 120 25.3 3 17
2020R/L13 20X20 125 100 20.5 4 13
2020R/L22 20X20 125 100 20.5 4 22 M6+20
2525R/L13 25X25 150 120 25.5 4 13
QEGD Z+xGD *xxx—xx L5
2525R/L22 25X25 150 120 255 4 22
M6+25
3232R/L13 32X32 170 135 32.5 4 13
3232R/L22 32X32 170 135 32.5 4 22
2525R/L13 25X25 150 120 25.5 5 13
2525R/L22 25X25 150 120 25,5 5 22
QEHD ZxHD *xxx—xx M6+25 L5
3232R/L13 32X32 170 135 32.5 5 13
3232R/L22 32X32 170 135 32.5 5 22
2525R/L13 25X25 150 120 25.6 6 13
2525R/L22 25X25 150 120 25.6 6 22
QEKD ZxKD ##xr—xx M6+25 LS
3232R/L13 32X32 170 135 32.6 6 13
3232R/L22 32X32 170 135 32.6 6 22

PO
BE c71



]7 Grooving Holder

M/
1) 1 Al )
Cutting Grooving Holder
T o -
Iy ETE{ JJ Dmin  2max
Face Grooving Holder
F B
Fl77 R '
picture shows R type | H T
w L1
| L
a\ -
> S
Cutting diameter range
1616R/L03 16X16 100 16.4 3 M5+16 L4 v, B AS B ik Kk When radial cutting, the cutting amount should not be too large
2020R/L03 20X20 125 100 20.4 B 20
2525R/L03 25X25 150 120 25.4 3 20
M6+20 L5
3225R/L03 32X25 170 135 25.4 g 25
QzQ
1616R/L04 16X16 100 80 16.4 4 16 M5+16 L4
*
2020R/L04 20X20 125 100 20.4 4 20 ZQMX4NT1-1E 2525RR10-48H 25%25 150 120 48-66
- - 26 3 17 48-66
2525R/L04 25X25 150 120 25.4 4 20 M6+20 L5 2525R RIS 20X2Y o0 120
* - 12 -
3225R/L04 32X25 170 135 254 4 25 2525RR10-60H 25X25 150 0 26 3 10 60-80
2525RR17-60H 25X25 150 120 26 8 17 60-80
QFFD ZTFD0303-MG
2525RR10-74H 25X25 150 120 26 3 10 74-110
=] 2525RR17-74H 25X25 150 120 26 8 17 74-110
Internal Grooving Holder
2525RR10-100H 25X25 150 120 26 3 10 100-150
ﬁ \ \ F 2525RR17-100H 25X25 150 120 26 3 17 100-150
~ (L ) ¢‘d 2525RR13-52H 25x25 | 150 | 120 | 26 | 4 13 52-72
F ‘ T } } l 2525RR22-52H 25X25 150 120 26 4 22 52-72
W— - I 2525RR13-64H 25X25 150 120 26 4 13 64-100
PR gRA - L _ B
crure AR . 2525RR22-64H 25x25 | 150 | 120 | 26 | 4 22 64-100 JTODO40AMG
2525RR13-90H 25X25 150 120 26 4 13 90-140
2525RR22-90H 25X25 150 120 26 4 22 90-140
wha U E I, P E] AN B 3 K When cutting axially, the cutting amount should be less than or equal to the insert corner radius 2525RR13-130H 25X25 150 | 120 | 26 4 13 130-230 M6 %25 L5
2525RR22-130H 25X25 150 120 26 4 22 130-230
B FRFspecticions  BATIK nsert BiTscew 3 F e 2525RR13-58H | 25x25 | 160 | 120 | 26 | 5 | 13 | s
: 2525RR13-86H 25X25 150 120 26 5 13 86-140
C20Q-QEDR/L05-27 180 15.2 5 @ 27 M5+12 2525RR22-86H 25X25 150 120 26 5 22 86-140
C25R-QEDR/L07-33 2 200 | 4 203 | 25 7 233 ZTED »=eemss L4 aFHp ZTHDO504-MG
- : 5 5 . A TRED sern e 516 2525RR13-130H 25X25 | 150 | 120 | 26 | 5 13 130-200
C32S-QEDR/L09-42 32 250 58 25.3 2.5 9 @ 42 2525RR22-130H 25X25 150 120 26 5] 22 130-200
C20Q-QFDR/L05-27 20 180 40 15.2 3 5 2 27 M5#%12 2525RR13-185H 25X25 150 120 26 5 13 185-400
ZTFD *x%*x—%x%
C25R-QFDR/L07-33 25 200 45 20.3 3 7 @ 33 _ L4 2525RR22-185H 25X25 150 120 26 5] 22 185-400
ZRFD kK kK M5*16
C32S-QFDR/L09-42 32 250 58 25.3 3 9 @ 42 2525RR13-60H 25X25 150 120 26 6 13 60-100
C25R-QGDR/L08-35 25 200 45 21.5 4 8 2 35 2525RR22-60H 25X25 150 120 26 6 22 60-100
ZTGD ***%x—xx%
C32S-QGDR/L11-44 32 250 58 27.5 4 1 @ 44 P M5+16 L4 2525RR13-88H 25X25 150 120 26 6 13 88-180
ZRGD QFKD ZTKD0608-MG
C40T-QGDR/L13-54 40 300 72 33.5 4 13 2 54 2525RR22-88H 25X25 150 120 26 6 22 88-180
C25R-QHDR/L08-35 25 200 45 21.5 5 8 @ 35 2525RR13-160H 25X25 150 120 26 6 13 160-400
ZTHD -
C32S-QHDRI/L11-44 32 | 250 | s8 | 275 | 5 11 @ 44 SR s eeees M6+20 L5 2525RR22-160H 25x25 | 150 | 120 | 26 | 6 22 160-400
C40T-QHDR/L13-54 40 300 72 8.5 5 13 @ 54
C25R-QKDR/L08-35 25 200 45 21.5 6 8 @ 35
ZTKD sk x—x*
C32S-QKDR/L11-44 32 250 58 27.5 6 1 2 44 ZRKD * %%+ M6+ 20 L5
C40T-QKDR/L13-54 40 300 72 33.5 6 13 @ 54
PO 50

c72 C73



]7 Grooving Holder

ﬁﬂuﬁ ﬁ Fg IJ Dmin Dmax ﬁﬁJﬁ ﬁ Fg 7j Dmax

. Dmin
Face Grooving Holder Face Grooving Holder

TAEZEE QF°D"|-R°° THEZEE

Cutting diameter range Cutting diameter range

FrYIHIE, UIEEA TS K When radial cutting, the cutting amount should not be too large

R VI, PIEIEA B K when radial cutting, the cutting amount should not be too large

2525RL10-48H 25X25 150 120 48-66 2525LR10-48H 25X25 150 120 48-66
2525RL17-48H 25X25 150 120 26 3 17 48-66 2525LR17-48H 25X25 150 120 26 8 17 48-66
2525RL10-60H 25X25 150 120 26 3 10 60-80 2525LR10-60H 25X25 150 120 26 3 10 60-80
2525RL17-60H 25X25 150 120 26 3 17 60-80 2525LR17-60H 25X25 150 120 26 3 17 60-80

QFFD ZTFD0303-MG QFFD ZTFD0303-MG
2525RL10-74H 25X25 150 120 26 3 10 74-110 2525LR10-74H 25X25 150 120 26 3 10 74-110
2525RL17-74H 25X25 150 120 26 3 17 74-110 2525LR17-74H 25X25 150 120 26 3 17 74-110
2525RL10-100H 25X25 150 120 26 3 10 100-150 2525LR10-100H 25X25 150 120 26 3 10 100-150
2525RL17-100H 25X25 150 [ 120 26 3 17 100-150 2525LR17-100H 25X25 150 | 120 26 3 17 100-150
2525RL13-52H 25X25 150 120 26 4 13 52-72 2525LR13-52H 25X25 150 120 26 4 13 52-72
2525RL22-52H 25X25 150 120 26 4 22 52-72 2525LR22-52H 25X25 150 120 26 4 22 52-72
2525RL13-64H 25X25 150 120 26 4 13 64-100 2525LR13-64H 25X25 150 120 26 4 13 64-100
2525RL22-64H 25X25 150 120 26 4 22 64-100 2525LR22-64H 25X25 150 120 26 4 22 64-100

QFGD ZTGD0404-MG QFGD ZTGD0404-MG
2525RL13-90H 25X25 150 120 26 4 13 90-140 2525LR13-90H 25X25 150 120 26 4 13 90-140
2525RL22-90H 25X25 150 120 26 4 22 90-140 2525LR22-90H 25X25 150 120 26 4 22 90-140
2525RL13-130H 25X25 150 120 26 4 13 130-230 2525LR13-130H 25X25 150 120 26 4 13 130-230

M6 %25 L5 M6 *25 L5

2525RL22-130H 25X25 150 120 26 4 22 130-230 2525LR22-130H 25X25 150 120 26 4 22 130-230
2525RL13-58H 25X25 150 120 26 5 13 58-96 2525LR13-58H 25X25 150 120 26 5 13 58-96
2525RL22-58H 25X25 150 120 26 5 22 58-96 2525LR22-58H 25X25 150 120 26 5 22 58-96
2525RL13-86H 25X25 150 120 26 5 13 86-140 2525LR13-86H 25X25 150 120 26 5 13 86-140
2525RL22-86H 25X25 150 120 26 5 22 86-140 2525LR22-86H 25X25 150 120 26 5 22 86-140

QFHD ZTHDO0504-MG QFHD ZTHDO0504-MG
2525RL13-130H 25X25 150 120 26 5 13 130-200 2525LR13-130H 25X25 150 120 26 5 13 130-200
2525RL22-130H 25X25 150 | 120 26 5 22 130-200 2525LR22-130H 25X25 150 | 120 26 5] 22 130-200
2525RL13-185H 25X25 150 120 26 5 13 185-400 2525LR13-185H 25X25 150 120 26 5 13 185-400
2525RL22-185H 25X25 150 | 120 26 5] 22 185-400 2525LR22-185H 25X25 150 | 120 26 5] 22 185-400
2525RL13-60H 25X25 150 120 26 6 13 60-100 2525LR13-60H 25X25 150 120 26 6 13 60-100
2525RL22-60H 25X25 150 120 26 6 22 60-100 2525LR22-60H 25X25 150 120 26 6 22 60-100
2525RL13-88H 25X25 150 120 26 6 13 88-180 2525LR13-88H 25X25 150 120 26 6 13 88-180

QFKD ZTKD0608-MG QFKD ZTKD0608-MG
2525RL22-88H 25X25 150 120 26 6 22 88-180 2525LR22-88H 25X25 150 120 26 6 22 88-180
2525RL13-160H 25X25 150 120 26 6 13 160-400 2525LR13-160H 25X25 150 120 26 6 13 160-400
2525RL22-160H 25X25 150 120 26 6 22 160-400 2525LR22-160H 25X25 150 120 26 6 22 160-400

PO PO

C74 C75



]7 Grooving Holder

Sy 1411 A

Face Grooving Holder Dmin

Face Grooving Holder Dmin

Dmax E#Jﬁ E Fg IJ \ . Dmax
—

7R AREY

L1

] L THE&EEE

Cutting diameter range

TNHEEZEEHE

Cutting diameter range

wrYIEiE, PIEEAEE K when radial cutting, the cutting amount should not be too large wr e, PIHEAREE K when radial cutting, the cutting amount should not be too large

2525LL10-48H 25%25 150 120 48-66 2525R/L10-48L 25X25 150 130 48-66

2525LL17-48H 25%25 150 120 26 3 7 48-66 2525R/L17-48L 25X25 150 130 26 8 17 48-66

2525LL10-60H 25%25 150 120 26 3 10 60-80 2525R/L10-60L 25X25 150 130 26 3 10 60-80
2525R/L10-74L 25X25 150 130 26 3 10 74-110

2525LL17-74H 25%25 150 120 26 3 7 74-110 2525R/L17-74L 25X25 150 130 26 3 17 74-110

2525LL10-100H 25%25 150 120 26 3 0 100-150 2525R/L10-100L 25X25 150 130 26 3 10 100-150

2525LL17-100H 25%25 150 120 26 3 17 100-150 2525R/L17-100L 25X25 150 130 26 3 17 100-150

2525LL13-52H 25%25 150 120 26 4 3 52-72 2525R/L13-52L 25X25 150 130 26 4 13 52-72

2525L122-52H 25%25 150 120 26 4 22 5272 2525R/L22-52L 25X25 150 130 26 4 22 52-72

2525L1L13-64H 25%25 150 120 26 4 3 64-100 2525R/L13-64L 25X25 150 130 26 4 13 64-100

QFGD z:zztti:z:: z:ii: 1:2 122 z: : 122 Z;::Zg ZTGD0404-MG QFGD 2525R/L22-64L 25X25 150 130 26 4 22 64-100 ZTGD0404-MG

2525R/L13-90L 25X25 150 130 26 4 13 90-140

2525L1.22-90H 25%25 150 120 26 4 22 90-140 2525R/L22-90L 25X25 150 130 26 4 22 90-140

z:::t:::zz: z:ﬁz 1:2 :zz iz : 122 122:222 M6 25 L5 2525R/L13-130L 25x25 | 150 | 130 | 26 4 13 130-230 ME+25 s
2525R/L22-130L 25X25 150 130 26 4 22 130-230

2525LL13-58H 25%25 150 120 26 5 3 58-96 2525R/L13-58L 25X25 150 130 26 5 13 58-96

2525L122-58H 25%25 150 120 26 s 22 58-96 2525R/L22-58L 25X25 150 130 26 5 22 58-96

2525L113-86H 25%25 150 120 26 5 3 86-140 2525R/L13-86L 25X25 150 130 26 5 13 86-140
2525R/L13-130L 25X25 150 130 26 5 13 130-200

2525L1.22-130H 25%25 150 120 26 5 22 130-200 2525R/L22-130L 25X25 150 130 26 5 22 130-200

2525LL13-185H 25X25 150 120 26 5 3 185-400 2525R/L13-185L 25X25 150 130 26 5 13 185-400

2525L1.22-185H 25%25 150 120 26 5 22 185-400 2525R/L22-185L 25X25 150 130 26 5 22 185-400

2525LL13-60H 25X25 150 120 26 6 3 60-100 2525R/L13-60L 25X25 150 130 26 6 13 60-100

2525LL22-60H 25%25 150 20 26 6 22 60-100 2525R/L22-60L 25X25 150 130 26 6 22 60-100

QFKD z:;:t:z::: E:ZZ 122 :zz 22 z 122 ::::Zz ZTKD0608-MG QFKD 2525R/L13-88L 25X25 | 150 | 130 | 26 6 13 88-180 S TKDOBOBMG

2525R/L22-88L 25X25 150 130 26 6 22 88-180

2525LL13-160H 25X25 150 120 26 6 13 160-400 2525R/L13-160L 25X25 150 130 26 6 13 160-400

2525LL22-160H 25X25 o0 120 25 & 22 605100 2525R/L22-160L 25X25 150 130 26 6 22 160-400

PO DO

C76 c77



YAPO/’/E ]7 Grooving Holder

=
External Grooving Holder

| .
L
t A. |
| o b‘ e a o} - g olde L1
160 7 B ] X ’
) AR 3 L H ‘
When cutting axially, the cutting amount should be less than or equal to the insert corner radius
— T T T T T = | ] el |
I N N S 0 = O 2 ] y
1212-1.5 12.25 100 14.5 - | B —
1616-1.5 16 16 16.25 100 80 14.5 MGMN150-G -
2020-1.5 20 20 20.25 125 100 14.5 B DY D)E) A LR when cutting axially, the cutting amount should be less than or equal to the insert corner radius
2525-1.5 25 25 20.25 150 120 14.5
12122 2 | 12 | 1425 | 100 | 80 | 145 _—__
1616-2 16 16 16.25 100 80 14.5
1616-2-T08 16 16 16.25 100 80 8 MGMN200-G
2020-2 20 20 20.25 125 100 14.5 MGMN200-M 16162 125 100 MGMN200-G V516
2020-2-T08 20 20 20.25 125 100 8 MGMN200-[1[] M5«16 L4
25052 25 25 2525 150 120 145 MGEVR/L 1616-3 16 16 21.5 125 100 5 MGMN300-M M6x16 L5
2525-2-T08 25 25 25.25 150 120 8 2020-2 20 20 24 125 100 3.6 MGMN200-G M5+%16 L4
1212-2.5 12 12 14.3 100 80 16.5 2020-3 20 20 25.6 125 100 5 MGMN300-M
1616-2.5 16 16 16.3 100 | 80 16.5 2020-4 20 20 26 125 | 100 5.5 MGMN400-M Mex20 Lo
107525710 0 0 12 10 > L MGMN250-G MGEVR/L 2525-2 25 25 28 150 120 3.6 MGMN200-G M5+16 L4
2020-2.5 20 20 20.3 125 100 16.5 :
2020-2.5-T09 20 20 203 125 | 100 ) MGMN250-M 2525-3 25 25 29.5 150 120 5 MGMN300-M M6e20 s
2525-2.5 25 25 25.3 150 120 16.5 2525-4 25 25 30 150 120 5.5 MGMN400-M
2525-2.5-T09 25 25 25.3 150 120 9
1616-3 16 16 16.35 100 80 18.5 M6+16
1616-3-T10 16 16 16.35 100 80 10
2020-3 20 20 20.4 125 100 18 MGMN300-M M6+20
2020-3-T10 20 20 20.4 125 100 10 MGGN300-[J0m
2525-3 25 25 25.4 150 120 18 MRMN300-M g}
2525-3-T10 25 25 25.4 150 120 10 MGMR300-1[] M6+25 |mer|2\—a’l| ﬂéjﬂggomer
3232-3 32 32 32.4 170 135 18
3232-3-T10 32 32 32.4 170 | 135 10 - \ Vo
2020-4 20 20 20.4 125 100 18 ME+20 o | < < l) d
MGEHRIL 2020-4-T10 20 20 20.4 125 100 10 MGMN400-M f ‘ " Tﬁ
2525-4 25 25 25.4 150 120 18 MGGN400-000M wo - tl1
2525-4-T10 25 25 25.4 150 120 10 MRMN400-M ME+25 N — L @D
3232-4 32 32 32.4 170 | 135 18 MGMR400-000] e s ARA
3232-4-T10 32 32 32.4 170 135 10
2020-5 20 20 20.5 150 120 23 M G Iv R\ L
2020-5-T15 20 20 20.5 150 120 15 MGMN500-M M6+20 . - .
2525-5 25 25 25.5 150 120 23 MGGN500-[JIM L R L UL i R = SR I SV cutting axially, the cutting amount should be less than or equal to the insert corner radius
2525-5-T15 25 25 25.5 150 120 15 MRMN500-M
51 s | 25 [ 265 | 10 [rao] 15 o | s | -_—--
3232-5-T15 32 32 32.5 170 135 15
2020-6-T15 20 20 20.6 125 100 15 ) M6+20 2016-1.5 11.3 125 4 M3+10 L2.5
2525-6 25 25 25.6 150 120 23 MGMN600-M
MGGN600-C0M 2520-1.5 20 13.1 150 40 4 25 MGMN150-G
2525-6-T15 25 25 25.6 150 120 15 MRMNGOOM 29251 5 e ppos 200 " ’ ” M5*12 L4
3232-6 32 32 32.6 170 135 23 : .
3232-6-T15 32 32 32.6 170 135 15 2016-2 16 12.4 125 32 5 20 MGMN200-G M3+10 L2.5
2525-8 25 25 26.1 150 120 28 MGIVRIL 2520-2 20 14 150 40 5 25 MGMN200-M
2525-8-T15 25 25 26.1 150 | 120 15 MRMNEOOM P 5 PR R T = o MRMN200-M M5 +12 L4
3232°8 32 32 331 170 185 28 2016-2.5 16 12.5 125 32 6 20 M3*10 L2.5
3232-8-T15 32 32 33.1 170 135 16 M6+25 MGMN250-G
2525-6A 25 25 25.6 150 | 120 23 22 20 .|| ee 40 g 22 MGMN250-M M5 12 La
2525-6A-T15 25 25 25.6 150 120 15 2925-2.5 25 18.2 200 45 6 29
3232-6A 32 32 32.6 170 135 23 MRGNGO0-A
3232-6A-T15 32 32 32.6 170 135 15
2525-8A 25 25 26.1 150 120 28
PO 2525-8A-T15 25 25 26.1 150 120 16 MRGNBOO-A 77)
Cc78 3232-8A 32 32 33.1 170 135 28 c79
3232-8A-T15 32 32 33.1 170 135 15




YAPO/’/E ]7 Grooving Holder

ﬁ *g 7] Dmin Dmax

Face Groovmg Holder

2016-3 125 6
2520-3 20 15.6 150 40 6 25 MGMN300-M/G
3125-3 25 18.9 200 45 6 31 MEENS00-LILIM M G F H RL
- . MRMN300-M E— 4X,
3732-3 32 215 | 250 | 58 6 37 M5+16 L4 TNHEEER
Cutting diameter range
25204 20 15.6 150 40 5 25 MGMN400-M/G F I YIHEIE, PIEIE A E LK When radial cutting, the cutting amount should not be too large
MGIVRIL MRMN400-M -
GIVR/ 3732-4 32 21.5 250 58 6 37
3732-5 32 21.5 250 58 8 37 MGENS00-LILIM
. MRMN500-M 320-24/35-T10 20.6 | 125 100 24-35
5240-5 40 30 300 72 8 52 MGFHRL MFMN300
MGMN500-M/G M6%20 L5 320-29/40-T10 20 20 20.6 125 100 10 29-40
6250-5 50 35 350 90 8 62
320-34/50-T10 20 20 20.6 125 100 10 34-50
3125-6 25 19.4 200 45 8 31 MGMN600-M/G
MGGN600-JC0M 320-44/70-T10 20 20 20.6 125 100 10 44-70 MFMN300
3732-6 32 21.5 250 58 8 37 MRMN600-M
37328 32 234 250 o8 o 37 320-64/99-T10 20 20 20.6 125 100 10 64-99
- . MRMN800-M
420-112/200-T15 20 20 20.6 | 125 100 15 112-200
4540-8 40 27.2 300 72 10 45 MGMN800-M MGMN400-M
420-62/120-T15 20 20 20.6 125 100 15 62-120
3125-6A 25 19.4 200 45 8 31 M6+20 L5
MGIVR/L MRGNB600-A M6+20 L5 325-24/35-T10 25 25 256 | 150 120 10 24-35
3732-6A 32 21.5 250 58 8 37 MGFHRL
325-29/40-T10 25 25 25.6 150 120 10 29-40
3732-8A 32 23.4 250 58 10 37
MRGNB800-A 325-34/50-T10 25 25 25.6 150 120 10 34-50 MFMN300
4540-8A 40 27.2 300 72 10 45
325-44/70-T10 25 25 25.6 150 120 10 44-70
325-64/99-T10 25 25 25.6 150 120 10 64-99
T 425-62/120-T15 25 25 25.6 150 120 15 62-120
Uit [ 7 ) MGMN400-M
Face Grooving Holder Dmin Dmax 425-112/200-T15 25 25 25.6 150 120 16 112-200
by
Uity [H] % 7] — omin | Dmax
Face Grooving Holder | min
B
L |
\
i
P
TNHEEZEEE
Cutting diameter range

R UIHIE . VIHIE A B K When radial cutting, the cutting amount should not be too large

4x -
TAEEEE
- W Cutting diameter range
B Y EI S, PR B R When radial cutting, the cutting amount should not be too large

320-24/35-T10 206 | 125 | 100 24-35
320-29/40-T10 20 | 20 [206] 125 | 100 10 29-40 V616
N
320-34/50-T10 20 | 20 [206]| 125 | 100 10 34-50 MFMN300 320.24/35-T10 2061 125 | 100 24.35
B2 08 M0N0 2 || 29 |06 129 || 16 e a0 320-20/40-T10 20 | 20 [206| 125 | 100 10 29-40
320-64/99-T10 20 | 20 [20.6) 125 | 100 10 64-99 320-34/50-T10 20 | 20 [206]| 125 | 100 10 34-50 MFMN300
420-112/200-T15 20 20 [206] 125 | 100 15 112-200 MGMN400-M M6%20 320-44/70-T10 20 20 [206| 125 | 100 10 44-70
420-62/120-T15 20 | 20 [206] 125 | 100 15 62-120
MGFHRR L5 320-64/99-T10 20 | 20 [206] 125 | 100 10 64-99
325-24/35-T10 25 25 [25.6] 150 | 120 10 24-35 420-112/200-T15 20 20 [20.6| 125 | 100 15 112-200 GMNAOOM
325-29/40-T10 25 | 25 |256) 150 | 120 0 29-40 M6+16 420-62/120-T15 20 | 20 [206] 125 | 100 15 62-120
MGFHLR M6+20 L5
325-34/50-T10 25 | 25 [256( 150 | 120 10 34-50 MFMN300 32522135710 25 | 25 12561 150 | 120 0 2435
325-44/70-T10 25 | 25 |256] 150 | 120 10 44-70 325-29/40-T10 25 | 25 |256] 150 | 120 10 29-40
SO0 25 || 25 |[Z225] 18 || 120 0 B8 325-34/50-T10 25 | 25 [256| 150 | 120 10 34-50 MFMN300
425-62/120-T15 25 | 25 [256| 150 | 120 15 62-120 GMNAOOM M6%20 32544170710 25 | 25 | 2561 150 | 120 o 2470
425-112/200-T15 25 | 25 [256| 150 | 120 15 112-200 32564199710 2 | 25 2501 150 | 120 0 5199
425-62/120-T15 25 | 25 [256| 150 | 120 15 62-120
MGMN400-M
PO 425-112/200-T15 25 | 25 [256| 150 | 120 15 112-200 77

C80 c81



]7 Grooving Holder

Sy 14 4

Face Grooving Holder

Dmin Dmax

Uity [H] & T Dmax

Face Grooving Holder Dmin

J [
H ===
MGFHLL | FAEZEE ol | |0
Cutting diameter range
(e R7IREE PP RETR S R = BUN When radial cutting, the cutting amount should not be too large . 11
picture shows R type [E7R AR L

MGFIR\L THE&ZEH

---..------ CUtting diameter range
T DRI D)) R AN B R When radial cutting, the cutting amount should not be too large

320-24/35-T10 20.6 | 125 | 100 24-35
320294010 | 20 | 20 |206] 125 | 100 | 10 29-40  BERFseecticaons  EATIR insert BT screw I F sparner
320-44/70-T10 20 20 [20.6| 125 | 100 10 44-70
320-64/99-T10 20 20 |20.6| 125 | 100 10 64-99 320-2435-T10 9.37 180 24-35
420-112/200-T15 20 20 [20.6| 125 | 100 15 112-200 M6+%20 320-2940-T10 20 9.37 180 10 29-40
420-62/120-T15 20 20 |20.6| 125 | 100 15 62-120 MGMN400-M 320-3450-T10 20 9.37 180 10 34-50
MGFHLL L5 MGFIR/L MFMN300 M5 %12 L4
325-24/35-T10 25 25 |25.6| 150 | 120 10 24-35 325-2435-T10 25 12.37 200 10 24-35
325-29/40-T10 25 25 |256| 150 | 120 10 29-40 325-2940-T10 25 12.37 200 10 29-40
325-34/50-T10 25 25 |25.6| 150 | 120 10 34-50 MFMN300 M6+16 325-3450-T10 25 12.37 200 10 34-50
325-44/70-T10 25 25 |256| 150 | 120 10 44-70
325-64/99-T10 25 25 |25.6| 150 | 120 10 64-99
425-62/120-T15 25 25 |[25.6| 150 120 15 62-120 MGMN400-M M6%20 -
425-112/200-T15 25 25 [25.6| 150 | 120 15 112-200 b
Cutt‘FZJg lg*ijv?nggolder
Face Groovijﬁgger \ Dmin Dmax
H‘ / H‘
picture shows R type I/ AR

L1

S )
p—  BERtspedfications @EATDRnen
w L THEEEE —
Cutting diameter range
e F UTEIE DY A K When radial cutting, the cutting amount should not be too large

-IIIII----- . e
325RI/L 25 25 25.4 150 120 20
32024135710 125 | 100 2435 o 332RIL 32 32 32.4 170 135 25
320-29/40-T10 20 | 20 | 13 | 125 | 100 10 29-40 MFMN300 416RIL 16 16 | 164 | 100 80 16
320-34/50-T10 20 20 | 13 | 125 | 100 10 34-50 420RIL 20 20 204 125 100 20 SP400
420-44/60-T15 20 20 | 20 | 125 | 100 15 44-60 MGMN400-M 425R/L 25 25 254 150 120 20
MEFVRIL 325-24/35-T10 25 25 | 18 | 150 | 120 10 24-35 M6=20 L 432R/L 32 32 324 170 135 25
325-29/40-T10 25 25 | 18 | 150 | 120 10 29-40 MFMN300
325-34/50-T10 25 25 | 18 | 150 | 120 10 34-50
425-44/60-T15 25 25 | 25 | 150 | 120 15 44-60 MGMN400-M
PO PO

cs2 c83



PO
c84

YAPO/’/E ]7 Grooving Holder

i LA T @D

Internal Grooving Holder |

[

|
o) )

|
> |/
picture ?J:le?ltzy% f # L ¢d

I
SNGRIL Al DI, ODH R A R

When cutting axially, the cutting amount should be less than or equal to the insert corner radius

5.8 1.7 10

Is

08HO7 8 100 16 SC220560
7GR200
10K07 10 6.8 125 20 1.7 12 SC220660 6
10K08 10 7.6 125 20 2.2 14 8GR300
SNGR/L SC220760
12M08 12 8.6 150 24 2.2 16 8GR100
16Q09 16 11.5 180 32 3.2 20
9GR300 SC250960 T8
20R09 20 13.6 200 40 3.2 24
=]
Ab [5 18 T
External Grooving Holder
B
' i
 BERANRE
picture shows R type
Al i) D F I |-L1
KTGR\L L EN AToN

When cutting axially, the cutting amount should be less than or equal to the insert corner radius

SN
HnoBF L0 et G
16 16 21 100 80 2.3

1616H16
2020K16 20 20 25 125 100 2.5 TG32R200 SC350982 T15
2525M16 25 25 30 150 120 25
2020K22-15 20 20 25 125 100 4.0
TG43R/L 230
KTGR/L 2525M22-15 25 25 30 150 120 4.0
2020K22-25 20 20 25 125 100 4.5
TG43R/L 330 SC501282 T15
2525M22-25 25 25 30 150 120 4.5
2020K22-35 20 20 25 125 100 5.5
TG43R/L 450
2525M22-35 25 25 30 150 120 5.5

1616H16 16 16 100 20 2.5
2020K16 20 20 125 25 2.5
2525M16 25 25 150 30 2.5
2020K22-15 20 20 125 25
GTAR/L 2525M22-15 25 25 150 30 GYR B0620 SP-0612 L4
2020K22-25 20 20 125 25 4.5
2525M22-25 25 25 150 30 4.5
2020K22-35 20 20 125 25 5.5
2525M22-35 25 25 150 30 5.5
1616H16 16 16 100 20 2.5
2020K16 20 20 125 25 2.5 SC350760 L4.5,T15
2525M16 25 25 150 30 2.5
2020K22-15 20 20 125 25 4
GTBR/L 2525M22-15 25 25 150 30 4 GYR B0620 SP-0612
2020K22-25 20 20 125 25 4.5 SC501260 L4.5.T20
2525M22-25 25 25 150 30 4.5
2020K22-35 20 20 125 25 5.5
2525M22-35 25 25 150 30 5.5

HGTARR JI L FEAT I, 7T ) SEGTBRA F1 A #

PO
C85



YAPO/’/E ]7 Grooving Holder

2 GT-R/ILEH JI A

=]
External Grooving Holder

e - Refspecrcsions
F1| B9
|
T
= L
,_ﬁ_. @3 GT32r/LK050 0.50 1.0 R0.05
S
075 0.75
©
1\
T 095 0.95
< H 100 1.00 20 GTAR/L:+ -+
: GTBR/L-w -
JL-2° GTAR-L 125 1.25 9.525 RO.1 GTAR/L-- -
145 1.45 GTBR/L:++ -
©
R AL y 150 1.50
picture shows L type © eF 200 200
< 2.5
GT-R/L-L
e e > GTBR-L GT43R/LK125 1.25 RO.1
P e, UIEIEA B K When cutting axially, the cutting amount should be less than or equal to the insert corner radius 125 125 20

R0.2

-~ BERspecifications 145 145

150 1.50 RO.1
GTAR/L:-- -+ 22-15
150 1.50 GTBR/L: - 22-15
16 16

12.70

1616H16L 100 20 2.5 175 1.75 RO.2 GTAR/L:+ -
W GTBR/L-+++-22-15L
2020K16L 20 20 125 25 2.5 @) R 185 1.85 3.5
2525M16L 25 25 150 30 2.5 B 200 2.00 RO.1
2020K22-15L 20 20 125 27 4 200 2.00
RO.2
GTARI/L 2525M22-15L 25 25 150 32 4 GYL B0620 SP-0612 L4 T 230 2.30
2020K22-25L 20 20 125 27 4.5 GT43R/LK250 2.50 RO.1
2525M22-25L 25 25 150 32 4.5 250 2.50
2020K22-35L 20 20 125 27 5.5 265 2.65 R0.3 GTAR/L-++22-25
GTBR/L:-++-22-25
2525M22-35L 25 25 150 32 5.5
280 2.80 4.0 12.70 GTAR/Lows 22251
1616H16L 16 16 100 20 2.5 300 3.00 RO.1 GTBR/L:--++22-25L
2020K16L 20 20 125 25 2.5 SC350760 L4.5 T15 300 3.00
RO.3
2525M16L 25 25 150 30 2.5 330 3.30
2020K22-15L 20 20 125 27 4 GT43R/LK350 3.50 5.0 RO.1
GTBR/L 2525M22-15L 25 25 150 32 4 GYL B0620 SP-0612 350 3.50 4.0 RO.3
2020K22-25L 20 20 125 27 4.5 400 4.00 5.0 RO.1 GTARI/L-
SC501260 L4.5.T20 GTBRJ/L:--
2525M22-25L 25 25 150 32 4.5 400 4.00 4.0 12.70 GTAR/Lows -
2020K22-35L 20 20 125 27 5.5 430 4.30 GTBR/L-++-22-35L
RO.4
2525M22-35L 25 25 150 32 5.5 450 4.50 5.0
HGTARR ¥ % EAF I, Al T LGTBR AR #1I48 # 480 4.80
PO PO

c86 c87



YAPO/’/E ]7 Grooving Holder

A) 70 W
GT-R/ILEMH T A 12
Sy [¢)
W B © R g g 3%
150°
GT32r1LK050 0.50 1.0 R0.05
095 0.95 ,?\
100 1.00 20
. GTBR/L+ =
125 1.25 9.525 Ro.1 GTBR/Lo oo JB26-3 3 26 110 75 21.4 2.4 SP300,300R/L
145 1.45 JB26-4 4 26 110 80 21.4 3.2 SP400,400R/L
150 1.50 JB26-5 5 26 110 80 21.4 4.0 SP500,500R/L
200 2.00 )5 JB32-3 3 32 150 100 24.8 2.4 SP300,300R/L F15
250 2.00 ’ JB32-4 4 32 150 100 24.8 3.2 SP400,400R/L
GT43R/LK125 1.25 RO.1 JB32-5 5 32 150 125 24.8 4.0 SP500,500R/L
125 1.25 2.0 JB32-6 6 32 150 125 24.8 5.2 SP600,600R/L
RO.2
145 1.45
150 1.50 RO.1
150 1.50 12.70 GTBR/L++++22-15
175 1.75 : RO.2 GTBR/L-=-- 22-15L
185 1.85 3.5
@ 200 2.00 RO.1
= 200 2.00
RO.2
230 2.30
GT43R/LK250 2.50 RO.1
250 2.50
265 2.65 R0.3
GTBRI/L++22-25
280 2.80 4.0 12.70 GTBR/Low 22251
300 3.00 RO.1 L1
300 3.00
R0.3
330 3.30 \_ J
GT43R/LK350 3.50 5.0 RO.1
RN A R TRRTRRTI S
GTBRI/L*+-22-35
400 4.00 4.0 12.70
GTBR/L:++22-35L JZ20-26 26 21.4 20 9 43 4 86 21 38
430 4.30
RO.4 JZ25-26 26 21.4 25 5 45 4 110 23 42
450 4.50 5.0
JZ20-32 32 24.8 20 13 50 5.3 100 19 38 M6+ 30 L5
480 4.80
JZ25-32 32 24.8 25 8 50 5.3 110 23 42
JZ32-32 32 24.8 32 5 54 5.3 110 29 48
PO PO

css c89



YAPO/’/E ]7 Grooving Holder

IR AR - S I ff & & Memorandum

CNC Lather Reducer -Straight shank K /I/v-

- \A N N N

&7
|

- L
D20-6 20 6 50 60 D40-6 40 6 75 80
D20-8 20 8 50 60 D40-8 40 8 75 80
D20-10 20 10 50 60 D40-10 40 10 75 80
D20-12 20 12 50 60 D40-12 40 12 75 80
D20-16 20 16 50 60 D40-16 40 16 75 80
D25-6 2.5 6 50 60 D40-20 40 20 75 80
D25-8 25 8 50 60 D40-25 40 25 75 80
D25-10 2:5) 10 50 60 D40-32 40 32 75 80
D25-12 25 12 50 60 D50-6 50 6 85 90
D25-16 25 16 50 60 D50-8 50 8 85 90
D25-20 25 20 50 60 D50-10 50 10 85 90
D32-6 32 6 60 65 D50-12 50 12 85 90
D32-8 32 8 60 65 D50-16 50 16 85 90
D32-10 82 10 60 65 D50-20 50 20 85 90
D32-12 32 12 60 65 D50-25 50 25 85 90
D32-16 32 16 60 65 D50-32 50 32 85 90
D32-20 32 20 60 65 D50-40 50 40 85 90
D32-25 32 25 60 65
7 R PR 2 45 IR 3k
CNC Lather Reducer -Morse type x /\ ﬁ-‘ —
fl |
! |
|~ L )
D20-MTA1 20 1 50 65 D40-MTA1 40 1 75 | 80
D20-MTA2 20 2 50 5 D40-MTA2 40 2 3 80
D25-MTA1 25 1 50 65 D40-MTA3 40 3 75 95
D25-MTA2 25 2 50 75 D50-MTA1 50 1 85 90
D25-MTA3 25 3 50 95 D50-MTA2 50 2 85 | 90
D32-MTA1 32 1 60 65 D50-MTA3 50 3 85 90
D32-MTA2 32 2 60 75 D50-MTA4 50 4 85 120
D32-MTA3 32 3 60 95
PO 2

c90 c91






